
2023
TECHNICAL CATALOG 

®

®33 Sheboygan St.    |    Fond du Lac, WI • 54935 • USA    |   01.844.663.8787





©2019 ModTruss Inc. 

Project Manager & Graphics | Karlee Guay

TRUSS TR

GLOSSARY

AVAILABLE FINISHES

ACCESS

MOTION & RIGGING

PLATES

JOIST HANGERS

PIPE ADAPTERS

HINGES

TOOLS

MATERIAL HANDLING

HARDWARE

EXTRUSION EX

PL

JH

PA

HG

MR

AC

HW

TK

MH

FH

GL

TABLE OF
CONTENTS



ModTruss... Universal modular building components for all.

Compared to the likes of the modular toy set you had as a kid, the uses of ModTruss and its 
accessories are as boundless as your imagination.
 
Designed for long term re-use, the revolutionary ModTruss products allow ideas that once took 
custom one-off fabrication, to be created modularly with reusable “off the shelf” components. 
Modular by Design- Green in nature.	

We at ModTruss would like to thank you for your interest in our uniquely universal products. 
This catalog was designed to provide information about ModTruss products such as detailed 
engineering drawings, material composition and general tolerances to assist with your engineering 
needs. Additional useful product information includes load tables, weights, available finishes and a 
glossary of terms for a complete understanding of our products. 

ModTruss | Modular Building Components



ModTruss 6” Series

TR | TRUSS SERIES

ModTruss 12” Series

The ModTruss TR Series Profiles: 3” | 6” |12”
Standard Material: Steel & Aluminum

Available Lengths: 3” - 120”

EX | EXTRUSION ACCESSORIES

PL|Plates

JH|Joist
Hangers

HG|Hinges

MR|Sleeve
Blocks

AC|ModPanels

MR|Universal
Mounts

AC|HandrailsAS|Assembly

PA|Pipe
Adapters

AC|Stairs



EN
TE

R
TA

IN
M

EN
T



Truss is an integral part of the Entertainment industry and ModTruss’ 
innovative product line of universal building components is catapulting trussing to new heights.

ModTruss provides off-the-shelf solutions for theaters, film/television, convention booths, 
scenic applications, staging, set design, virtual reality, fitness, rigging and so much more. 

The versatility of ModTruss and its accessories allows designers to break free of traditional limitations.

ENTERTAINMENT





ModTruss is a solution based product ideal for the modern MRO and manufacturer.

From tail docks and access platforms, to engine stands and fall protection, ModTruss and its 
accessories can be designed and redesigned to work with any size airframe using the same components.

Component based structures break down for compact storage or transport.

No more single purpose structures - ModTruss’ infinite reconfigurability provides long term return on investment.

AEROSPACE



ModTruss’ line of universal building components offers modular solutions to industrial needs.

From warehouse, factories and foundries, to off-site rigs, camps and turbines, 
ModTruss offers the structural foundation for access, fall protection, rigging and more. 

INDUSTRIAL







TM

TR | 12” ALUMINUM TRUSS SERIES

TR

11



TR

14



U.S. Patent No. 8,418,425 & other patents pending

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible* Serialized & Traceable

TR

EX

PL

JH

PA

HG

MR

AC

HW

TK

MH

FH

GL

Standard Material 5052-H32 Aluminum
Standard Finish 01 - Brush

Available Finish(es) 01, 20-33
Hole Size 11/16" (17.46mm)

Recommended
Hardware

5/8”-11 Thread Grade 8 Bolt, 2-1/2” Long | 5/8” SAE Zinc-Plated Washer | 5/8”-11 Thread, Grade 8 Hex Nut 
(M16 x 2 Thread, 64mm Long, Class 10.9 Bolt | M16, Class 10.9 Washer | M16 x 2 Thread, Class 10.9 Nut)

Recommended Tools Tool Kit 1
For More Info www.ModTruss.com

Part # Size Weight
MT-TR-12-12-006-AL* 12” x 12” x 6” (304.80mm x 304.80mm x 152.40mm) 8.60lbs (3.90kg)

MT-TR-12-12-012-AL 12” x 12” x 12” (304.80mm x 304.80mm x 304.80mm) 13.00lbs (5.90kg)

MT-TR-12-12-024-AL 12” x 12” x 24” (304.80mm x 304.80mm x 609.60mm) 22.30lbs (10.12kg)

MT-TR-12-12-036-AL 12” x 12” x 36” (304.80mm x 304.80mm x 914.40mm) 31.55lbs (14.31kg)

MT-TR-12-12-048-AL 12” x 12” x 48” (304.80mm x 304.80mm x 1219.2mm) 40.95lbs (18.57kg)

MT-TR-12-12-060-AL 12” x 12” x 60” (304.80mm x 304.80mm x 1524.0mm) 49.85lbs (22.61kg)

MT-TR-12-12-072-AL 12” x 12” x 72” (304.80mm x 304.80mm x 1828.8mm) 59.15lbs (26.83kg)

MT-TR-12-12-084-AL 12” x 12” x 84” (304.80mm x 304.80mm x 2133.6mm) 68.05lbs (30.87kg)

MT-TR-12-12-096-AL 12” x 12” x 96” (304.80mm x 304.80mm x 2438.4mm) 75.35lbs (34.18kg)

MT-TR-12-12-108-AL 12” x 12” x 108” (304.80mm x 304.80mm x 2743.2mm) 87.00lbs (39.46kg)

MT-TR-12-12-120-AL 12” x 12” x 120” (304.80mm x 304.80mm x 3048.0mm) 95.50lbs (43.32kg)

Truss Series | 12” Aluminum

*MT-TR-12-12-006-AL is only compatible with standard Truss on 12” sides, not 6” sides



U.S. Patent No. 8,418,425 & other patents pending

TM

Series | TR Truss 12”

 
12

.0
0

30
4.

86
 

 
.6

9
17

.4
6

 

 
3.

00
76

.2
0

 

 
6.

75
17

1.
45

 
 

1.
50

38
.1

0
 

 
3.

00
76

.2
0

 

 
12

.0
0

30
4.

80
 

 
6.

75
17

1.
45

 

 
.2

5
6.

35
 

12
0.

00
[3

04
8.

00
]

10
8.

00
[2

74
3.

20
]

96
.0

0
[2

43
8.

40
]

84
.0

0
[2

1.
33

.6
0]

72
.0

0
[1

82
8.

80
]

60
.0

0
[1

52
4.

00
]

48
.0

0
[1

21
9.

20
]

36
.0

0
[9

14
.4

0]
24

.0
0

[6
09

.6
0]

6.
00

[1
52

.4
0]

12
.0

0
[3

04
.8

0]
M

T-
TR

-0
6-

12
-0

06
-A

L

M
T-

TR
-1

2-
12

-0
12

-A
L

M
T-

TR
-1

2-
12

-0
24

-A
L

M
T-

TR
-1

2-
12

-0
36

-A
L

M
T-

TR
-1

2-
12

-0
48

-A
L

M
T-

TR
-1

2-
12

-0
60

-A
L

M
T-

TR
-1

2-
12

-0
72

-A
L

M
T-

TR
-1

2-
12

-0
84

-A
L

M
T-

TR
-1

2-
12

-0
96

-A
L

M
T-

TR
-1

2-
12

-1
08

-A
L

M
T-

TR
-1

2-
12

-1
20

-A
L

 
12

.0
0

30
4.

80
 

 
6.

00
15

2.
40

 

 
3.

00
76

.2
0

 

DE
SC

RI
PT

IO
N:

RE
VI

SIO
N:

 V
1

PA
RT

 N
UM

BE
R:

M
T-

TR
-1

2-
12

-X
XX

-A
L

12
"x

12
" A

LU
M

IN
UM

 TR
US

S

PR
EC

ISI
O

N 
LE

VE
L :

 M
ED

 - 
±.

06
  [

1.
59

]
BR

AC
KE

T [
 ] 

D
IM

EN
SIO

NS
 A

RE
 IN

 M
M

9/
18

/2
01

8

Product Number | MT-TR-12-12-XXX-AL

16



TR
TM

TR | 12” STEEL TRUSS SERIES
17



TR

20



U.S. Patent No. 8,418,425 & other patents pending

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible* Serialized & Traceable

TR

EX

PL

JH

PA

HG

MR

AC

HW

TK

MH

FH

GL

Truss Series | 12” Steel

Standard Material A36 Low Carbon Steel
Standard Finish 25 - Silver

Available Finish(es) 20-33
Hole Size 11/16" (17.46mm)

Recommended 
Hardware

5/8”-11 Thread Grade 8 Bolt, 2.5” Long | 5/8” SAE Zinc-Plated Washer | 5/8”-11 Thread, Grade 8 Hex Nut
(M16 x 2 Thread, 64mm Long, Class 10.9 Bolt | M16, Class 10.9 Washer | M16 x 2 Thread, Class 10.9 Nut)

Recommended Tools Tool Kit 1
For More Info www.ModTruss.com

Part # Size Weight
MT-TR-12-12-006-ST* 12” x 12” x 6” (304.80mm x 304.80mm x 152.40mm) 25.00lbs (11.34kg)

MT-TR-12-12-012-ST 12” x 12” x 12” (304.80mm x 304.80mm x 304.80mm) 38.85lbs (17.62kg)

MT-TR-12-12-024-ST 12” x 12” x 24” (304.80mm x 304.80mm x 609.60mm) 65.30lbs (29.62kg)

MT-TR-12-12-036-ST 12” x 12” x 36” (304.80mm x 304.80mm x 914.40mm) 90.95lbs (41.25kg)

MT-TR-12-12-048-ST 12” x 12” x 48” (304.80mm x 304.80mm x 1219.2mm) 113.60lbs (51.53kg)

MT-TR-12-12-060-ST 12” x 12” x 60” (304.80mm x 304.80mm x 1524.0mm) 143.65lbs (65.16kg)

MT-TR-12-12-072-ST 12” x 12” x 72” (304.80mm x 304.80mm x 1828.8mm) 168.00lbs (76.20kg)

MT-TR-12-12-084-ST 12” x 12” x 84” (304.80mm x 304.80mm x 2133.6mm) 195.75lbs (88.79kg)

MT-TR-12-12-096-ST 12” x 12” x 96” (304.80mm x 304.80mm x 2438.4mm) 223.40lbs (101.33kg)

MT-TR-12-12-108-ST 12” x 12” x 108” (304.80mm x 304.80mm x 2743.2mm) 249.15lbs (113.01kg)

MT-TR-12-12-120-ST 12” x 12” x 120” (304.80mm x 304.80mm x 3048.0mm) 275.85lbs (125.12kg)

*MT-TR-12-12-006-AL is only compatible with standard Truss on 12” sides, not 6” sides



U.S. Patent No. 8,418,425 & other patents pending

TM

Series | TR Truss 12”

 
12

.0
0

30
4.

86
 

 
.6

9
17

.4
6

 

 
3.

00
76

.2
0

 

 
6.

75
17

1.
45

 
 

1.
50

38
.1

0
 

 
3.

00
76

.2
0

 

 
12

.0
0

30
4.

80
 

 
6.

75
17

1.
45

 

 
.2

5
6.

35
 

12
0.

00
[3

04
8.

00
]

10
8.

00
[2

74
3.

20
]

96
.0

0
[2

43
8.

40
]

84
.0

0
[2

1.
33

.6
0]

72
.0

0
[1

82
8.

80
]

60
.0

0
[1

52
4.

00
]

48
.0

0
[1

21
9.

20
]

36
.0

0
[9

14
.4

0]
24

.0
0

[6
09

.6
0]

6.
00

[1
52

.4
0]

12
.0

0
[3

04
.8

0]
M

T-
TR

-0
6-

12
-0

06
-S

T

M
T-

TR
-1

2-
12

-0
12

-S
T

M
T-

TR
-1

2-
12

-0
24

-S
T

M
T-

TR
-1

2-
12

-0
36

-S
T

M
T-

TR
-1

2-
12

-0
48

-S
T

M
T-

TR
-1

2-
12

-0
60

-S
T

M
T-

TR
-1

2-
12

-0
72

-S
T

M
T-

TR
-1

2-
12

-0
84

-S
T

M
T-

TR
-1

2-
12

-0
96

-S
T

M
T-

TR
-1

2-
12

-1
08

-S
T

M
T-

TR
-1

2-
12

-1
20

-S
T

 
12

.0
0

30
4.

80
 

 
6.

00
15

2.
40

 

 
3.

00
76

.2
0

 

D
ES

C
RI

PT
IO

N
:

RE
VI

SIO
N

: V
1

PA
RT

 N
UM

BE
R:

M
T-

TR
-1

2-
12

-X
XX

-S
T

12
"x

12
" S

TE
EL

 TR
US

S

PR
EC

ISI
O

N
 L

EV
EL

 : 
M

ED
 - 

±.
06

  [
1.

59
]

BR
A

C
KE

T [
 ] 

D
IM

EN
SIO

N
S 

A
RE

 IN
 M

M

9/
18

/2
01

8

Product Number | MT-TR-12-12-XXX-ST

22



TR
TM

TR | 6” ALUMINUM TRUSS SERIES
23



U.S. Patent No. 8,418,425 & other patents pending

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable

TR

EX

PL

JH

PA

HG

MR

AC

HW

TK

MH

FH

GL

Standard Material 5052-H32 Aluminum
Standard Finish 01 - Brush

Available Finish(es) 01, 20-33
Hole Size 11/16" (17.46mm)

Recommended 
Hardware

5/8”-11 Thread Grade 8 Bolt, 2” Long | 5/8” SAE Zinc-Plated Washer | 5/8”-11 Thread, Grade 8 Hex Nut
(M16 x 2 Thread, 50mm Long, Class 10.9 Bolt | M16, Class 10.9 Washer | M16 x 2 Thread, Class 10.9 Nut)

Recommended Tools Tool Kit 1
For More Info www.ModTruss.com

Part # Size Weight
MT-TR-06-06-006-AL 6” x 6” x 6” (152.40mm x 152.40mm x 152.40mm) 2.25lbs (1.02kg)

MT-TR-06-06-012-AL 6” x 6” x 12” (152.40mm x 152.40mm x 304.80mm) 3.90lbs (1.77kg)

MT-TR-06-06-024-AL 6” x 6” x 24” (152.40mm x 152.40mm x 609.60mm) 7.25lbs (3.29kg)

MT-TR-06-06-036-AL 6” x 6” x 36” (152.40mm x 152.40mm x 914.40mm) 10.65lbs (4.83kg)

MT-TR-06-06-048-AL 6” x 6” x 48” (152.40mm x 152.40mm x 1219.2mm) 13.50lbs (6.12kg)

MT-TR-06-06-060-AL 6” x 6” x 60” (152.40mm x 152.40mm x 1524.0mm) 16.85lbs (7.64kg)

MT-TR-06-06-072-AL 6” x 6” x 72” (152.40mm x 152.40mm x 1828.8mm) 20.00lbs (9.07kg)

MT-TR-06-06-084-AL 6” x 6” x 84” (152.40mm x 152.40mm x 2133.6mm) 23.25lbs (10.55kg)

MT-TR-06-06-096-AL 6” x 6” x 96” (152.40mm x 152.40mm x 2438.4mm) 26.55lbs (12.04kg)

MT-TR-06-06-108-AL 6” x 6” x 108” (152.40mm x 152.40mm x 2743.2mm) 30.40lbs (13.79kg)

MT-TR-06-06-120-AL 6” x 6” x 120” (152.40mm x 152.40mm x 3048.0mm) 32.95lbs (14.95kg)

Truss Series | 6” Aluminum



U.S. Patent No. 8,418,425 & other patents pending

TM

Series | TR Truss 6”

 
3.

00
76

.2
0

 
 

1.
50

38
.1

0
 

 
3.

00
76

.2
0

 

 
6.

00
15

2.
40

 

.6
9

17
.4

6

 
3.

00
76

.2
0

 

 
6.

00
15

2.
40

 
 

3.
69

93
.6

6
 

 
.1

9
4.

76
 

 
24

.0
0

60
9.

60
 

 
12

.0
0

30
4.

80
 

 
36

.0
0

91
4.

40
 

 
48

.0
0

12
19

.2
0

 
 

60
.0

0
15

24
.0

0
 

 
84

.0
0

21
33

.6
0

  
72

.0
0

18
28

.8
0

 

 
96

.1
3

24
41

.5
8

 
 

10
8.

00
27

43
.2

0
 

12
0.

00
[3

04
8.

00
]

6.
00

[1
52

.4
0] M

T-
TR

-0
6-

06
-0

06
-A

L

M
T-

TR
-0

6-
06

-0
12

-A
L

M
T-

TR
-0

6-
06

-0
24

-A
L

M
T-

TR
-0

6-
06

-0
36

-A
L

M
T-

TR
-0

6-
06

-0
48

-A
L

M
T-

TR
-0

6-
06

-0
60

-A
L

M
T-

TR
-0

6-
06

-0
72

-A
L

M
T-

TR
-0

6-
06

-0
84

-A
L

M
T-

TR
-0

6-
06

-0
96

-A
L

M
T-

TR
-0

6-
06

-1
08

-A
L

M
T-

TR
-0

6-
06

-1
20

-A
L

DE
SC

RI
PT

IO
N:

RE
VI

SIO
N:

 V
1

PA
RT

 N
UM

BE
R:

M
T-T

R-
06

-0
6-

XX
X-

AL

6"
x6

" A
LU

M
IN

UM
 TR

US
S

PR
EC

ISI
O

N 
LE

VE
L :

 M
ED

 - 
±.

06
  [

1.
59

]
BR

AC
KE

T [
 ] 

DI
M

EN
SIO

NS
 A

RE
 IN

 M
M

9/
18

/2
01

8

Product Number | MT-TR-06-06-XXX-AL

26



TR
TM

TR | 6” STEEL TRUSS SERIES
27



U.S. Patent No. 8,418,425 & other patents pending

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable

TR

EX

PL

JH

PA

HG

MR

AC

HW

TK

MH

FH

GL

Standard Material A36 Low Carbon Steel
Standard Finish 25 - Silver

Available Finish(es) 20-33
Hole Size 11/16" (17.46mm)

Recommended 
Hardware

5/8”-11 Thread Grade 8 Bolt, 2” Long | 5/8” SAE Zinc-Plated Washer | 5/8”-11 Thread, Grade 8 Hex Nut
(M16 x 2 Thread, 50mm Long, Class 10.9 Bolt | M16, Class 10.9 Washer | M16 x 2 Thread, Class 10.9 Nut)

Recommended Tools Tool Kit 1
For More Info www.ModTruss.com

Part # Size Weight
MT-TR-06-06-006-ST 6” x 6” x 6” (152.40mm x 152.40mm x 152.40mm) 6.50lbs (2.95kg)

MT-TR-06-06-012-ST 6” x 6” x 12” (152.40mm x 152.40mm x 304.80mm) 11.40lbs (5.17kg)

MT-TR-06-06-024-ST 6” x 6” x 24” (152.40mm x 152.40mm x 609.60mm) 20.95lbs (9.50kg)

MT-TR-06-06-036-ST 6” x 6” x 36” (152.40mm x 152.40mm x 914.40mm) 30.50lbs (13.83kg)

MT-TR-06-06-048-ST 6” x 6” x 48” (152.40mm x 152.40mm x 1219.2mm) 39.85lbs (18.08kg)

MT-TR-06-06-060-ST 6” x 6” x 60” (152.40mm x 152.40mm x 1524.0mm) 49.25lbs (22.34kg)

MT-TR-06-06-072-ST 6” x 6” x 72” (152.40mm x 152.40mm x 1828.8mm) 58.80lbs (26.67kg)

MT-TR-06-06-084-ST 6” x 6” x 84” (152.40mm x 152.40mm x 2133.6mm) 68.40lbs (31.03kg)

MT-TR-06-06-096-ST 6” x 6” x 96” (152.40mm x 152.40mm x 2438.4mm) 77.80lbs (35.29kg)

MT-TR-06-06-108-ST 6” x 6” x 108” (152.40mm x 152.40mm x 2743.2mm) 87.25lbs (39.58kg)

MT-TR-06-06-120-ST 6” x 6” x 120” (152.40mm x 152.40mm x 3048.0mm) 96.95lbs (43.98kg)

Truss Series | 6” Steel



U.S. Patent No. 8,418,425 & other patents pending

TM

Series | TR Truss 6”

 
3.

00
76

.2
0

 
 

1.
50

38
.1

0
  

3.
00

76
.2

0
 

 
6.

00
15

2.
40

 

 
.6

9
17

.4
6

 

 
3.

00
76

.2
0

 

 
6.

00
15

2.
40

 
 

3.
69

93
.6

6
 

 
.1

9
4.

76
 

 
24

.0
0

60
9.

60
 

 
12

.0
0

30
4.

80
 

 
36

.0
0

91
4.

40
 

 
48

.0
0

12
19

.2
0

 

 
60

.0
0

15
24

.0
0

 

 
84

.0
0

21
33

.6
0

  
72

.0
0

18
28

.8
0

 

 
96

.1
3

24
41

.5
8

 
 

10
8.

00
27

43
.2

0
 

6.
00

[1
52

.4
0]

12
0.

00
[3

04
8.

00
]

M
T-

TR
-0

6-
06

-0
06

-S
T

M
T-

TR
-0

6-
06

-0
12

-S
T

M
T-

TR
-0

6-
06

-0
24

-S
T

M
T-

TR
-0

6-
06

-0
36

-S
T

M
T-

TR
-0

6-
06

-0
48

-S
T

M
T-

TR
-0

6-
06

-0
60

-S
T

M
T-

TR
-0

6-
06

-0
72

-S
T

M
T-

TR
-0

6-
06

-0
84

-S
T

M
T-

TR
-0

6-
06

-0
96

-S
T

M
T-

TR
-0

6-
06

-1
08

-S
T

M
T-

TR
-0

6-
06

-1
20

-S
T

DE
SC

RI
PT

IO
N:

RE
VI

SIO
N:

 V
1

PA
RT

 N
UM

BE
R:

M
T-

TR
-0

6-
06

-X
XX

-S
T

6"
x6

" S
TE

EL
 TR

US
S

PR
EC

ISI
O

N 
LE

VE
L :

 M
ED

 - 
±.

06
  [

1.
59

]
BR

AC
KE

T [
 ] 

DI
M

EN
SIO

NS
 A

RE
 IN

 M
M

9/
18

/2
01

8

Product Number | MT-TR-06-06-XXX-ST

30



TR
TM

TR | 3” STEEL TRUSS SERIES
31



U.S. Patent No. 8,418,425 & other patents pending

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable

TR

EX

PL

JH

PA

HG

MR

AC

HW

TK

MH

FH

GL

Standard Material ASTM A500 Grade B Steel
Standard Finish 22 - Gloss Black

Available Finish(es) 20-33
Hole Size 11/16” (17.46mm)

Recommended 
Hardware

Black-Oxide Alloy Steel Hex Drive Flat Head Screw, 1/2”-13 Thread Size, 1” Long 
(M13 x 2, 24mm Long)

Recommended Tools Tool Kit 1  |  5/16” Allen Wrench
For More Info www.ModTruss.com

Truss Series | 3” Steel

Part # Size Weight
MT-TR-03-03-012-ST 3” x 3” x 12” (76.20mm x 76.20mm x 304.80mm) 4.90lbs (2.22kg)

MT-TR-03-03-024-ST 3” x 3” x 24” (76.20mm x 76.20mm x 609.60mm) 9.80lbs (4.44kg)

MT-TR-03-03-036-ST 3” x 3” x 36” (76.20mm x 76.20mm x 914.40mm) 14.70lbs (6.66kg)

MT-TR-03-03-048-ST 3” x 3” x 48” (76.20mm x 76.20mm x 1219.2mm) 19.60lbs (8.89kg)

MT-TR-03-03-060-ST 3” x 3” x 60” (76.20mm x 76.20mm x 1524.0mm) 24.50lbs (11.11kg)

MT-TR-03-03-072-ST 3” x 3” x 72” (76.20mm x 76.20mm x 1828.8mm) 29.40lbs (13.33kg)

MT-TR-03-03-084-ST 3” x 3” x 84” (76.20mm x 76.20mm x 2133.6mm) 34.30lbs (15.55kg)

MT-TR-03-03-096-ST 3” x 3” x 96” (76.20mm x 76.20mm x 2438.4mm) 39.20lbs (17.78kg)

MT-TR-03-03-108-ST 3” x 3” x 108” (76.20mm x 76.20mm x 2743.2mm) 44.10lbs (20.00kg)

MT-TR-03-03-120-ST 3” x 3” x 120” (76.20mm x 76.20mm x 3048.0mm) 49.00lbs (22.22kg)

MT-TR-03-03-144-ST 3” x 3” x 144” (76.20mm x 76.20mm x 304.80mm) 58.80lbs (26.67kg)

MT-TR-03-03-156-ST 3” x 3” x 156” (76.20mm x 76.20mm x 609.60mm) 63.70lbs (28.89kg)

MT-TR-03-03-168-ST 3” x 3” x 168” (76.20mm x 76.20mm x 304.80mm) 68.60lbs (31.11kg)



U.S. Patent No. 8,418,425 & other patents pending

TM

Series | TR Truss 3”

 
12

0.
00

30
48

.0
0

 

M
T-

TR
-0

3-
03

-1
20

-S
T

 
10

8.
00

27
43

.2
0

 

M
T-

TR
-0

3-
03

-1
08

-S
T

 
96

.0
0

24
38

.4
0

 

M
T-

TR
-0

3-
03

-0
96

-S
T

 
84

.0
0

21
33

.6
0

 

M
T-

TR
-0

3-
03

-0
84

-S
T

 
72

.0
0

18
28

.8
0

 

M
T-

TR
-0

3-
03

-0
72

-S
T

 
60

.0
0

15
24

.0
0

 

M
T-

TR
-0

3-
03

-0
60

-S
T

 
48

.0
0

12
19

.2
0

 

M
T-

TR
-0

3-
03

-0
48

-S
T

 
36

.0
0

91
4.

40
 

M
T-

TR
-0

3-
03

-0
36

-S
T

 
24

.0
0

60
9.

60
 

M
T-

TR
-0

3-
03

-0
24

-S
T

 
12

.0
0

30
4.

80
 

M
T-

TR
-0

3-
03

-0
12

-S
T

 
6.

00
15

2.
40

 

M
T-

TR
-0

3-
03

-0
06

-S
T

 
1.

50
38

.1
0

 
3.

00
76

.2
0

 TY
P

 
3.

00
76

.2
0

 

 
3.

00
76

.2
0

 
 

2.
75

69
.8

5
 

DE
SC

RI
PT

IO
N:

RE
VI

SIO
N:

 V
1

PA
RT

 N
UM

BE
R:

M
T-

TR
-0

3-
03

-X
XX

-S
T

3"
x3

" T
RU

SSPR
EC

ISI
O

N 
LE

VE
L :

 M
ED

 - 
±.

06
  [

1.
59

]
BR

AC
KE

T [
 ] 

DI
M

EN
SIO

NS
 A

RE
 IN

 M
M

9/
18

/2
01

8

Product Number | MT-TR-03-03-XXX-ST

34



TM

EX

EX | 3” x 3” EXTRUSION SERIES
35



U.S. Patent No. 8,418,425 & other patents pending

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable

TR

EX

PL

JH

PA

HG

MR

AC

HW

TK

MH

FH

GL

ModTruss Extrusion 3” x 3” 
Part Number | MT-EX-03-03-XXX-AL*
*Units in inches

Standard Material 6061-T6 Aluminum
Standard Finish 02 - No Finish

Available Finish(es) 50-51
Size 3” x 3" x User defined length (76.20mm x 76.20mm x User defined length)

Max length per piece: 40’ - No Finish (Finishes may affect maximum available length)
Weight 3.56lbs (1.61kg) *Weight per foot

Hole Size T-Slot: 0.656” x 1.50” (16.67mm x 38.10mm)  |  Keyway (aka Keder Track or Screw-boss): 10.5mm 
Recommended

Hardware
ModTruss Nut Bars  |  ModTruss Insert Nuts  |  3” Blind Connector - MT-HW-BC-03-03-AS

Recommended Tools Tool Kit 1  |  12” Miter Saw  |  6 Hex Key Wrench Cluster - MT-TK-HX-00-0-SAE
For More Info www.ModTruss.com



U.S. Patent No. 8,418,425 & other patents pending

TM

Series | EX Extrusion

 
3.

00
76

.2
0

 

 
3.

00
76

.2
0

 
 

2.
30

58
.4

2
 

 
1.

50
38

.1
0

 

 
.6

6
16

.6
7

 

 
.6

9
17

.4
6

 

 
.9

4
23

.8
1

 

 
.2

5
6.

35
 

FIT
S 

8.
5M

M
 K

ED
ER

 W
EL

T

LE
NG

HT
PA

RT
 N

UM
BE

R
12

"
M

T-
EX

-0
3-

03
-0

12
-A

L
24

"
M

T-
EX

-0
3-

03
-0

24
-A

L
36

"
M

T-
EX

-0
3-

03
-0

36
-A

L
48

"
M

T-
EX

-0
3-

03
-0

48
-A

L
60

"
M

T-
EX

-0
3-

03
-0

60
-A

L
72

"
M

T-
EX

-0
3-

03
-0

72
-A

L
84

"
M

T-
EX

-0
3-

03
-0

84
-A

L
96

"
M

T-
EX

-0
3-

03
-0

96
-A

L
10

8"
M

T-
EX

-0
3-

03
-1

08
-A

L
12

0"
M

T-
EX

-0
3-

03
-1

20
-A

L

DE
SC

RI
PT

IO
N:

RE
VI

SIO
N:

 V
1

PA
RT

 N
UM

BE
R:

M
T-E

X-
03

-0
3-

XX
X-

AL

3"
x3

" E
XT

RU
SIO

N

PR
EC

ISI
O

N 
LE

VE
L :

 M
ED

 - 
±.

06
  [

1.
59

]
BR

AC
KE

T [
 ] 

DI
M

EN
SIO

NS
 A

RE
 IN

 M
M

9/
5/

20
18

Product Number | MT-TR-03-03-XXX-AL

38



TM

EX

EX | 6” x 12” EXTRUSION SERIES
39



U.S. Patent No. 8,418,425 & other patents pending

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable

TR

EX

PL

JH

PA

HG

MR

AC

HW

TK

MH

FH

GL

ModTruss Extrusion 6” x 12”
Part Number | MT-EX-06-12-XXX-AL*
*Units in inches

Standard Material 6063-T6 Aluminum
Standard Finish 02 - No Finish

Available Finish(es) 50-51
Size 6” x 12" x User defined length (152.40mm x 304.80mm x User defined length)

Max length per piece: 20’
Weight 14.58lbs (6.61kg) *Weight per foot

Hole Size T-Slot: 0.656” x 1.312” (16.67mm x 33.34mm)
Keyway (aka Keder Track or Screw-boss): 10.5mm 

Recommended 
Hardware

ModTruss Nut Bars  |  ModTruss Insert Nuts  |  3” Blind Connector - MT-HW-BC-03-03-AS

Recommended Tools Tool Kit 1  |  6 Hex Key Wrench Cluster - MT-TK-HX-00-0-SAE
For More Info www.ModTruss.com



U.S. Patent No. 8,418,425 & other patents pending

TM

Series | EX Extrusion

 
6.

00
15

2.
40

 

 
12

.0
0

30
4.

80
  

11
.1

6
28

3.
46

 
 

9.
87

25
0.

82
 

 
3.

88
98

.4
3

 

 
.1

9
4.

76
 

 
.8

8
22

.2
3

 

 
.6

9
17

.4
6

 

 
1.

31
33

.3
4

 

 
3.

00
76

.2
0

 

 
1.

50
38

.1
0

 
 

3.
00

76
.2

0
 

FIT
S 

8.
5M

M
 K

ED
ER

 W
EL

T

LE
NG

HT
PA

RT
 N

UM
BE

R
12

"
M

T-
EX

-0
6-

12
-0

12
-A

L
24

"
M

T-
EX

-0
6-

12
-0

24
-A

L
36

"
M

T-
EX

-0
6-

12
-0

36
-A

L
48

"
M

T-
EX

-0
6-

12
-0

48
-A

L
60

"
M

T-
EX

-0
6-

12
-0

60
-A

L
72

"
M

T-
EX

-0
6-

12
-0

72
-A

L
84

"
M

T-
EX

-0
6-

12
-0

84
-A

L
96

"
M

T-
EX

-0
6-

12
-0

96
-A

L
10

8"
M

T-
EX

-0
6-

12
-1

08
-A

L
12

0"
M

T-
EX

-0
6-

12
-1

20
-A

L

DE
SC

RI
PT

IO
N:

RE
VI

SIO
N:

 V
1

PA
RT

 N
UM

BE
R:

M
T-E

X-
06

-1
2-

XX
X-

AL

6"
x1

2"
 E

XT
RU

SIO
N

PR
EC

ISI
O

N 
LE

VE
L :

 M
ED

 - 
±.

06
  [

1.
59

]
BR

AC
KE

T [
 ] 

DI
M

EN
SIO

NS
 A

RE
 IN

 M
M

9/
18

/2
01

8

Product Number | MT-TR-06-12-XXX-AL

42



TM

EX

EX | 6” x 6” EXTRUSION SERIES
43



U.S. Patent No. 8,418,425 & other patents pending

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable

TR

EX

PL

JH

PA

HG

MR

AC

HW

TK

MH

FH

GL

ModTruss Extrusion 6” x 6”
Part Number | MT-EX-06-06-XXX-AL*
*Units in inches

Standard Material 6063-T6 Aluminum
Standard Finish 02 - No Finish

Available Finish(es) 50-51
Size 6” x 6" x User defined length (152.40mm x 152.40mm x User defined length)

Max length per piece: 20’
Weight 10.11lbs (4.59kg)*       *Weight per foot and Not Certified 

Hole Size T-Slot: 0.656” x 1.312” (16.67mm x 33.34mm)
Keyway (aka Keder Track or Screw-boss): 10.5mm 

Recommended 
Hardware

ModTruss Nut Bars  |  ModTruss Insert Nuts  |  3” Blind Connector - MT-HW-BC-03-03-AS

Recommended Tools Tool Kit 1  |  6 Hex Key Wrench Cluster - MT-TK-HX-00-0-SAE
For More Info www.ModTruss.com



U.S. Patent No. 8,418,425 & other patents pending

TM

Series | EX Extrusion

 
6.

00
15

2.
40

  
5.

16
13

1.
07

 

 
.1

9
4.

76
 

 
6.

00
15

2.
40

 

 
.6

9
17

.4
6

 

 
.8

8
22

.2
3

 

 
1.

31
33

.3
4

 

3.
88

98
.4

3
TY

P

 
1.

50
38

.1
0

 
 

3.
00

76
.2

0
 

 
3.

00
76

.2
0

 

FIT
S 

8.
5M

M
 K

ED
ER

 W
EL

T

LE
NG

HT
PA

RT
 N

UM
BE

R
12

"
M

T-
EX

-0
6-

06
-0

12
-A

L
24

"
M

T-
EX

-0
6-

06
-0

24
-A

L
36

"
M

T-
EX

-0
6-

06
-0

36
-A

L
48

"
M

T-
EX

-0
6-

06
-0

48
-A

L
60

"
M

T-
EX

-0
6-

06
-0

60
-A

L
72

"
M

T-
EX

-0
6-

06
-0

72
-A

L
84

"
M

T-
EX

-0
6-

06
-0

84
-A

L
96

"
M

T-
EX

-0
6-

06
-0

96
-A

L
10

8"
M

T-
EX

-0
6-

06
-1

08
-A

L
12

0"
M

T-
EX

-0
6-

06
-1

20
-A

L

DE
SC

RI
PT

IO
N:

RE
VI

SIO
N:

 V
1

PA
RT

 N
UM

BE
R:

M
T-E

X-
06

-0
6-

XX
X-

AL

6"
x6

" E
XT

RU
SIO

N

PR
EC

ISI
O

N 
LE

VE
L :

 M
ED

 - 
±.

06
  [

1.
59

]
BR

AC
KE

T [
 ] 

DI
M

EN
SIO

NS
 A

RE
 IN

 M
M

9/
18

/2
01

8

Product Number | MT-EX-06-06-XXX-AL

46



U.S. Patent No. 8,418,425 & other patents pending

TR

EX

PL

JH

PA

HG

MR

AC

HW

TK

MH

FH

GL

Extrusion End Cap 6” x 12”
Part Number | MT-EX-EC-06-12-12-12-090

Standard Material A36 Low Carbon Steel
Standard Finish 10 - Zinc Clear 

Available Finish(es) 10-12, 20-33
Size 12” x 12" x 12.38” (304.80mm x 304.80mm x 314.33mm)

Weight 34.85lbs (15.81kg)
Hole Size 11/16” (17.46mm)

Recommended 
Hardware

5/8”-11 Thread Grade 8 Bolts | 5/8” SAE Zinc-Plated Washer | 5/8”-11 Thread, Grade 8 Hex Nut
ModTruss Nut Bars

Recommended Tools Tool Kit 1
For More Info www.ModTruss.com

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable



U.S. Patent No. 8,418,425 & other patents pending

TM

Series | EX Extrusion

12
.0

0
30

4.
80

12
.0

0
30

4.
80

.6
9

17
.4

6

3.
00

76
.2

0
1.

50
38

.1
0

9.
00

22
8.

60

6.
75

17
1.

45

9.
75

24
7.

65

12
.3

8
31

4.
33

12
.0

0
30

4.
80

.3
8

9.
53.6
9

17
.4

6

6.
00

15
2.

40

3.
00

76
.2

0

3.
75

95
.2

5

3.
00

76
.2

0

1.
50

38
.1

0

DE
SC

RI
PT

IO
N:

RE
VI

SIO
N:

 V
1

PA
RT

 N
UM

BE
R:

M
T-E

X-
EC

-0
6-

12
-1

2-
12

-0
90

6"
 x

 1
2"

 E
XT

RU
SI

O
N

 E
N

D
 C

A
P

PR
EC

ISI
O

N 
LE

VE
L :

 M
ED

 - 
±.

06
  [

1.
59

]
BR

AC
KE

T [
 ] 

DI
M

EN
SIO

NS
 A

RE
 IN

 M
M

8/
13

/2
01

8

Product Number | MT-EX-EC-06-12-12-12-090

48



PL
TM

PL | PLATES
49



PL

PL

50



U.S. Patent No. 8,418,425 & other patents pending

TR

EX

PL

JH

PA

HG

MR

AC

HW

TK

MH

FH

GL

Washer Plates

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible* Serialized & Traceable

Standard Material A36 Low Carbon Steel

Standard Finish 11 - Zinc Gold/Yellow

Available Finish(es) 10-12, 20-33*       *Powder Coating Not recommended | Gold/Yellow color aids in inspection

Hole Size 11/16” (17.46mm)

Recommended Tools Tool Kit 1

For More Info www.ModTruss.com

Part #
Description

Size Weight Recommended
Hardware

MT-PL-W-12
12” Washer Plate

3” x 10.25” x 0.5”
(76.20mm x 260.35mm x 12.70mm)

3.30lbs
(1.50kg)

5/8”-11 Thread Grade 8 Bolt, 2.5” Long 
5/8” SAE Zinc-Plated Washer
5/8”-11 Thread, Grade 8 Hex Nut

(M16 x 2 Thread, 64mm Long, Class 10.9 Bolt
M16, Class 10.9 Washer
M16 x 2 Thread, Class 10.9 Nut)

MT-PL-W-06
6” Washer Plate

1.75” x 4.88” x 0.31”
(44.45mm x 123.95mm x 7.87mm)

0.55lbs
(0.25kg)

5/8”-11 Thread Grade 8 Bolt, 2” Long 
5/8” SAE Zinc-Plated Washer
5/8”-11 Thread, Grade 8 Hex Nut

(M16 x 2 Thread, 50mm Long, Class 10.9 Bolt
M16, Class 10.9 Washer
M16 x 2 Thread, Class 10.9 Nut)

MT-PL-W-12

MT-PL-W-06

*Only 12” Washer Plate | MT-PL-W-12 is compatible with standard Truss



U.S. Patent No. 8,418,425 & other patents pending

TM

Series | PL Plates

M
T-
PL
-W

-1
2

 
10

.2
5

26
0.

35
 

 
3.

00
76

.2
0

 

 
3.

00
76

.2
0

 

 
6.

75
17

1.
45

 

.6
9

17
.4

6

 
5.

21
13

2.
44

 

 
4.

88
12

3.
83

 

 
1.

75
44

.4
5

 

 
3.

00
76

.2
0

 

.6
9

17
.4

6

 
2.

61
66

.3
0

 

 
.3

1
7.

94
 

 
.5

0
12

.7
0

 

M
T-
PL
-W

-0
6

D
ES

C
RI

PT
IO

N
:

RE
VI

SI
O

N
: V

1

PA
RT

 N
UM

BE
R:

M
T-

PL
-W

-X
X

W
A

SH
ER

 P
LA

TE
S

PR
EC

IS
IO

N
 L

EV
EL

 : 
M

ED
 - 

±.
06

  [
1.

59
]

BR
A

C
KE

T [
 ] 

D
IM

EN
SI

O
N

S 
A

RE
 IN

 M
M

8/
13

/2
01

8

Product Number | MT-PL-W-XX

52



U.S. Patent No. 8,418,425 & other patents pending

TR

EX

PL

JH

PA

HG

MR

AC

HW

TK

MH

FH

GL

MT-PL-S-12-24-00

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible* Serialized & Traceable

Standard Material A36 Low Carbon Steel
Standard Finish 10 - Zinc Clear

Available Finish(es) 10-12, 20-33
Hole Size 11/16” (17.46mm)

Recommended 
Hardware

5/8”-11 Thread Grade 8 Bolt, 2” Long | 5/8” SAE Zinc-Plated Washer | 5/8”-11 Thread, Grade 8 Hex Nut
(M16 x 2 Thread, 50mm Long, Class 10.9 Bolt | M16, Class 10.9 Washer | M16 x 2 Thread, Class 10.9 Nut)

Recommended Tools Tool Kit 1
For More Info www.ModTruss.com

MT-PL-S-12-24-90 MT-PL-S-06-12-90

MT-PL-S-06-12-00

Splice Plates

Part #
Description

Size Weight

MT-PL-S-12-24-00*
12” x 24” Splice Plate

11.50” x 22.50” x 0.25”
(292.10mm x 571.50mm x 6.35mm)

11.85lbs (5.38kg)

MT-PL-S-06-12-00
6” x 12” Splice Plate

11.75” x 5.75” x 0.25”
(298.45mm x 146.05mm x 6.35mm)

3.10lbs (1.41kg)

MT-PL-S-12-24-90*
12” x 24” x 90° 
Flat Angle Splice Plate

23.5” x 23.5” x 0.25” 
(596.9mm x 596.9mm x 6.35mm)

18.85lbs (8.55kg)

MT-PL-S-06-12-90
6” x 12” x 90° 
Flat Angle Splice Plate

11.75” x 11.75” x 0.25”
(298.45mm x 298.45mm x 6.35mm)

4.75lbs (2.15kg)

*Only 12” Splice Plates are compatible with standard Truss



U.S. Patent No. 8,418,425 & other patents pending

TM

Series | PL Plates
Product Number | MT-PL-S-XX-XX-XX

11
.7

5
29

8.
45

5.
75

14
6.

05

3.
00

76
.2

0

3.
69

93
.6

6
1.

38
34

.9
3

11
.5

0
29

2.
10

22
.5

0
57

1.
50

6.
75

17
1.

45
.7

5
19

.0
5

1.
25

31
.7

5

3.
00

76
.2

0

M
T-
PL
-S
-1
2-
24
-0
0

.2
5

6.
35

.2
5

6.
35

5.
75

14
6.

05

11
.7

5
29

8.
45

3.
69

93
.6

6

5.
75

14
6.

05

1.
38

34
.9

3

11
.7

5
29

8.
45

3.
00

76
.2

0

.2
5

6.
35

23
.5

0
59

6.
90

11
.5

0
29

2.
10

11
.5

0
29

2.
10

6.
75

17
1.

45
3.

00
76

.2
0

1.
25

31
.7

5

6.
75

17
1.

45

23
.5

0
59

6.
90

1.
25

31
.7

5
.2

5
6.

35

M
T-
PL
-S
-0
6-
12
-0
0

M
T-
PL
-S
-1
2-
24
-9
0

M
T-
PL
-S
-0
6-
12
-9
0

DE
SC

RI
PT

IO
N:

RE
VI

SIO
N:

 V
1

PA
RT

 N
UM

BE
R:

M
T-

PL
-S

-X
X-

XX
-X

X

SP
LIC

E 
PL

AT
ES

PR
EC

ISI
O

N 
LE

VE
L :

 M
ED

 - 
±.

06
  [

1.
59

]
BR

AC
KE

T [
 ] 

DI
M

EN
SIO

NS
 A

RE
 IN

 M
M

8/
13

/2
01

8

54



U.S. Patent No. 8,418,425 & other patents pending

TR

EX

PL

JH

PA

HG

MR

AC

HW

TK

MH

FH

GL

3-Way Splice Plate 12” x 12” 45º
Part Number | MT-PL-S-12-12-72-045-096

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable

Use:  Makes a 96” x 96” Frame

Standard Material A36 Low Carbon Steel
Standard Finish 10 - Zinc Clear

Available Finish(es) 10-12, 20-33
Size 20.00” x 20.00" x 0.25” (508.00mm x 508.00mm x 6.35mm)

Weight 13.30lbs (6.03kg)
Hole Size 11/16” (17.46mm)

Recommended 
Hardware

5/8”-11 Thread Grade 8 Bolt, 2” Long | 5/8” SAE Zinc-Plated Washer | 5/8”-11 Thread, Grade 8 Hex Nut
(M16 x 2 Thread, 50mm Long, Class 10.9 Bolt | M16, Class 10.9 Washer | M16 x 2 Thread, Class 10.9 Nut)

Recommended Tools Tool Kit 1
For More Info www.ModTruss.com



U.S. Patent No. 8,418,425 & other patents pending

TM

Series | PL Plates

29
8.

45
11

.7
5

15
8.

75
6.

25

15
8.

75
6.

25

29
8.

45
11

.7
5

45
7.

20
18

.0
0

30
4.

80
12

.0
0

38
.0

7
1.

50
76

.2
0

3.
00

38
.1

3
1.

50

76
.2

0
3.

00

17
1.

46
6.

75

51
2.

48
20

.1
8

6.
35 .2
5

D
ES

C
RI

PT
IO

N
:

RE
VI

SI
O

N
: N

R

PA
RT

 N
UM

BE
R:

M
T-

PL
-S

-1
2-

12
-7
2-
04
5-
09
6

12
" 4

5d
eg

 S
pl

ic
e 

Pl
at

e 
fo

r 9
6"

 
Sq

ua
re

PR
EC

IS
IO

N
 L

EV
EL

 : 
M

ED
 - 

±.
06

  [
1.

59
]

BR
A

C
KE

T 
[ ]

 D
IM

EN
SI

O
N

S 
A

RE
 IN

 M
M

9/
5/

20
18

Product Number | MT-PL-S-12-12-72-045-096

56



U.S. Patent No. 8,418,425 & other patents pending

TR

EX

PL

JH

PA

HG

MR

AC

HW

TK

MH

FH

GL

3” Splice Plate
Part Number | MT-PL-S-03-15-TEE

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable

Standard Material A36 Low Carbon Steel
Standard Finish 10 - Zinc Clear

Available Finish(es) 10-12, 20-33
Size 14.44” x 8.63" x 0.25” (366.78mm x 219.20mm x 6.35mm)

Weight 3.55lbs (1.61kg)
Hole Size 11/16” (17.46mm)

Recommended 
Hardware

5/8”-11 Thread Grade 8 Bolt, 5” Long | 5/8” SAE Zinc-Plated Washer | 5/8”-11 Thread, Grade 8 Hex Nut

Recommended Tools Tool Kit 1
For More Info www.ModTruss.com



U.S. Patent No. 8,418,425 & other patents pending

TM

Series | PL Plates

 
8.

81
22

3.
84

 

 
8.

81
22

3.
84

 

 
2.

81
71

.4
4

 

 
2.

81
71

.4
4

 

3.
00

76
.2

0
TY

P

1.
50

38
.1

0
TY

P

.6
9

17
.4

6

1.
50

38
.1

0
 TY

P
.6

9
17

.4
6  

14
.4

4
36

6.
71

 

 
5.

81
14

7.
64

 

 
2.

81
71

.4
4

 

 
2.

81
71

.4
4

 

 
8.

63
21

9.
08

 

 
3.

00
76

.2
0

 

 
.2

5
6.

35
 

 
.2

5
6.

35
 

M
T-
PL
-S
-0
3-
09
-0
90

M
T-
PL
-S
-0
3-
15
-T
EE D

ES
C

RI
PT

IO
N:

RE
VI

SIO
N:

 V
1

PA
RT

 N
UM

BE
R:

M
T-

PL
-S

-0
3-

XX
-X

XX

3"
 S

PL
IC

E 
PL

A
TE

S

PR
EC

ISI
O

N 
LE

VE
L :

 M
ED

 - 
±.

06
  [

1.
59

]
BR

A
C

KE
T [

 ] 
D

IM
EN

SIO
N

S 
A

RE
 IN

 M
M

9/
10

/2
01

8

Product Number | MT-PL-S-03-XX-XXX

58



U.S. Patent No. 8,418,425 & other patents pending

TR

EX

PL

JH

PA

HG

MR

AC

HW

TK

MH

FH

GL

Inner Splice Plate 3” x 12”
Part Number | MT-PL-S-03-12-04-IS

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable

Standard Material A36 Low Carbon Steel
Standard Finish 10 - Zinc Clear

Available Finish(es) 10-12, 20-33
Size 2.19” x 11.81" x 0.67” (55.63mm x 299.97mm x 17.02mm)

Weight 1.85lbs (0.84kg) | Plate 1.85lbs + .2lbs = 2.05lbs Total Weight
Hole Size 11/16” (17.46mm)

Recommended 
Hardware

1/2”-13 x 1” Taper Head Socket Cap Screw

Recommended Tools Tool Kit 1 | 6 Hex Key Wrench Cluster - MT-TK-HX-00-0-SAE
For More Info www.ModTruss.com

Note | This product is only used with ModTruss 3” x 3” Truss



U.S. Patent No. 8,418,425 & other patents pending

TM

Series | PL Plates

 35
.7

2
1.

41
 

 76
.2

0
3.

00
 

12
.7

0
R.

50
4X

 1
/2

-1
3 

W
EL

T N
UT

 30
0.

04
11

.8
1

 

 16
.8

9
.6

7
 

 55
.5

6
2.

19
 

 6.
35 .2
5

 

DE
SC

RI
PT

IO
N:

RE
VI

SIO
N:

 N
R

PA
RT

 N
UM

BE
R:

M
T-

PL
-S

-0
3-

12
-0

4-
IS

SP
LIC

E 
PL

AT
E,

 3
" x

 1
2"

, I
NN

ER
 

SP
LIC

E,
 4

-H
O

LE

PR
EC

ISI
O

N 
LE

VE
L :

 M
ED

 - 
±.

06
  [

1.
59

]
BR

AC
KE

T [
 ] 

DI
M

EN
SIO

NS
 A

RE
 IN

 M
M

8/
16

/2
01

7

Product Number | MT-PL-S-03-12-04-IS

60



U.S. Patent No. 8,418,425 & other patents pending

TR

EX

PL

JH

PA

HG

MR

AC

HW

TK

MH

FH

GL

Standard Material 5052-H32 Aluminum

Standard Finish 02 - No Finish

Available Finish(es) 20-33

Hole Size 11/16” (17.46mm)

Recommended Tools Tool Kit 1

For More Info www.ModTruss.com

Part # Size Weight Recommended
Hardware

MT-PL-SP-06-06-0025 6” x 6” x 0.25”
(152.40mm x 152.40mm x 6.35mm)

0.50lbs
(0.22kg)

5/8”-11 Thread Grade 8 Bolt, 2.5” Long 
5/8” SAE Zinc-Plated Washer
5/8”-11 Thread, Grade 8 Hex Nut

(M16 x 2 Thread, 64mm Long, Class 10.9 Bolt
M16, Class 10.9 Washer
M16 x 2 Thread, Class 10.9 Nut)

MT-PL-SP-06-06-0050 6” x 6” x 0.50”
(152.40mm x 152.40mm x 12.70mm)

1.00lbs
(0.45kg)

MT-PL-SP-12-12-0025* 12” x 12” x 0.25”
(304.80mm x 304.80mm x 6.35mm)

2.40lbs
(1.08kg)

5/8”-11 Thread Grade 8 Bolt, 3” Long
5/8” SAE Zinc-Plated Washer
5/8”-11 Thread, Grade 8 Hex Nut

(M16 x 2 Thread, 76mm Long, Class 10.9 Bolt 
M16, Class 10.9 Washer
M16 x 2 Thread, Class 10.9 Nut)

MT-PL-SP-12-12-0050* 12” x 12” x 0.50”
(304.80mm x 304.80mm x 12.70mm)

4.90lbs
(2.22kg)

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible* Serialized & Traceable

*Only 12” Spacer Plates are compatible with standard Truss

Aluminum Spacer Plates



U.S. Patent No. 8,418,425 & other patents pending

TM

Series | PL Plates

R.
50

12
.7

0
R.

69
17

.4
6

R6
.0

0
15

2.
40

R6
.0

0
15

2.
40

R3
.0

0
76

.2
0

R1
.5

0
38

.1
0

R.
50

12
.7

0

R.
69

17
.4

6

R1
2.

00
30

4.
80

R1
2.

00
30

4.
80

R3
.0

0
76

.2
0

R6
.7

5
17

1.
45

R1
.5

0
38

.1
0

R2
.6

3
66

.6
8

M
T-
PL
-S
P-
12
-1
2-
XX

XX

M
T-
PL
-S
P-
06
-0
6-
XX

XX

SIZ
E

TH
IC

KN
ES

S
PA

RT
 N

UM
BE

R

12
"

1/
4"

M
T-

PL
-S

P-
12

-1
2-

00
25

12
"

1/
2"

M
T-

PL
-S

P-
12

-1
2-

00
50

06
"

1/
4"

M
T-

PL
-S

P-
06

-0
6-

00
25

06
"

1/
2"

M
T-

PL
-S

P-
06

-0
6-

00
50

DE
SC

RI
PT

IO
N:

RE
VI

SIO
N:

 V
1

PA
RT

 N
UM

BE
R:

M
T-

PL
-S

P-
XX

-X
X-

XX
X

SP
AC

ER
 P

LA
TE

S

PR
EC

ISI
O

N 
LE

VE
L :

 M
ED

 - 
±.

06
  [

1.
59

]
BR

AC
KE

T [
 ] 

DI
M

EN
SIO

NS
 A

RE
 IN

 M
M

9/
5/

20
18

Product Number | MT-PL-SP-XX-XX-XXXX

62



U.S. Patent No. 8,418,425 & other patents pending

TR

EX

PL

JH

PA

HG

MR

AC

HW

TK

MH

FH

GL

Base Plates 12” | 18” | 24” | 36”

MT-PL-B-24-24-0075

MT-PL-B-18-18-0075

MT-PL-B-12-12-0075

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable

Standard Material A36 Low Carbon Steel
Standard Finish 25 - Silver

Available Finish(es) 10-12, 20-33

Hole Size 11/16” (17.46mm)

Recommended Tools Tool Kit 1

For More Info www.ModTruss.com

Part # Size Weight Recommended
Hardware

MT-PL-B-36-36-0075
36” x 36” Steel Base Plate

36” x 36” x 0.25”
(914.40mm x 914.40mm x 6.35mm)

103.90lbs
(47.13kg)*
Non-Certified

5/8”-11 Thread Grade 8 Bolt, 2.5” Long 
5/8” SAE Zinc-Plated Washer
5/8”-11 Thread, Grade 8 Hex Nut

(M16 x 2 Thread, 64mm Long, Class 10.9 Bolt
M16, Class 10.9 Washer
M16 x 2 Thread, Class 10.9 Nut)

MT-PL-B-24-24-0075
24” x 24” Steel Base Plate

24” x 24” x 0.25”
(609.60mm x 609.60mm x 6.35mm)

49.70lbs
(22.54kg)

MT-PL-B-18-18-0075
18” x 18” Steel Base Plate

18” x 18” x 0.25”
(457.20mm x 457.20mm x 6.35mm)

28.80lbs
(13.06kg)

5/8”-11 Thread Grade 8 Bolt, 2” Long
5/8” SAE Zinc-Plated Washer
5/8”-11 Thread, Grade 8 Hex Nut

(M16 x 2 Thread, 50mm Long, Class 10.9 Bolt 
M16, Class 10.9 Washer
M16 x 2 Thread, Class 10.9 Nut)

MT-PL-B-12-12-0075
12” x 12” Steel Base Plate

12” x 12” x 0.25”
(304.80mm x 304.80mm x 6.35mm)

12.50lbs
(5.67kg)



U.S. Patent No. 8,418,425 & other patents pending

TM

Series | PL Plates

 
36

.0
0

91
4.

40
 

 
36

.0
0

91
4.

40
 

 
1.

00
25

.4
0

 
 

1.
00

25
.4

0
 

 
4.

00
10

1.
60

 

 
3.

69
93

.6
6

 

 
24

.0
0

60
9.

60
 

 
24

.0
0

60
9.

60
 

 
1.

00
25

.4
0

 
 

4.
00

10
1.

60
 

 
1.

00
25

.4
0

 

 
.6

9
17

.4
6

 

 
3.

69
93

.6
6

 

 
3.

00
76

.2
0

 

 
18

.0
0

45
7.

20
 

 
18

.0
0

45
7.

20
 

 
1.

00
25

.4
0

 
 

1.
00

25
.4

0
  

4.
00

10
1.

60
 

 
.6

9
17

.4
6

 

 
3.

69
93

.6
6

 

 
3.

00
76

.2
0

 

 
.7

5
19

.0
5

 

 
.5

0
12

.7
0

 

 
.7

5
19

.0
5

 

 
.5

0
12

.7
0

 

 
.7

5
19

.0
5

 

 
.5

0
12

.7
0

 

 
12

.0
0

30
4.

80
 

 
12

.0
0

30
4.

80
 

.6
9

17
.4

6
 

3.
00

76
.2

0
 

 
3.

69
93

.6
6

 

 
.7

5
19

.0
5

 

M
T-
PL
-B
-3
6-
36
-0
07
5

M
T-
PL
-B
-2
4-
24
-0
07
5

M
T-
PL
-B
-1
8-
18
-0
07
5

M
T-
PL
-B
-1
2-
12
-0
07
5

D
ES

C
RI

PT
IO

N
:

RE
VI

SIO
N

: V
1

PA
RT

 N
UM

BE
R:

M
T-

PL
-B

-X
X-

XX
-0

07
5

BA
SE

 P
LA

TE
S

PR
EC

ISI
O

N
 L

EV
EL

 : 
M

ED
 - 

±.
06

  [
1.

59
]

BR
A

C
KE

T [
 ] 

D
IM

EN
SIO

N
S 

A
RE

 IN
 M

M

8/
16

/2
01

8

Product Number | MT-PL-B-XX-XX-0075

64



U.S. Patent No. 8,418,425 & other patents pending

TR

EX

PL

JH

PA

HG

MR

AC

HW

TK

MH

FH

GL

Base Plate 48” x 48” 
Part Number | MT-PL-B-48-48-1000

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable

Standard Material A36 Low Carbon Steel
Standard Finish 95 - Enamel Satin Black

Available Finish(es) 02, 95-96
Size 48” x 48" x 1” (1219.20mm x 1219.20mm x 25.40mm)

Weight 630.00lbs* (285.76kg)     *Not Certified
Hole Size 11/16” (17.46mm)

Recommended 
Hardware

5/8”-11 Thread Grade 8 Bolt, 2.5” Long | 5/8” SAE Zinc-Plated Washer | 5/8”-11 Thread, Grade 8 Hex Nut
(M16 x 2 Thread, 64mm Long, Class 10.9 Bolt | M16, Class 10.9 Washer | M16 x 2 Thread, Class 10.9 Nut) 

Recommended Tools Tool Kit 1
For More Info www.ModTruss.com



U.S. Patent No. 8,418,425 & other patents pending

TM

Series | PL Plates

74
.6

1
2.

94
.0

0

30
4.

80
12

.0
0

30
4.

80
12

.0
0

12
19

.2
0

48
.0

0

152.40
6.00

304.80
12.00

304.80
12.00

304.80
12.00

1219.20
48.00

38
.1

0
1.

50

15
2.

40
6.

00

15
2.

40
6.

00

17
.4

6
.6

9
HO

LE
S 

FO
R 

5/
8"

 B
O

LT

15
2.

40
6.

00

30
4.

80
12

.0
0

77
.7

9
3.

06
.0

0

76
.2

0
3.

00
3@

3 
= 

22
8.

60
9.

00

38
.1

0
1.

50

38
.1

0
1.

50
3@

3 
= 

22
8.

60
9.

00

76
.2

0
3.

00

 .6
6 

 1
8.

50

25
.4

0
1.

00

09
/2

3/
20

15

PR
EC

ISI
O

N 
LE

VE
L :

 M
ED

 - 
±.

06
  [

1.
59

]
BR

AC
KE

T [
 ] 

D
IM

EN
SIO

NS
 A

RE
 IN

 M
M

BA
SE

 P
LA

TE
, 4

8"
 x

 4
8"

 x
 1

"

M
T-

PL
-B

-4
8-

48
-1

00
0

PA
RT

 N
UM

BE
R:

RE
VI

SIO
N:

 N
R

DE
SC

RI
PT

IO
N:

Product Number | MT-PL-B-48-48-1000

66



U.S. Patent No. 8,418,425 & other patents pending

TR

EX

PL

JH

PA

HG

MR

AC

HW

TK

MH

FH

GL

Weld Blanks

Standard Material A36 Low Carbon Steel
Standard Finish 02 - No Finish

Available Finish(es) N/A
Hole Size 11/16” (17.46mm)

Recommended 
Hardware

5/8”-11 Thread Grade 8 Bolt, 2” Long | 5/8” SAE Zinc-Plated Washer | 5/8”-11 Thread, Grade 8 Hex Nut
(M16 x 2 Thread, 50mm Long, Class 10.9 Bolt | M16, Class 10.9 Washer | M16 x 2 Thread, Class 10.9 Nut)

Recommended Tools Tool Kit 1
For More Info www.ModTruss.com

Part # Size Weight
MT-PL-WB-12-12-0025-ST
12” x 12” x 1/4” Steel Weld Blank

11.50” x 11.50” x 0.25”
(292.10mm x 292.10mm x 6.35mm)

8.40lbs (3.81kg)

MT-PL-WB-12-12-0050-ST
12” x 12” x 1/2” Steel Weld Blank

11.50” x 11.50” x 0.50”
(292.10mm x 292.10mm x 12.70mm)

17.45 (7.92kg)

MT-PL-WB-06-12-0025-ST
6” x 12” x 1/4” Steel Weld Blank

5.75” x 11.75” x 0.25”
(146.05mm x 298.45mm x 6.35mm)

4.35lbs (1.97kg)

MT-PL-WB-06-12-0050-ST
6” x 12” x 1/2” Steel Weld Blank

5.75” x 11.75” x 0.50”
(146.05mm x 298.45mm x 12.70mm)

8.80lbs (3.99kg)

MT-PL-WB-06-06-0025-ST
6” x 6” x 1/4” Steel Weld Blank

5.75” x 5.75” x 0.25”
(146.05mm x 146.05mm x 6.35mm)

2.10lbs (0.95kg)

MT-PL-WB-06-06-0050-ST
6” x 6” x 1/2” Steel Weld Blank

5.75” x 5.75” x 0.50”
(146.05mm x 146.05mm x 12.70mm)

4.20lbs (1.90kg)

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable

MT-PL-WB-12-12-XXX-ST MT-PL-WB-06-12-XXX-ST MT-PL-WB-06-06-XXX-ST



U.S. Patent No. 8,418,425 & other patents pending

TM

Series | PL Plates

 
11

.5
0

29
2.

10
 

 
11

.5
0

29
2.

10
 

.6
9

17
.4

6

 
3.

00
76

.2
0

 

 
1.

25
31

.7
5

 
 

1.
25

31
.7

5
 

 
6.

75
17

1.
45

 

R1
.0

0
25

.4
0

 
5.

75
14

6.
05

 

 
11

.7
5

29
8.

45
 

 
3.

00
76

.2
0

 
 

1.
38

34
.9

3
 

 
1.

38
34

.9
3

 .6
9

17
.4

6

R1
.0

0
25

.4
0

 
3.

00
76

.2
0

 

 
5.

75
14

6.
05

 

 
5.

75
14

6.
05

 
.6

9
17

.4
6

R1
.0

0
25

.4
0

 
3.

00
76

.2
0

 

 
3.

00
76

.2
0

 

SI
ZE

TH
IC

KN
ES

S
M

A
TE

RI
A

L
PA

RT
 N

UM
BE

R
12

"x
12

"
1/

4"
A

LU
M

IN
UM

M
T-

PL
-W

B-
12

-1
2-

00
25

-A
L

12
"x

12
"

1/
4"

ST
EE

L
M

T-
PL

-W
B-

12
-1

2-
00

25
-S

T
12

"x
12

"
1/

2"
A

LU
M

IN
UM

M
T-

PL
-W

B-
12

-1
2-

00
50

-A
L

12
"x

12
"

1/
2"

ST
EE

L
M

T-
PL

-W
B-

12
-1

2-
00

50
-S

T
06

"x
12

"
1/

4"
A

LU
M

IN
UM

M
T-

PL
-W

B-
06

-1
2-

00
25

-A
L

06
"x

12
"

1/
4"

ST
EE

L
M

T-
PL

-W
B-

06
-1

2-
00

25
-S

T
06

"x
12

"
1/

2"
A

LU
M

IN
UM

M
T-

PL
-W

B-
06

-1
2-

00
50

-A
L

06
"x

12
"

1/
2"

ST
EE

L
M

T-
PL

-W
B-

06
-1

2-
00

50
-S

T
06

"x
06

"
1/

4"
A

LU
M

IN
UM

M
T-

PL
-W

B-
06

-0
6-

00
25

-A
L

06
"x

06
"

1/
4"

ST
EE

L
M

T-
PL

-W
B-

06
-0

6-
00

25
-S

T
06

"x
06

"
1/

2"
A

LU
M

IN
UM

M
T-

PL
-W

B-
06

-0
6-

00
50

-A
L

06
"x

06
"

1/
2"

ST
EE

L
M

T-
PL

-W
B-

06
-0

6-
00

50
-S

T

D
ES

C
RI

PT
IO

N:

RE
VI

SIO
N:

 V
1

PA
RT

 N
UM

BE
R:

M
T-

PL
-W

B-
XX

-X
X-

XX
XX

-X
X

W
EL

D
 B

LA
N

KS

PR
EC

ISI
O

N 
LE

VE
L :

 M
ED

 - 
±.

06
  [

1.
59

]
BR

A
C

KE
T [

 ] 
D

IM
EN

SIO
N

S 
A

RE
 IN

 M
M

8/
16

/2
01

8

Product Number | MT-PL-WB-XX-XX-XXXX-XX

68



JH
TM

JH | JOIST HANGERS
69



JH

70



U.S. Patent No. 8,418,425 & other patents pending

TR

EX

PL

JH

PA

HG

MR

AC

HW

TK

MH

FH

GL

Joist Hangers

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable

Standard Material A36 Low Carbon Steel

Standard Finish 10 - Zinc Clear

Available Finish(es) 10-12, 20-33

Hole Size 11/16” (17.46mm)  |  1/2” Bolt Hole (12.7mm)  |  .20” Screw Hole (5.08mm)

Recommended
Hardware

5/8”-11 Thread Grade 8 Bolt, 2” Long | 5/8” SAE Zinc-Plated Washer | 5/8”-11 Thread, Grade 8 Hex Nut | 
#10 Wood Screw, 1.25” Long | 1/2”-13 Grade 5 Hex Bolt, 3” Long | 1/2” SAE Zinc-Plated Washer | 1/2”-13 Thread, Grade 5 Hex Nut
(M16 x 2 Thread, 50mm Long, Class 10.9 Bolt | M16, Class 10.9 Washer | M16 x 2 Thread, Class 10.9 Nut)

Recommended Tools Tool Kit 1  |  1/2” Drill Bit  |  3/4” Combination Wrench  |  3/4” Deep Well Socket , 1/2” Drive

For More Info www.ModTruss.com

Part #
Description

Size Weight

MT-JH-02-12-090
2” x 12” x 90°

4.75” x 3.13” x 11.38”
(120.07mm x 79.50mm x 289.05mm)

3.40lbs (1.54kg) Joist Hanger Fits Nominal 2” x 12” Lumber 
(Actual size 1.5” x 11.25” - 38mm x 286mm) as defined by the ALSC

MT-JH-02-08-090
2” x 8” x 90°

4.75” x 3.13” x 7.38”
(120.07mm x 79.50mm x 187.45mm)

2.30lbs (1.04kg) Joist Hanger Fits Nominal 2” x 8” Lumber 
(Actual size 1.5” x 7.25” - 38mm x 184mm) as defined by the ALSC

MT-JH-02-06-090
2” x 6” x 90°

4.75” x 3.13” x 5.63” 
(120.07mm x 79.50mm x 143.00mm)

1.70lbs (0.77kg) Joist Hanger Fits Nominal 2” x 6” Lumber 
(Actual size 1.5” x 5.5” - 38mm x 140mm) as defined by the ALSC

MT-JH-02-04-090
2” x 4” x 90°

4.75” x 3.13” x 3.63”
(120.07mm x 79.50mm x 92.20mm)

1.10lbs (0.50kg) Joist Hanger Fits Nominal 2” x 4” Lumber 
(Actual size 1.5” x 3.5” - 38mm x 89mm) as defined by the ALSC

MT-JH-02-12-090

MT-JH-02-08-090

MT-JH-02-06-090

MT-JH-02-04-090



U.S. Patent No. 8,418,425 & other patents pending

TM

Series | JH Joist Hangers

 
11

.1
3

28
2.

58
 

 
3.

00
76

.2
0

 

 
.6

9
17

.4
6

 

 
.2

0
5.

05
 

 
4.

75
12

0.
65

 

 
1.

50
38

.1
0

 

 
3.

00
76

.2
0

 

 
7.

13
18

0.
98

 

 
.6

9
17

.4
6

 

 
.2

0
5.

05
 

 
4.

75
12

0.
65

  
1.

50
38

.1
0

 

 
3.

00
76

.2
0

 

 
3.

00
76

.2
0

 

 
5.

38
13

6.
53

 

 
3.

00
76

.2
0

 

 
.2

0
5.

05
 

 
.6

9
17

.4
6

 

 
1.

50
38

.1
0

 

 
4.

75
12

0.
65

 

 
3.

00
76

.2
0

 
 

3.
38

85
.7

3
 

 
3.

00
76

.2
0

 

 
4.

75
12

0.
65

  
1.

50
38

.1
0

  
.6

9
17

.4
6

 

 
.2

0
5.

05
 

 
.5

0
12

.7
0

 

 
3.

75
95

.2
5

 

 
3.

50
88

.7
7

 

 
11

.2
5

28
5.

75
  

.1
3

3.
18

 

 
7.

25
18

4.
15

 

 
3.

50
88

.7
7

 

 
3.

50
88

.9
0

 

 
.5

0
12

.7
0

 
 

.1
3

3.
18

 

 
5.

50
13

9.
70

 

 
.1

3
3.

18
 

 
.5

0
12

.7
0

 

 
3.

50
88

.7
7

 

 
2.

50
63

.5
0

 

 
.5

0
12

.7
0

 

 
3.

50
88

.7
7

 

 
.1

3
3.

18
 

 
3.

50
88

.9
0

 

M
T-
JH
-0
2-
08
-0
90

M
T-
JH
-0
2-
12
-0
90

M
T-
JH
-0
2-
06
-0
90

M
T-
JH
-0
2-
04
-0
90

D
ES

C
RI

PT
IO

N
:

RE
VI

SIO
N

: V
1

PA
RT

 N
UM

BE
R:

M
T-

JH
-0

2-
XX

-0
90

JO
IS

T H
A

N
G

ER
S

PR
EC

ISI
O

N
 L

EV
EL

 : 
M

ED
 - 

±.
06

  [
1.

59
]

BR
A

C
KE

T [
 ] 

D
IM

EN
SI

O
N

S 
A

RE
 IN

 M
M

8/
13

/2
01

8

Product Number | MT-JH-02-XX-090

72



PA
TM

PA | PIPE ADAPTERS
73



PA

74



U.S. Patent No. 8,418,425 & other patents pending

TR

EX

PL

JH

PA

HG

MR

AC

HW

TK

MH

FH

GL

Pipe Adapters 90º

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible* Serialized & Traceable

Standard Material A36 Low Carbon Steel

Standard Finish 10 - Zinc Clear

Available Finish(es) 10-12, 20-33

Recommended 
Hardware

5/8”-11 Thread Grade 8 Bolt, 2” Long | 5/8” SAE Zinc-Plated Washer | 5/8”-11 Thread, Grade 8 Hex Nut
1/2”-13 Thread Grade 8 Bolt, 2” Long
(M16 x 2 Thread, 50mm Long, Class 10.9 Bolt | M16, Class 10.9 Washer | M16 x 2 Thread, Class 10.9 Nut)

For More Info www.ModTruss.com

Part #
Description

Size Weight Hole Size Recommended
Tools

MT-PA-12-12-0200-090*
12” Plate to 2” Pipe 90°

11.5” x 11.5” x 6”
(292.10mm x 292.10mm x 152.40mm)

15.15lbs
(6.87kg)

11/16” (17.46mm)
Pipe Hole - 1.5” (38.10mm)

Tool Kit 1

MT-PA-12-12-0150-090*
12” Plate to 1.5” Pipe 90°
(Scaffold Pin Compatible)

11.5” x 11.5” x 5”
(292.10mm x 292.10mm x 127.0mm)

14.50lbs
(6.58kg)

11/16” (17.46mm)
Pipe Hole - 1.5” (38.10mm)
Cross Hole - 0.5” (12.70mm)

Tool Kit 1
3/4” Combination Wrench - 
MT-TK-CW-07-0-SAE

MT-PA-06-06-0200-090
6” Plate to 2” Pipe 90°

5.5” x 5.5” x 6”
(139.70mm x 139.70mm x 152.40mm)

5.45lbs
(2.47kg)

11/16” (17.46mm)
Pipe Hole - 1.5” (38.10mm)

Tool Kit 1

MT-PA-06-06-0150-090
6” Plate to 1.5” Pipe 90°
(Scaffold Pin Compatible)

5.5” x 5.5” x 5”
(139.70mm x 139.70mm x 127.00mm)

4.75lbs
(2.15kg)

11/16” (17.46mm)
Pipe Hole - 1.5” (38.10mm)
Cross Hole - 0.5” (12.70mm)

Tool Kit 1
3/4” Combination Wrench - 
MT-TK-CW-07-0-SAE

MT-PA-12-12-0150-090

MT-PA-06-06-0150-090

MT-PA-12-12-0200-090 MT-PA-06-06-0200-090
-Fits Scaffold Pins

*Only 12” Pipe Adapters are compatible with standard Truss



U.S. Patent No. 8,418,425 & other patents pending

TM

Series | PA Pipe Adapter

 
6.

00
15

2.
40

 

 
.3

8
9.

53
 5/

8"
-1

1

 
11

.5
0

29
2.

10
 

 
11

.5
0

29
2.

10
  

2.
06

52
.3

9
 

 
3.

00
76

.2
0

 

 
6.

75
17

1.
45

 

 
5.

00
12

7.
00

 

 
.3

8
9.

53
 

 
2.

50
63

.5
0

 
5/

8"
-1

1

 
11

.5
0

29
2.

10
 

 
11

.5
0

29
2.

10
  

1.
50

38
.1

0
 

 
3.

00
76

.2
0

 

 
6.

75
17

1.
45

 

 
6.

00
15

2.
40

 

 
.3

8
9.

53
 

5/
8"

-1
1

 
5.

50
13

9.
70

 

 
5.

50
13

9.
70

 

 
2.

06
52

.3
9

 

 
3.

00
76

.2
0

  
5.

00
12

7.
00

 

 
.3

8
9.

53
 

 
2.

50
63

.5
0

 
5/

8"
-1

1

 
5.

50
13

9.
70

 

 
5.

50
13

9.
70

 

 
1.

50
38

.1
0

 

 
3.

00
76

.2
0

 

M
T-
PA

-1
2-
12
-0
20
0-
09
0

M
T-
PA

-1
2-
12
-0
15
0-
09
0

M
T-
PA

-0
6-
06
-0
20
0-
09
0

M
T-
PA

-0
6-
06
-0
15
0-
09
0

D
ES

C
RI

PT
IO

N
:

RE
VI

SIO
N:

 V
1

PA
RT

 N
UM

BE
R:

M
T-

PA
-X

X-
XX

-X
XX

X-
09

0

PI
PE

 A
D

A
PT

ER
S

PR
EC

ISI
O

N
 L

EV
EL

 : 
M

ED
 - 

±.
06

  [
1.

59
]

BR
A

C
KE

T [
 ] 

D
IM

EN
SIO

N
S 

A
RE

 IN
 M

M

9/
5/

20
18

Product Number | MT-PA-XX-XX-XXXX-090

76



U.S. Patent No. 8,418,425 & other patents pending

TR

EX

PL

JH

PA

HG

MR

AC

HW

TK

MH

FH

GL

Pipe Adapters 0º 

MT-PA-03-06-0200-000

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable

MT-PA-06-12-0200-000

Part #
Description

Size Weight Hole Size

MT-PA-06-12-0200-000
6” x 12” 0° Pipe Adapter 

11.75” x 5.5” x 2.50”
(298.45mm x 139.70mm x 63.50mm)

9.45lbs
(151.20kg)

11/16” (17.46mm)

MT-PA-03-06-0200-000
2” Pipe Adapter 0°

2.06” x 4.4” x 5.04”
(52.32mm x 111.76mm x 128.12mm)

1.60lbs
(0.73kg)

11/16” (17.46mm)
2.06” (52.32mm)

Standard Material A36 Low Carbon Steel
Standard Finish 10 - Zinc Clear

Available Finish(es) 10-12, 20-33
Recommended 

Hardware
5/8”-11 Thread Grade 8 Bolt, 2” Long | 5/8” SAE Zinc-Plated Washer | 5/8”-11 Thread, Grade 8 Hex Nut
(M16 x 2 Thread, 50mm Long, Class 10.9 Bolt | M16, Class 10.9 Washer | M16 x 2 Thread, Class 10.9 Nut)

Recommended Tools Tool Kit 1
For More Info www.ModTruss.com



U.S. Patent No. 8,418,425 & other patents pending

TM

Series | PA Pipe Adapter

2.
00

50
.8

0

 
1.

38
34

.9
3

 

 
2.

50
63

.5
0

 

 
.2

5
6.

35
 

.6
9

17
.4

6
1.

50
38

.1
0

TY
P  

4.
63

11
7.

48
 

 
2.

25
57

.1
5

 

 
11

.7
5

29
8.

45
 

 
5.

50
13

9.
70

 

 
3.

00
76

.2
0

 

.6
9

17
.4

6

 
.5

0
12

.7
0

 

3.
00

76
.2

0
TY

P

2.
06

52
.3

9

 
5.

12
13

0.
10

 

M
T-
PA

-0
3-
06
-0
20
0-
00
0

M
T-
PA

-0
6-
12
-0
20
0-
00
0

DE
SC

RI
PT

IO
N:

RE
VI

SIO
N:

 V
1

PA
RT

 N
UM

BE
R:

M
T-

PA
-X

X-
XX

-0
20

0-
00

0

ZE
RO

 D
EG

RE
E 

PI
PE

 A
DA

PT
ER

S

PR
EC

ISI
O

N 
LE

VE
L :

 M
ED

 - 
±.

06
  [

1.
59

]
BR

AC
KE

T [
 ] 

DI
M

EN
SIO

NS
 A

RE
 IN

 M
M

9/
5/

20
18

Product Number | MT-PA-XX-XX-0200-000

78



U.S. Patent No. 8,418,425 & other patents pending

TR

EX

PL

JH

PA

HG

MR

AC

HW

TK

MH

FH

GL

Square Pipe Adapter
Part Number | MT-PA-12-12-0300-SQ-090

Standard Material A36 Low Carbon Steel
Standard Finish 10 - Zinc Clear

Available Finish(es) 10-12, 20-33
Size 11.50” x 11.50" x 6.38” (292.10mm x 292.10mm x 161.93mm)

Weight 15.45lbs (247.20kg) 
Hole Size 11/16” (17.46mm)

Recommended 
Hardware

5/8”-11 Thread Grade 8 Bolt, 2” Long | 5/8” SAE Zinc-Plated Washer | 5/8”-11 Thread, Grade 8 Hex Nut
(M16 x 2 Thread, 50mm Long, Class 10.9 Bolt | M16, Class 10.9 Washer | M16 x 2 Thread, Class 10.9 Nut)

Recommended Tools Tool Kit 1
For More Info www.ModTruss.com

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable



U.S. Patent No. 8,418,425 & other patents pending

TM

Series | PA Pipe Adapter

 
3.

00
76

.2
0

 
 

1.
50

38
.1

0
 

 
.3

8
9.

53
 

 
3.

50
88

.9
0

 

5/
8"

-1
1

 
3.

13
79

.3
8

 
 

11
.5

0
29

2.
10

 

 
11

.5
0

29
2.

10
 

 
3.

00
76

.2
0

 
.6

9
17

.4
6

 
3.

00
76

.2
0

 
 

1.
13

28
.5

8
 

 
6.

38
16

1.
93

 

.6
9

17
.4

6

DE
SC

RI
PT

IO
N:

RE
VI

SIO
N:

 V
1

PA
RT

 N
UM

BE
R:

M
T-P

A-
12

-1
2-

03
00

-S
Q

-0
90

SQ
UA

RE
 TU

BE
 A

DA
PT

ER

PR
EC

ISI
O

N 
LE

VE
L :

 M
ED

 - 
±.

06
  [

1.
59

]
BR

AC
KE

T [
 ] 

DI
M

EN
SIO

NS
 A

RE
 IN

 M
M

9/
10

/2
01

8

Product Number | MT-PA-12-12-0300-SQ-090

80



HG
TM

HG | HINGES
81



HG

82



U.S. Patent No. 8,418,425 & other patents pending

TR

EX

PL

JH

PA

HG

MR

AC

HW

TK

MH

FH

GL

180º Hinge Halves

MT-HG-S-12-12-12 MT-HG-S-06-06-06

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible* Serialized & Traceable

Part #
Description

Size Weight Hole Size

MT-HG-S-12-12-12
12” 180° Hinge Half

7.5” x 12” x 11”
(190.50mm x 304.80mm x 279.40mm)

30.50lbs
(13.83kg)

11/16” (17.46mm)
1” (25.40mm)

MT-HG-S-06-06-06
6” 180° Hinge Half

5.88” x 5” x 4”
(149.35mm x 127.0mm x 101.6mm)

6.50lbs
(2.95kg)

11/16” (17.46mm)
1.03” (26.16mm)

Standard Material A36 Low Carbon Steel
Standard Finish 10 - Zinc Clear

Available Finish(es) 10-12, 20-33
Recommended 

Hardware
5/8”-11 Thread Grade 8 Bolt, 2” Long | 5/8” SAE Zinc-Plated Washer | 5/8”-11 Thread, Grade 8 Hex Nut
(M16 x 2 Thread, 50mm Long, Class 10.9 Bolt | M16, Class 10.9 Washer | M16 x 2 Thread, Class 10.9 Nut)

Recommended Tools Tool Kit 1
For More Info www.ModTruss.com

*Only 12” Hinge Half is compatible with standard Truss



U.S. Patent No. 8,418,425 & other patents pending

TM

Series | HG Hinges

 
11

.0
0

27
9.

40
 

 
12

.0
0

30
4.

80
 

 
3.

00
76

.2
0

 
 

1.
50

38
.1

0
 

 
6.

75
17

1.
45

 

 
.6

9
17

.4
6

 

 
1.

00
25

.4
0

 
 

3.
00

76
.2

0
 

 
1.

44
36

.5
1

 

 
.6

9
17

.4
6

 

 
1.

00
25

.4
0

 

 
5.

88
14

9.
23

 

 
5.

00
12

7.
00

 

 
1.

72
43

.6
6

 
 

2.
52

63
.9

0
 

 
.1

9
4.

76
 

 
.4

5
11

.5
1

 

 
4.

00
10

1.
60

 

 
.5

0
12

.7
0

  
1.

03
26

.1
6

 

 
7.

50
19

0.
50

 

 
4.

63
11

7.
48

 

 
4.

63
11

7.
48

 

 
.3

8
9.

53
 

 
.8

8
22

.2
3

 

 
3.

81
96

.8
4

 

 
.5

0
12

.7
0

 

 
1.

03
26

.1
6

 

M
T-
HG

-S
-1
2-
12
-1
2

M
T-
HG

-S
-0
6-
06
-0
6

D
ES

C
RI

PT
IO

N
:

RE
VI

SIO
N:

 V
1

PA
RT

 N
UM

BE
R:

M
T-

HG
-S

-X
X-

XX
-X

X

18
0 

HI
N

G
E 

HA
LF

PR
EC

ISI
O

N
 L

EV
EL

 : 
M

ED
 - 

±.
06

  [
1.

59
]

BR
A

C
KE

T [
 ] 

D
IM

EN
SIO

N
S 

A
RE

 IN
 M

M

8/
13

/2
01

8

Product Number | MT-HG-S-XX-XX-XX

84



U.S. Patent No. 8,418,425 & other patents pending

TR

EX

PL

JH

PA

HG

MR

AC

HW

TK

MH

FH

GL

180° Hinge Hitch Pins

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable

MT-HG-HP-06

MT-HG-HP-12

Part #
Description

Size Weight

MT-HG-S-HP-12
12” 180° Hinge Hitch Pin

3” x 14.25” x 1”
(76.20mm x 361.95mm x 25.40mm)

3.60lbs
(1.63kg)

MT-HG-S-HP-06
6” 180° Hinge Hitch Pin

3” x 8.25” x 1”
(76.20mm x 209.55mm x 25.40mm)

2.20lbs
(1.0kg)

Standard Material A36 Low Carbon Steel
Standard Finish 10 - Zinc Clear

Available Finish(es) 10-12
Hole Size 0.26” (6.50mm)

Recommended 
Hardware

Cotter Pin - MT-HW-P-CP-0448-0012-0110

Recommended Tools Rubber Mallet
For More Info www.ModTruss.com



U.S. Patent No. 8,418,425 & other patents pending

TM

Series | HG Hinges

 
14

.2
5

36
1.

95
 

1.
00

25
.4

0

 
12

.5
0

31
7.

50
 

.2
6

6.
50

 
1.

00
25

.4
0

 
1.

00
25

.4
0

 
3.

00
76

.2
0

 

M
T-
HG

-H
P-
12

 
8.

25
20

9.
55

 

1.
00

25
.4

0

 
6.

50
16

5.
10

 

.2
6

6.
50

 
1.

38
35

.0
3

 

1.
00

25
.4

0

 
3.

00
76

.2
0

 

M
T-
HG

-H
P-
06

DE
SC

RI
PT

IO
N:

RE
VI

SIO
N:

 V
1

PA
RT

 N
UM

BE
R:

M
T-H

G
-H

P-
XX

HI
TC

H 
PI

NSPR
EC

ISI
O

N 
LE

VE
L :

 M
ED

 - 
±.

06
  [

1.
59

]
BR

AC
KE

T [
 ] 

DI
M

EN
SIO

NS
 A

RE
 IN

 M
M

9/
11

/2
01

8

Product Number | MT-HG-HP-XX

86



U.S. Patent No. 8,418,425 & other patents pending

TR

EX

PL

JH

PA

HG

MR

AC

HW

TK

MH

FH

GL

180º Hinge Half Pivot Pins

MT-HG-PP-06

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable

MT-HG-PP-12

Part #
Description

Size Weight

MT-HG-S-PP-12
12” 180° Hinge Half Pivot Pin

12.25” x 1” x 0.25”
(311.15mm x 25.40mm x 6.35mm)

2.65lbs
(1.20kg)

MT-HG-S-PP-06
6” 180° Hinge Half Pivot Pin

6.5” x 1” x 0.25”
(165.10mm x 25.40mm x 6.35mm)

1.35lbs
(0.61kg)

Standard Material A36 Low Carbon Steel
Standard Finish 10 - Zinc Clear

Available Finish(es) 10-12
Hole Size 0.25” (6.35mm)

Recommended 
Hardware

Roll Pin - MT-HW-P-RP-0200-0016-0109

Recommended Tools Tool Kit 1 | Ball Peen Hammer
For More Info www.ModTruss.com



U.S. Patent No. 8,418,425 & other patents pending

TM

Series | HG Hinges

M
T-
HG

-P
P-
12

1.
00

25
.4

0

 
12

.2
5

31
1.

15
 

 
2.

00
50

.8
0

 

.2
6

6.
55

M
T-
HG

-P
P-
06

1.
00

25
.4

0

 
6.

50
16

5.
10

 

 
2.

00
50

.8
0

 

.2
6

6.
55

DE
SC

RI
PT

IO
N:

RE
VI

SIO
N:

 V
1

PA
RT

 N
UM

BE
R:

M
T-

HG
-P

P-
XX

PI
VO

T P
IN

SPR
EC

ISI
O

N 
LE

VE
L :

 M
ED

 - 
±.

06
  [

1.
59

]
BR

AC
KE

T [
 ] 

DI
M

EN
SIO

NS
 A

RE
 IN

 M
M

9/
11

/2
01

8

Product Number | MT-HG-PP-XX

88



U.S. Patent No. 8,418,425 & other patents pending

TR

EX

PL

JH

PA

HG

MR

AC

HW

TK

MH

FH

GL

180º Hinge Assemblies
Some assembly required

MT-HG-S-06-06-06-AS

Components Included
Qty. 2 -  MT-HG-S-06-06-06
Qty. 1 - MT-HG-S-PP-06
Qty. 6 - MT-HW-P-RP-0200-0016-0109

MT-HG-S-12-12-12-AS

Components Included
Qty. 2 -  MT-HG-S-12-12-12
Qty. 1 - MT-HG-S-PP-12
Qty. 6 - MT-HW-P-RP-0200-0016-0109

Part #
Description

Size Weight Recommended 
Hardware

MT-HG-S-12-12-12-AS*
12” 180° Hinge Assembly

12” x 12” x 12”
(304.80mm x 304.80mm x 304.80mm)

65.10lbs
(29.53kg)

5/8”-11 Thread Grade 8 Bolt, 2.5” Long
5/8” SAE Zinc-Plated Washer
5/8”-11 Thread, Grade 8 Hex Nut

(M16 x 2 Thread, 64mm Long, Class 10.9 Bolt
M16, Class 10.9 Washer
M16 x 2 Thread, Class 10.9 Nut)

MT-HG-S-06-06-06-AS
6” 180° Hinge Assembly

6” x 6” x 6”
(152.40mm x 152.40mm x 152.40mm)

14.50lbs
(6.58kg)

5/8”-11 Thread Grade 8 Bolt, 2” Long
5/8” SAE Zinc-Plated Washer
5/8”-11 Thread, Grade 8 Hex Nut

(M16 x 2 Thread, 50mm Long, Class 10.9 Bolt
M16, Class 10.9 Washer
M16 x 2 Thread, Class 10.9 Nut)

Standard Material A36 Low Carbon Steel
Standard Finish 10 - Zinc Clear

Available Finish(es) 10-12, 20-33
Hole Size 11/16” (17.46mm)

Recommended Tools Tool Kit 1  |  Ball Peen Hammer
For More Info www.ModTruss.com

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible* Serialized & Traceable

*Only 12” Hinge Assembly is compatible with standard Truss



U.S. Patent No. 8,418,425 & other patents pending

TM

Series | HG Hinges

M
T-
HG

-S
-1
2-
12
-1
2-
AS

HI
N

G
E 

PI
N

HI
N

G
E 

PI
N

5.
00

12
7.

00

.5
0

12
.7

0
3.

00
76

.2
0

11
.0

0
27

9.
40

.5
0

12
.7

0

6.
00

15
2.

40

12
.2

5
31

1.
15

6.
50

16
5.

10

M
T-
HG

-S
-0
6-
06
-0
6-
AS

DE
SC

RI
PT

IO
N:

RE
VI

SIO
N:

 V
1

PA
RT

 N
UM

BE
R:

M
T-

HG
-S

-X
X-

XX
-X
X-

AS

18
0 

HI
NG

E 
AS

SE
M

BL
Y

PR
EC

ISI
O

N 
LE

VE
L :

 M
ED

 - 
±.

06
  [

1.
59

]
BR

AC
KE

T [
 ] 

DI
M

EN
SIO

NS
 A

RE
 IN

 M
M

8/
13

/2
01

8

Product Number | MT-HG-S-XX-XX-XX-AS

90



U.S. Patent No. 8,418,425 & other patents pending

TR

EX

PL

JH

PA

HG

MR

AC

HW

TK

MH

FH

GL

Flat Hinges

MT-HG-F-06-06-12

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible* Serialized & Traceable

Part #
Description

Size Weight

MT-HG-F-12-12-24*
12” Flat Hinge

12.5” x 12” x 2.5”
(317.50mm x 304.80mm x 63.50mm)

27.40lbs
(12.43kg)

MT-HG-F-06-06-12  
6” Flat Hinge

6.5” x 6” x 2.5”
(165.10mm x 152.40mm x 63.50mm)

8.35lbs
(3.79kg)

Standard Material A36 Low Carbon Steel
Standard Finish 10 - Zinc Clear

Available Finish(es) 10-12, 20-33
Hole Size 11/16” (17.46mm)

Recommended 
Hardware

 5/8”-11 Thread Grade 8 Bolt, 2” Long | 5/8” SAE Zinc-Plated Washer | 5/8”-11 Thread, Grade 8 Hex Nut
(M16 x 2 Thread, 50mm Long, Class 10.9 Bolt | M16, Class 10.9 Washer | M16 x 2 Thread, Class 10.9 Nut)

Recommended Tools Tool Kit 1
For More Info www.ModTruss.com

MT-HG-F-12-12-24

*Only 12” Flush Hinge is compatible with standard Truss



U.S. Patent No. 8,418,425 & other patents pending

TM

Series | HG Hinges

 
6.

00
15

2.
40

 

 
3.

00
76

.2
0

 

 
3.

00
76

.2
0

 

 
12

.0
0

30
4.

80
 

 
1.

50
38

.1
0

 
 

.6
9

17
.4

6
 

 
6.

00
15

2.
40

 

 
.2

5
6.

35
 

 
7.

25
18

4.
15

 

 
1.

75
44

.4
5

 

 
24

.0
0

60
9.

60
 

 
12

.0
0

30
4.

80
 

 
3.

00
76

.2
0

 
 

1.
50

38
.1

0
 

 
6.

75
17

1.
45

 

 
3.

00
76

.2
0

 

 
.6

9
17

.4
6

 

 
12

.0
0

30
4.

80
  

13
.2

5
33

6.
55

 

 
.2

5
6.

35
 

 
1.

75
44

.4
5

 

 
2.

50
63

.5
0

 

 
6.

50
16

5.
10

 

 
2.

50
63

.5
0

 

 
12

.5
0

31
7.

50
 

M
T-
HG

-F
-1
2-
12
-2
4

M
T-
HG

-F
-0
6-
06
-1
2

D
ES

C
RI

PT
IO

N
:

RE
VI

SI
O

N
: V

1

PA
RT

 N
UM

BE
R:

M
T-

HG
-F

-X
X-

XX
-X

X

FL
A

T 
HI

N
G

ESPR
EC

IS
IO

N
 L

EV
EL

 : 
M

ED
 - 

±.
06

  [
1.

59
]

BR
A

C
KE

T 
[ ]

 D
IM

EN
SI

O
N

S 
A

RE
 IN

 M
M

8/
13

/2
01

8

Product Number | MT-HG-F-XX-XX-XX

92



MR
TM

MR | MOTION & RIGGING

MR

93



MOTION & RIGGING

MR

94



U.S. Patent No. 8,418,425 & other patents pending

TR

EX

PL

JH

PA

HG

MR

AC

HW

TK

MH

FH

GL

Universal Mount Half 12” x 6” 
Part Number | MT-MR-UM-A-12-06-14-01

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable

Standard Material A36 Low Carbon Steel
Standard Finish 10 - Zinc Clear

Available Finish(es) 10-12, 20-33
Size 4.38” x 10.5" x 0.5” (111.25mm x 266.70mm x 12.70mm)

Weight 11.60lbs (5.26kg)   
Hole Size 11/16” (17.46mm) and 1.03” - Fits 1.0” Pin (26.16mm Fits 25.40mm Pin)

Recommended 
Hardware

5/8”-11 Thread Grade 8 Bolt, 2” Long | 5/8” SAE Zinc-Plated Washer | 5/8”-11 Thread, Grade 8 Hex Nut
(M16 x 2 Thread, 50mm Long, Class 10.9 Bolt | M16, Class 10.9 Washer | M16 x 2 Thread, Class 10.9 Nut)

Recommended Tools Tool Kit 1
For More Info www.ModTruss.com



U.S. Patent No. 8,418,425 & other patents pending

TM

Series | MR Motion & Rigging

 3
.0

00
 

 1
.5

00
 

 
1.

03
1 

 1
.5

00
 

 1
1.

25
0 

 3
.0

00
 

 6
.7

50
 

 3
.0

00
 

 
.6

88
 

 5
.3

75
 

 4
.6

25
 

 .5
00

 DE
SC

RI
PT

IO
N:

RE
VI

SIO
N:

 N
R

PA
RT

 N
UM

BE
R: M

T-M
R-

UM
-A

-1
2-

06
-1

4-
01

UN
IV

ER
SA

L M
O

UN
T A

NG
LE

 1
2"

x6
"

PR
EC

ISI
O

N 
LE

VE
L :

 M
ED

 - 
±.

06
  [

1.
59

]
BR

AC
KE

T [
 ] 

DI
M

EN
SIO

NS
 A

RE
 IN

 M
M

8/
24

/2
01

7

Product Number | MT-MR-UM-A-12-06-14-01

96



U.S. Patent No. 8,418,425 & other patents pending

TR

EX

PL

JH

PA

HG

MR

AC

HW

TK

MH

FH

GL

Universal Mount Biscuit - 7 Hole
Part Number | MT-MR-UM-B-07-01

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable

Standard Material A36 Low Carbon Steel
Standard Finish 10 - Zinc Clear

Available Finish(es) 10-12, 20-33
Size 3.38” x 11.5" x 0.5” (185.85mm x 292.10mm x 12.70mm)

Weight 3.75lbs (1.70kg)   
Hole Size 1” (25.40mm)

Recommended Tools Tool Kit 1
For More Info www.ModTruss.com



U.S. Patent No. 8,418,425 & other patents pending

TM

Series | MR Motion & Rigging

 
11

.5
0

29
2.

10
 

1.
03

26
.1

9

 
.5

0
12

.7
0

 

 
3.

38
85

.7
3

 

D
ES

C
RI

PT
IO

N
:

RE
LE

A
SE

D
:  

5/
7/

20
15

RE
VI

SI
O

N
: N

R

PA
RT

 N
UM

BE
R:

M
T-

M
R-

UM
-B

-0
7-

01

UN
IV

ER
SA

L 
M

O
UN

T B
IS

C
UI

T

PR
EC

IS
IO

N
 L

EV
EL

 : 
M

ED
 - 

±.
03

  [
.8

0]
BR

A
C

KE
T [

 ] 
D

IM
EN

SI
O

N
S 

A
RE

 IN
 M

M

Product Number | MT-MR-UM-B-07-01

98



U.S. Patent No. 8,418,425 & other patents pending

TR

EX

PL

JH

PA

HG

MR

AC

HW

TK

MH

FH

GL

Universal Mount Assembly
Part Number | MT-MR-UM-A-12-06-14-01-AS

Components Included
Qty. 2 -  MT-MR-UM-A-12-06-14-01
Qty. 2 - MT-MR-UM-B-07-01
Qty. 2 - MT-HW-P-AS-0300-0100-0106
Qty. 4 - MT-HW-P-CP-0448-0012-0110

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable

Standard Material A36 Low Carbon Steel
Standard Finish 10 - Zinc Clear | Pin 11 - Zinc Gold/Yellow

Available Finish(es) N/A
Size N/A - Components are multi-configurable

Weight 32.30lbs (14.65kg)   
Hole Size 11/16” (17.46mm) | 1.03” - Fits 1.0” Pin (26.162mm Fits 25.4mm Pin)

Recommended 
Hardware

5/8”-11 Thread Grade 8 Bolt, 2.5” Long | 5/8” SAE Zinc-Plated Washer | 5/8”-11 Thread, Grade 8 Hex Nut
(M16 x 2 Thread, 64mm Long, Class 10.9 Bolt | M16, Class 10.9 Washer | M16 x 2 Thread, Class 10.9 Nut)

Recommended Tools Tool Kit 1
For More Info www.ModTruss.com



U.S. Patent No. 8,418,425 & other patents pending

TM

Series | MR Motion & Rigging

(2
) 1

" D
IA

. P
IN

S
(M

T-
HW

-P
-A

S-
03

32
-0

10
0-

01
06

)

 5
/8

"-1
1 

x 
2-

1/
2"

, 
G

RA
D

E 
8 

BO
LT

5/
8"

  S
A

E 
W

A
SH

ER

5/
8"

 S
A

E 
W

A
SH

ER
5/

8"
-1

1 
G

RA
D

E 
8 

N
UT

2
1

3

12
" W

A
SH

ER
 P

LA
TE

S 
A

N
D

BO
LT

 H
A

RD
W

A
RE

 A
RE

 N
O

T
IN

C
LU

D
ED

 IN
 TH

E 
A

SS
EM

BL
YITE

M
 

N
O

.
Q

TY
PA

RT
 N

UM
BE

R
D

ES
C

RI
PT

IO
N

1
2

M
T-

M
R-

UM
-A

-1
2-

06
-

14
-0

1
UN

IV
ER

SA
L 

M
O

UN
T A

N
G

LE
 1

2"
x6

"

2
2

M
T-

UM
-B

-7
-1

UN
IV

ER
SA

L 
M

O
UN

T B
ISC

UI
T

3
2

M
T-

HW
-P

-A
S-

03
32

-
01

00
-0

10
6

PI
N

, 1
" O

.D
., 

3.
5"

 L
O

N
G

DE
SC

RI
PT

IO
N:

RE
VI

SIO
N:

 N
R

PA
RT

 N
UM

BE
R: M
T-

M
R-

UM
-A

-1
2-

06
-1

4-
01

-A
S

UN
IV

ER
SA

L M
O

UN
T A

SS
EM

BL
Y

PR
EC

ISI
O

N 
LE

VE
L :

 M
ED

 - 
±.

06
  [

1.
59

]
BR

AC
KE

T [
 ] 

D
IM

EN
SIO

NS
 A

RE
 IN

 M
M

8/
29

/2
01

7

Product Number | MT-MR-UM-A-12-06-14-01-AS

100



U.S. Patent No. 8,418,425 & other patents pending

TR

EX

PL

JH

PA

HG

MR

AC

HW

TK

MH

FH

GL

Universal Mount 2-Hole 90°
Part Number | MT-MR-UM-0250-0250-090

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable

Standard Material A36 Low Carbon Steel
Standard Finish 03 - Tumbled & De-burred

Available Finish(es) N/A
Size 2.5” x 2.5” x .25 (63.50mm x 63.50mm x 6.35m)

Weight 0.2lbs (0.09kg)   
Hole Size 11/16” (17.46mm)

Recommended 
Hardware

5/8”-11 Thread Grade 8 Bolt, 2” Long | 5/8” SAE Zinc-Plated Washer | 5/8”-11 Thread, Grade 8 Hex Nut
(M16 x 2 Thread, 50mm Long, Class 10.9 Bolt | M16, Class 10.9 Washer | M16 x 2 Thread, Class 10.9 Nut)

Recommended Tools Tool Kit 1
For More Info www.ModTruss.com



U.S. Patent No. 8,418,425 & other patents pending

TM

Series | MR Motion & Rigging

2.
50

63
.5

0

2.
50

63
.5

0

.2
5

6.
35

2.
50

63
.5

0

2.
50

63
.5

0

1.
50

38
.1

0

.6
9

17
.4

6

1.
25

31
.7

5

DE
SC

RI
PT

IO
N:

RE
VI

SIO
N:

 V
1

PA
RT

 N
UM

BE
R:

M
T-

M
R-
U
M

-0
25

0-
02

50
-0

90

2 
HO

LE
 U

NI
VE

RS
AL

 M
O

UN
T

PR
EC

ISI
O

N 
LE

VE
L :

 M
ED

 - 
±.

06
  [

1.
59

]
BR

AC
KE

T [
 ] 

DI
M

EN
SIO

NS
 A

RE
 IN

 M
M

9/
12

/2
01

8

Product Number | MT-MR-UM-0250-0250-090

102



U.S. Patent No. 8,418,425 & other patents pending

TR

EX

PL

JH

PA

HG

MR

AC

HW

TK

MH

FH

GL

Sleeve Blocks

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible* Serialized & Traceable

MT-MR-SL-18-18-12
Fits 12” x 12” TR

MT-MR-SL-18-12-12
Fits 6” x 12” TR

MT-MR-SL-12-12-12
Fits 6” x 6” TR

Part #
Description

Size Weight

MT-MR-SL-18-18-12
18” Sleeve Block

18” x 18” x 12”
(457.20mm x 457.20mm x 304.80mm)
- Fits 12” x 12” TR

83.00lbs
(37.65kg)

MT-MR-SL-18-12-12*
18” x 12” Sleeve Block

18” x 12” x 12”
(457.20mm x 457.20mm x 304.80mm)
- Fits 6” x 12” EX

76.35lbs
(34.63kg)

MT-MR-SL-12-12-12*
12” Sleeve Block

12” x 12” x 12”
(457.20mm x 457.20mm x 457.20mm)
- Fits 6” x 6” TR

59.10lbs
(26.81kg)

MT-MR-SL-06-06-12
6” Sleeve Block

6” x 6” x 12”
(152.400mm x 152.40mm x 304.80mm)
- Fits 3” x 3” TR & EX

19.30lbs
(8.75kg)

Standard Material A36 Low Carbon Steel and Nylon
Standard Finish 10 - Zinc Clear

Available Finish(es) 10-12, 20-33
Hole Size 5/8”-11 Steel Weld Nut  (No thru holes)

Recommended 
Hardware

5/8”-11 Thread Grade 8 Bolt, 2” Long
5/8” SAE Zinc-Plated Washer
5/8”-11 Thread, Grade 8 Hex Nut

Recommended Tools Tool Kit 1
For More Info www.ModTruss.com

MT-MR-SL-06-06-12
Fits 3” x 3” TR

*Compatible with standard Truss

Metric version made to order



U.S. Patent No. 8,418,425 & other patents pending

TM

Series | MR Motion & Rigging

 
6.

00
15

2.
40

 

 
6.

00
15

2.
40

 

   
3.

08
   

TY
P

[7
8.

11
]

 
12

.0
0

30
4.

80
 

 
18

.0
0

45
7.

20
 

 
6.

08
15

4.
31

 
 

7.
44

18
8.

91
 

 
12

.0
8

30
6.

71
 

3.
00

76
.2

0
TY

P

 
12

.0
0

30
4.

80
 

 
12

.0
0

30
4.

80
 

 
7.

44
18

8.
91

 
   

  6
.0

8 
  T

YP
[1

54
.3

1]

3.
00

76
.2

0
TY

P

 
18

.0
0

45
7.

20
 

 
18

.0
0

45
7.

20
 

 
13

.4
4

34
1.

31
 

12
.0

8
30

6.
71

TY
P

3.
00

76
.2

0
TY

P

 
12

.0
0

30
4.

80
 

5/
8"

-1
1 

W
EL

D
 N

UT
TY

P

 
12

.0
0

30
4.

80
 

5/
8"

-1
1 

W
EL

D
 N

UT
TY

P

 
12

.0
0

30
4.

80
 

5/
8"

-1
1 

W
EL

D
 N

UT
TY

P

 
12

.0
0

30
4.

80
 3.

00
76

.2
0

TY
P

5/
8"

-1
1 

W
EL

D
 N

UT
TY

P

M
T-
M
R-
SL
-1
8-
18
-1
2

M
T-
M
R-
SL
-1
8-
12
-1
2

M
T-
M
R-
SL
-1
2-
12
-1
2

M
T-
M
R-
SL
-0
6-
06
-1
2

D
ES

C
RI

PT
IO

N
:

RE
VI

SIO
N

: V
1

PA
RT

 N
UM

BE
R:

M
T-

M
R-

SL
-X

X-
XX

-X
X

SL
EE

VE
 B

LO
C

KS

PR
EC

IS
IO

N
 L

EV
EL

 : 
M

ED
 - 

±.
06

  [
1.

59
]

BR
A

C
KE

T [
 ] 

D
IM

EN
SI

O
N

S 
A

RE
 IN

 M
M

9/
18

/2
01

8

Product Number | MT-MR-SL-XX-XX-XX

104



U.S. Patent No. 8,418,425 & other patents pending

TR

EX

PL

JH

PA

HG

MR

AC

HW

TK

MH

FH

GL

Corner Sleeve Block 15” 
Part Number | MT-MR-SL-15-15-12-12

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable

15” x 15” x 12” Corner Sleeve Block - Fits 12” x 12” Truss
Metric version made to order

Standard Material A36 Low Carbon Steel and Nylon
Standard Finish 10 - Zinc Clear

Available Finish(es) 10-12, 20-33
Size 15” x 15" x 12” (381.0mm x 381.0mm x 304.80mm)

Weight 45.79lbs (20.76kg)*       *Not certified  
Hole Size 5/8”-11 Steel Weld Nut

Recommended 
Hardware

5/8”-11 Thread Grade 8 Bolt, 2” Long | 5/8” SAE Zinc-Plated Washer | 5/8”-11 Thread, Grade 8 Hex Nut

Recommended Tools Tool Kit 1
For More Info www.ModTruss.com



U.S. Patent No. 8,418,425 & other patents pending

TM

Series | MR Motion & Rigging

5/
8"

-1
1 

W
EL

D 
NU

T
TY

P

 38
1

15
.0

0 

 30
4.

8
12

.0
0

 

 38
1

15
.0

0 

 30
7.

02
12

.0
9

 

 30
7.

02
12

.0
9

 

 38
1

15
.0

0 

 38
1

15
.0

0 

 57
.9

4
2.

28
 

DE
SC

RI
PT

IO
N:

RE
VI

SIO
N:

 N
R

PA
RT

 N
UM

BE
R:

M
T-M

R-
SL

-1
5-

15
-1

2-
12

C
O

RN
ER

 S
LE

EV
E 

BL
O

C
K,

 1
5"

 x 
15

" 
x 1

2"

PR
EC

ISI
O

N 
LE

VE
L :

 M
ED

 - 
±.

06
  [

1.
59

]
BR

AC
KE

T [
 ] 

DI
M

EN
SIO

NS
 A

RE
 IN

 M
M

9/
18

/2
01

8

Product Number | MT-MR-SL-15-15-12-12

106



U.S. Patent No. 8,418,425 & other patents pending

TR

EX

PL

JH

PA

HG

MR

AC

HW

TK

MH

FH

GL

Telescopic Tubes (Tube Only)

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable

Part #
Description

Size Weight

MT-MR-TT-TT-1200-1200-4800  
48” Telescopic Tube (Tube Only)

11.5” x 11.5” x 48”
(292.10mm x 292.10mm x 1219.20mm)

32.42lbs
(14.70kg)* Not Certified

MT-MR-TT-TT-1200-1200-7200  
72” Telescopic Tube (Tube Only)

11.5” x 11.5” x 72”
(292.10mm x 292.10mm x 1828.80mm)

45.22lbs
(20.51kg)* Not Certified

Standard Material A36 Low Carbon Steel
Standard Finish 10 - Zinc Clear

Available Finish(es) 10-12, 20-33
Hole Size 11/16” (17.46mm) | 1.03” (26.19mm) | 2.25 (57.15mm)

Recommended 
Hardware

 5/8”-11 Thread Grade 8 Bolt, 2.5” Long | 5/8” SAE Zinc-Plated Washer | 5/8”-11 Thread, Grade 8 Hex Nut
(M16 x 2 Thread, 64mm Long, Class 10.9 Bolt | M16, Class 10.9 Washer | M16 x 2 Thread, Class 10.9 Nut)

Recommended Tools Tool Kit 1
For More Info www.ModTruss.com

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable

Bushing Block
Part Number | MT-MR-TT-BB-1016-0500-0132

Standard Material UHMW (Ultra High Molecular Weight Polyethylene)
Standard Finish 02 - No Finish

Available Finish(es) N/A
Size 5” x 1.5" x 10.25” (127.0mm x 38.10mm x 260.35mm)

Weight 2.40lbs (1.09kg)
Hole Size 11/16” (17.46mm)

Recommended 
Hardware

5/8”-11 Thread Grade 8 Bolt, 4” Long
5/8” SAE Zinc-Plated Washer
5/8”-11 Thread, Grade 8 Hex Nut

(M16 x 2 Thread, 101.6mm Long, Class 10.9 Bolt
M16, Class 10.9 Washer
M16 x 2 Thread, Class 10.9 Nut)

Recommended Tools Tool Kit 1
For More Info www.ModTruss.com



U.S. Patent No. 8,418,425 & other patents pending

TM

Series | MR Motion & Rigging

BO
TT

O
M

 P
LA

TE

3.
00

76
.2

0

1.
02

25
.7

83.
00

76
.2

0

2.
50

63
.5

0

2.
25

57
.1

5

.5
0

12
.7

0
3.

00
76

.2
0

6.
63

16
8.

28

3.
00

76
.2

0

.5
0

12
.7

0

1.
03

26
.1

9

BO
TT

O
M

 P
LA

TE
(D

ET
A

IL)

11
.5

0
29

2.
10

11
.5

0
29

2.
10

.7
5

19
.0

5

10
.2

5
26

0.
35

5.
00

12
7.

00

R3
.3

1
84

.1
4

1.
50

38
.1

0

TT
 B

US
HI

N
G

 B
LO

C
K

M
T-
M
R-
TT
-B
B-
10
25
-0
50
0-
01
50

LE
N

G
TH

PA
RT

 N
UM

BE
R

36
"

M
T-

M
R-

TT
-T

T-
12

00
-1

20
0-

03
6

48
"

M
T-

M
R-

TT
-T

T-
12

00
-1

20
0-

04
8

60
"

M
T-

M
R-

TT
-T

T-
12

00
-1

20
0-

06
0

72
"

M
T-

M
R-

TT
-T

T-
12

00
-1

20
0-

07
2

84
"

M
T-

M
R-

TT
-T

T-
12

00
-1

20
0-

08
4

96
"

M
T-

M
R-

TT
-T

T-
12

00
-1

20
0-

09
6

10
8"

M
T-

M
R-

TT
-T

T-
12

00
-1

20
0-

10
8

12
0"

M
T-

M
R-

TT
-T

T-
12

00
-1

20
0-

12
0

D
ES

C
RI

PT
IO

N
:

RE
VI

SIO
N

: V
1

PA
RT

 N
UM

BE
R: M

T-
M

R-
TT

-T
T-

12
00

-1
20

0-
XX

X

TE
LE

SC
O

PI
C

 TU
BE

PR
EC

ISI
O

N
 L

EV
EL

 : 
M

ED
 - 

±.
06

  [
1.

59
]

BR
A

C
KE

T [
 ] 

D
IM

EN
SIO

N
S 

A
RE

 IN
 M

M

9/
18

/2
01

8

Product Number | MT-MR-TT-TT-1200-1200-XXXX

108



U.S. Patent No. 8,418,425 & other patents pending

TR

EX

PL

JH

PA

HG

MR

AC

HW

TK

MH

FH

GL

Axle Mount Flush Halves (Pin and Sheave Not Included)

MT-MR-AX-FL-06-H

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible* Serialized & Traceable

Part #
Description

Size Weight Hole Size Recommended 
Hardware

MT-MR-AX-FL-12-H*
12” Flush Axle Mount Half

10.5” x 5.13” x 2.38”
(273mm x 130mm x 60mm)

5.85lbs
(2.65kg)

11/16” (17.46mm)
1” (25.40mm)

5/8”-11 Thread Grade 8 Bolt, 2.5” Long
5/8” SAE Zinc-Plated Washer
5/8”-11 Thread, Grade 8 Hex Nut

(M16 x 2 Thread, 64mm Long, Class 10.9 Bolt
M16, Class 10.9 Washer
M16 x 2 Thread, Class 10.9 Nut)

MT-MR-AX-FL-06-H 
6” Flush Axle Mount Half

6.5” x 6” x 2.5”
(165.10mm x 152.40mm x 

63.50mm)

0.85lbs
(0.39kg)

11/16” (17.46mm)
5/8” (15.87mm)

5/8”-11 Thread Grade 8 Bolt, 2” Long
5/8” SAE Zinc-Plated Washer
5/8”-11 Thread, Grade 8 Hex Nut

(M16 x 2 Thread, 50mm Long, Class 10.9 Bolt
M16, Class 10.9 Washer
M16 x 2 Thread, Class 10.9 Nut)

Standard Material A36 Low Carbon Steel
Standard Finish 10 - Zinc Clear

Available Finish(es) 10-12, 20-33
Recommended Tools Tool Kit 1

For More Info www.ModTruss.com

MT-MR-AX-FL-12-H

*Only 12” Flush Axle Mount Half is compatible with standard Truss



U.S. Patent No. 8,418,425 & other patents pending

TM

Series | MR Motion & Rigging

 
10

.7
5

27
3.

05
 

 
3.

00
76

.2
0

 

 
3.

00
76

.2
0

 

 
6.

88
17

4.
63

 

 
5.

13
13

0.
18

 

 
.5

0
12

.7
0

 

 
6.

75
17

1.
45

 

M
T-
M
R-
AX

-F
L-
12
-H

 
5.

38
13

6.
53

 

 
3.

69
93

.6
6

 

 
2.

56
65

.0
9

 
 

.2
5

6.
35

 

 
3.

00
76

.2
0

 

M
T-
M
R-
AX

-F
L-
06
-H

 
.5

0
12

.7
0

 

 
1.

03
26

.1
9

 
 

5.
38

13
6.

53
 

 
1.

31
33

.3
4

 
 

5.
13

13
0.

18
 

 
.2

5
6.

35
 

 
.6

3
15

.9
5

 
 

2.
69

68
.2

6
 

 
.6

9
17

.4
6

 
 

1.
94

49
.2

1
 

D
ES

C
RI

PT
IO

N
:

RE
VI

SIO
N:

 V
1

PA
RT

 N
UM

BE
R:

M
T-

M
R-

A
X-

FL
-X

X-
H

A
XL

E 
M

O
UN

T H
A

LF

PR
EC

ISI
O

N
 LE

VE
L :

 M
ED

 - 
±.

06
  [

1.
59

]
BR

A
C

KE
T [

 ] 
D

IM
EN

SIO
N

S 
A

RE
 IN

 M
M

9/
10

/2
01

8

Product Number | MT-MR-AX-FL-XX-H

110



U.S. Patent No. 8,418,425 & other patents pending

TR

EX

PL

JH

PA

HG

MR

AC

HW

TK

MH

FH

GL

Axle Mount Flush Assemblies

MT-MR-AX-FL-06-AS

MT-MR-AX-FL-12-AS

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible* Serialized & Traceable

Part #
Description

Size Weight Hole Size Recommended 
Hardware

MT-MR-AX-FL-12-AS*
12” Flush Axle Mount Assembly

10.75” x 10.75” x 2.38”
(273.05mm x 273.05mm x 60mm)

13.45lbs
(6.10kg)**

**Not Certified

11/16” (17.46mm)
1” (25.40mm)

5/8”-11 Thread Grade 8 Bolt, 2.5” Long
5/8” SAE Zinc-Plated Washer
5/8”-11 Thread, Grade 8 Hex Nut

(M16 x 2 Thread, 64mm Long, Class 10.9 Bolt
M16, Class 10.9 Washer
M16 x 2 Thread, Class 10.9 Nut)

MT-MR-AX-FL-06-AS 
6” Flush Axle Mount Assembly

5.25” x 5.38” x 1.28”
(133mm x 137mm x 33mm)

1.90lbs
(0.86kg)**

**Not Certified

11/16” (17.46mm)
5/8” (15.87mm)

5/8”-11 Thread Grade 8 Bolt, 2” Long
5/8” SAE Zinc-Plated Washer
5/8”-11 Thread, Grade 8 Hex Nut

(M16 x 2 Thread, 50mm Long, Class 10.9 Bolt
M16, Class 10.9 Washer
M16 x 2 Thread, Class 10.9 Nut)

Standard Material A36 Low Carbon Steel
Standard Finish 10 - Zinc Clear

Available Finish(es) 10-12, 20-33
Recommended Tools Tool Kit 1

For More Info www.ModTruss.com

*Only 12” Flush Axel Mount Assembly is compatible with standard Truss



U.S. Patent No. 8,418,425 & other patents pending

TM

Series | MR Motion & Rigging

 
5.

25
13

3.
35

 

 
5.

38
13

6.
53

 

 
3.

00
76

.2
0

 

 
1.

38
34

.9
3

 

 
3.

69
93

.6
6

 

1

2

3

 
10

.7
5

27
3.

05
 

 
10

.7
5

27
3.

05
 

 
4.

75
12

0.
65

 
 

3.
00

76
.2

0
 

 
3.

00
76

.2
0

 

 
6.

88
17

4.
63

 

1 3

2

M
T-
M
R-
AX

-F
L-
12
-A
S

M
T-
M
R-
AX

-F
L-
06
-A
S

ITE
M

 N
O

.
PA

RT
 N

UM
BE

R
D

ES
C

RI
PT

IO
N

Q
TY

.

1
M

T-
M

R-
A

X-
FL

-1
2-

H
12

" F
LU

SH
 M

O
UN

T A
XL

E 
HA

LF
2

2
M

T-
HW

-C
P-

HP
-0

35
0-

00
11

-0
01

0
C

O
TT

ER
 P

IN
 7

/8
-1

 IN
 D

IA
. S

HA
FT

2

3
M

T-
HW

-S
H-

A
X-

06
32

-
01

00
-0

01
0

1"
 D

IA
M

ET
ER

 A
XL

E 
PI

N
 6

-1
/2

" U
SA

BL
E 

LE
N

G
TH

1

ITE
M

 N
O

.
PA

RT
 N

UM
BE

R
D

ES
C

RI
PT

IO
N

Q
TY

.

1
M

T-
M

R-
A

X-
FL

-0
6-

H
6"

 F
LU

SH
 M

O
UN

T A
XL

E 
HA

LF
2

2
M

T-
HW

-C
P-

HP
-0

23
2-

00
08

-0
01

0
C

O
TT

ER
 P

IN
 5

/8
"-7

/8
" D

IA
. S

HA
FT

2

3
M

T-
HW

-S
H-

A
X-

02
16

-
00

40
-0

01
0

5/
8"

 D
IA

M
ET

ER
 A

XL
E 

PI
N

 2
-1

/4
" 

US
A

BL
E 

LE
N

G
TH

1

D
ES

C
RI

PT
IO

N
:

RE
VI

SIO
N

: V
1

PA
RT

 N
UM

BE
R:

M
T-

M
R-

A
X-

FL
-X

X-
A

S

A
XL

E 
M

O
UN

T

PR
EC

ISI
O

N
 L

EV
EL

 : 
M

ED
 - 

±.
06

  [
1.

59
]

BR
A

C
KE

T [
 ] 

D
IM

EN
SIO

N
S 

A
RE

 IN
 M

M

9/
10

/2
01

8

Product Number | MT-MR-AX-FL-XXX-AS

112



U.S. Patent No. 8,418,425 & other patents pending

TR

EX

PL

JH

PA

HG

MR

AC

HW

TK

MH

FH

GL

12” Head Block
Part Number | MT-MR-HB-12

Standard Material 5052-H32 Aluminum
Standard Finish 03 - Tumbled & De-burred 

Available Finish(es) 10-12, 20-33
Size 17.75” x 11.75" x 8.75” (450.85mm x 298.45mm x 222.25mm)

Weight 30.60lbs (13.88kg) w/ Hardware  |  22.40lbs (10.16kg) w/o Hardware
Hole Size 11/16” (17.46mm)

Recommended 
Hardware

5/8”-11 Thread Grade 8 Bolt, 2” Long | 5/8” SAE Zinc-Plated Washer | 5/8”-11 Thread, Grade 8 Hex Nut
(M16 x 2 Thread, 50mm Long, Class 10.9 Bolt | M16, Class 10.9 Washer | M16 x 2 Thread, Class 10.9 Nut)

Recommended Tools Tool Kit 1
For More Info www.ModTruss.com

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable



U.S. Patent No. 8,418,425 & other patents pending

TM

Series | MR Motion & Rigging
Product Number | MT-MR-HB-12

 
8.

75
22

2.
25

 

5.
50

13
9.

70

1.
00

25
.4

0

.6
9

17
.4

6 .5
0

12
.7

0

.2
5

6.
35

 
1.

50
38

.1
0

 
 

1.
38

34
.9

3
 

 
1.

38
34

.9
3

 

R.
50

12
.7

0

 
17

.7
5

45
0.

85
 

 
11

.7
5

29
8.

45
 

 
8.

25
20

9.
55

 

 
2.

00
50

.8
0

 

 
3.

00
76

.2
0

  
11

.7
5

29
8.

45
 

 
8.

75
22

2.
25

 

 
.5

0
12

.7
0

 

DE
SC

RI
PT

IO
N:

RE
VI

SIO
N:

 V
1

PA
RT

 N
UM

BE
R:

M
T-

M
R-

HB
-1

2

12
" H

EA
D 

BL
O

C
K

PR
EC

ISI
O

N 
LE

VE
L :

 M
ED

 - 
±.

06
  [

1.
59

]
BR

AC
KE

T [
 ] 

DI
M

EN
SIO

NS
 A

RE
 IN

 M
M

9/
10

/2
01

8

114



U.S. Patent No. 8,418,425 & other patents pending

TR

EX

PL

JH

PA

HG

MR

AC

HW

TK

MH

FH

GL

Standard Material 5052-H32 Aluminum
Standard Finish 03 - Tumbled & De-burred 

Available Finish(es) 10-12, 20-33
Size 9.75” x 12" x 2.79” (247.65mm x 304.80mm x 70.74mm)

Weight 7.9lbs (3.58kg) 
Hole Size 11/16” (17.46mm)

Recommended 
Hardware

1/2”-13 x 1” Taper Head Socket Cap Screw

Recommended Tools Tool Kit 1 | 6 Hex Key Wrench Cluster - MT-TK-HX-00-0-SAE
For More Info www.ModTruss.com

3” Head Block
Part Number | MT-MR-HB-03

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable



U.S. Patent No. 8,418,425 & other patents pending

TM

Series | MR Motion & Rigging

 
12

.0
0

30
4.

80
 

 
9.

75
24

7.
65

 

 
5.

88
14

9.
23

 
 

3.
00

76
.2

0
  

1.
25

31
.7

5
 

 
2.

50
63

.5
0

 

 
2.

29
58

.0
4

 
 

2.
79

70
.7

4
 

3.
00

76
.2

0

 
2.

79
70

.7
4

 

D
ES

C
RI

PT
IO

N
:

RE
VI

SIO
N

: V
1

PA
RT

 N
UM

BE
R:

M
T-

M
R-

HB
-0

3

3"
 H

EA
D

 B
LO

C
K

PR
EC

IS
IO

N
 L

EV
EL

 : 
M

ED
 - 

±.
06

  [
1.

59
]

BR
A

C
KE

T [
 ] 

D
IM

EN
SI

O
N

S 
A

RE
 IN

 M
M

9/
10

/2
01

8

Product Number | MT-MR-HB-03

116



U.S. Patent No. 8,418,425 & other patents pending

TR

EX

PL

JH

PA

HG

MR

AC

HW

TK

MH

FH

GL

Steel Rigging Mounts

MT-MR-FLT-06-06-0050-0127

MT-MR-TEE-06-06-0350-0100

MT-MR-FLT-06-16-0050-0100

Standard Material A36 Low Carbon Steel
Standard Finish 10 - Zinc Clear

Available Finish(es) 10-12, 20-33
Recommended Tools Tool Kit 1

For More Info www.ModTruss.com

Part #
Description

Size Weight Hole Size Recommended 
Hardware

MT-MR-TEE-06-06-0350-0100
6” 3-Hole Slotted Rigging Mount

6” x 6” x .50”
(152.40mm x 152.40mm x 12.70mm)

6.85lbs
(3.11kg)

11/16” (17.46mm) 5/8”-11 Thread Grade 8 Bolt
5/8” SAE Zinc-Plated Washer
5/8”-11 Thread, Grade 8 Hex Nut

(M16 x 2 Thread, Class 10.9 Bolt
M16, Class 10.9 Washer
M16 x 2 Thread, Class 10.9 Nut)

MT-MR-FLT-06-16-0050-0100
6” x 16” Shackle Rigging Plate

16” x 6” x .50”
(406.40mm x 152.40mm x 12.70mm)

10.8lbs
(4.90kg)

11/16” (17.46mm)
1” (25.40mm)

5/8”-11 Thread Grade 8 Bolt
5/8” SAE Zinc-Plated Washer
5/8”-11 Thread, Grade 8 Hex Nut

(M16 x 2 Thread, Class 10.9 Bolt
M16, Class 10.9 Washer
M16 x 2 Thread, Class 10.9 Nut)

MT-MR-FLT-06-06-0050-0127
6” Countersunk Rigging Plate

5.88” x 5.88” x .50”
(149.23mm x 149.23mm x 12.70mm)

4.30lbs
(1.95kg)

11/16” (17.46mm) 5/8”-11 Thread Grade 8 Bolt
5/8” SAE Zinc-Plated Washer
5/8”-11 Thread, Grade 8 Hex Nut

(M16 x 2 Thread, Class 10.9 Bolt
M16, Class 10.9 Washer
M16 x 2 Thread, Class 10.9 Nut)

MT-HW-NT-09-0109-128-0000-0000

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable



U.S. Patent No. 8,418,425 & other patents pending

TM

Series | MR Motion & Rigging

6.
50

16
5.

10

3.
50

88
.9

0

.5
0

12
.7

0

6.
00

15
2.

40
R1

.5
0

38
.1

0

1.
00

25
.4

0
 3

X

1.
50

38
.1

0

5.
88

14
9.

23

5.
88

14
9.

23

.6
9

17
.4

6
 4

X

R.
50

12
.7

0
 TY

P

3X
 

 .6
6 

 1
.0

0
 1

.2
7 

X 
10

0°

3.
00

76
.2

0
 TY

P1.
44

36
.5

1

1.
50

38
.1

0
 TY

P
1.

50
38

.1
0

 TY
P1.

50
38

.1
0

1.
50

38
.1

0
 TY

P

.6
9

17
.4

6
 TY

P

1.
00

25
.4

0
R1

.5
0

38
.1

0

6.
00

15
2.

40

5.
00

12
7.

00

6.
00

15
2.

40

6.
50

16
5.

10

R.
75

19
.0

5
 TY

P

3.
00

76
.2

0

3.
75

95
.2

5
2.

25
57

.1
5

1.
50

38
.1

0

.5
0

12
.7

0

.5
0

12
.7

0

16
.0

0
40

6.
40

M
T-
M
R-
TE
E-
06
-0
6-
03
50
-0
10
0

M
T-
M
R-
FL
T-
06
-0
6-
00
50
-0
12
7

M
T-
M
R-
FL
T-
06
-1
6-
00
50
-0
10
0

D
ES

C
RI

PT
IO

N
:

RE
VI

SIO
N

: V
1

PA
RT

 N
UM

BE
R: M

T-
M
R-

XX
X-

XX
-X

X-
XX

XX
-X
XX

X

RI
G

G
IN

G
 M

O
UN

TS

PR
EC

ISI
O

N
 L

EV
EL

 : 
M

ED
 - 

±.
06

  [
1.

59
]

BR
A

C
KE

T [
 ] 

D
IM

EN
SI

O
N

S 
A

RE
 IN

 M
M

8/
18

/2
01

8

Product Number | MT-MR-XXX-XX-XX-XXXX-XXXX

118



U.S. Patent No. 8,418,425 & other patents pending

TR

EX

PL

JH

PA

HG

MR

AC

HW

TK

MH

FH

GL
Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable

Slotted Rigging 12” Plate
Part Number | MT-PL-A-TR-VW-1132-1132-090

Standard Material A36 Low Carbon Steel
Standard Finish 10 - Zinc Clear

Available Finish(es) 10-12, 20-32
Size 11.5” x 11.5" x 0.50” (292.10mm x 292.10mm x 12.70mm)

Weight 16.95lbs (7.68kg)
Hole Size 11/16” (17.46mm)

Recommended 
Hardware

5/8”-11 Thread Grade 8 Bolt, 3” Long | 5/8” SAE Zinc-Plated Washer | 5/8”-11 Thread, Grade 8 Hex Nut
(M18 x 2 Thread, 76mm Long, Class 10.9 Bolt | M18, Class 10.9 Washer | M18 x 2 Thread, Class 10.9 Nut)

Recommended Tools ModTruss Tool Kit 1
Associated Products 12” TR ModTrussTM Series  |  5/8-11 Swivel Hoist Ring - Male MT-HW-BT-LHS-ALN-04-00-0109-128-0100

12” X 12” X 1/2” Aluminum Spacer Plate - MT-PL-E-12-12-0032-AL

For More Info www.ModTruss.com



U.S. Patent No. 8,418,425 & other patents pending

TM

Series | MR Motion & Rigging

 4
.3

8 

 .6
3 

 3
.0

0 

 3
.0

0 

 1
.2

5 

 6
.7

5 

 1
1.

50
 

 .5
0 

 1
1.

50
 

DE
SC

RI
PT

IO
N:

RE
VI

SIO
N:

 N
R

PA
RT

 N
UM

BE
R:

M
T-P

L-
A-

TR
-V

W
-1

13
2-

11
32

-0
90

12
" S

LO
TT

ED
 R

IG
G

IN
G

 P
LA

TE

PR
EC

ISI
O

N 
LE

VE
L :

 M
ED

 - 
±.

06
  [

1.
59

]
BR

AC
KE

T [
 ] 

DI
M

EN
SIO

NS
 A

RE
 IN

 M
M

2/
14

/2
01

8

Product Number | MT-PL-A-TR-VW-1132-1132-090

120



U.S. Patent No. 8,418,425 & other patents pending

TR

EX

PL

JH

PA

HG

MR

AC

HW

TK

MH

FH

GL

Flip Down Caster
Part Number | MT-MR-CM-1202-08

Standard Material A36 Low Carbon Steel
Standard Finish 28 - Gloss Yellow

Available Finish(es) 10-12, 20-33
Size 12.75” x 14.75" x 7.50” (323.85mm x 374.65mm x 190.50mm)

Weight 18.30lbs (8.300kg)*           *Weight for Caster plate - doesn’t include caster
Hole Size 11/16” (17.46mm)

Recommended 
Hardware

5/8”-11 Thread Grade 8 Bolt, 2” Long | 5/8” SAE Zinc-Plated Washer | 5/8”-11 Thread, Grade 8 Hex Nut
(M16 x 2 Thread, 50mm Long, Class 10.9 Bolt | M16, Class 10.9 Washer | M16 x 2 Thread, Class 10.9 Nut)

Recommended Tools Tool Kit 1
For More Info www.ModTruss.com

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable



U.S. Patent No. 8,418,425 & other patents pending

TM

Series | MR Motion & Rigging

2.
00

50
.8

0

5/
8"

-1
1 

BO
LT

2.
36

59
.8

2

12
.2

5
31

1.
15

12
.7

5
32

3.
85

HI
TC

H 
PI

N

4.
00

10
1.

60

14
.7

5
37

4.
65

7.
50

19
0.

50
9.

31
23

6.
54

.6
9

17
.4

6

FL
IP
PE

D
 U

P

FL
IP

PE
D

 D
O

W
N

D
ES

C
RI

PT
IO

N
:

RE
VI

SI
O

N
: V

1

PA
RT

 N
UM

BE
R:

M
T-

M
R-

C
M

-1
20

2-
08

FL
IP

 D
O

W
N

 C
A

ST
ER

PR
EC

IS
IO

N
 L

EV
EL

 : 
M

ED
 - 

±.
06

  [
1.

59
]

BR
A

C
KE

T 
[ ]

 D
IM

EN
SI

O
N

S 
A

RE
 IN

 M
M

8/
14

/2
01

8

Product Number | MT-MR-CM-1202-08

122



U.S. Patent No. 8,418,425 & other patents pending

TR

EX

PL

JH

PA

HG

MR

AC

HW

TK

MH

FH

GL

Heavy Duty Caster with Internal Jack
Part Number | MT-MR-CM-CW-1950-1500-AS

Wheel Load Capacity 16,000lbs

Jack Load Capacity 12,000lbs

Standard Material A36 Low Carbon Steel
Standard Finish 28 - Gloss Yellow

Available Finish(es) 10-12, 20-33
Size 19.50” x 19.50" x 30.0” (495.30mm x 495.30mm x 762.00mm)

Weight 351lbs (159.21kg)*           *Not Certified
Hole Size 11/16” (17.46mm)

Recommended 
Hardware

5/8”-11 Thread Grade 8 Bolt, 2” Long | 5/8” SAE Zinc-Plated Washer | 5/8”-11 Thread, Grade 8 Hex Nut
(M16 x 2 Thread, 50mm Long, Class 10.9 Bolt | M16, Class 10.9 Washer | M16 x 2 Thread, Class 10.9 Nut)

Recommended Tools Tool Kit 1
For More Info www.ModTruss.com

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable



U.S. Patent No. 8,418,425 & other patents pending

TM

Series | MR Motion & Rigging
Product Number | MT-MR-CM-CW-1950-1500-AS

30
.0

0
76

2.
00

12
.0

0
30

4.
80

12
.0

0
30

4.
80

13
.5

[3
42

.9
0]

3.
00

[7
6.

20
]

3.
00

76
.2

0
 T

YP
1.

50
38

.1
0

 T
YP

.6
9

17
.4

6
 T

YP

12
.0

0
30

4.
80

7.
00

17
7.

80

15
.0

0
38

1.
00

19
.5

0
49

5.
30

19
.5

0
49

5.
30

17
.0

0
43

1.
80

D
ES

C
RI

PT
IO

N
:

RE
V

IS
IO

N
: V

1

PA
RT

 N
UM

BE
R:

M
T-

M
T-

C
M

-C
W

-1
95

0-
15

00
-A

S

H
D

 C
a

st
e

r w
ith

 In
te

rn
a

l J
a

c
k

PR
EC

IS
IO

N
 L

EV
EL

 : 
M

ED
 - 

±.
06

  [
1.

59
]

BR
A

C
KE

T 
[ ]

 D
IM

EN
SI

O
N

S 
A

RE
 IN

 M
M

12
/7

/2
01

8

124



U.S. Patent No. 8,418,425 & other patents pending

TR

EX

PL

JH

PA

HG

MR

AC

HW

TK

MH

FH

GL

3” Mini Tower Base
Part Number | MT-MR-03-03-TW-WN-5600-5600-036

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable

Standard Material A36 Low Carbon Steel
Standard Finish 20 - Black

Available Finish(es) N/A
Size N/A - Components are multi-configurable

Weight 130lbs (61.24kg)*   Weight May Vary
Hole Size 11/16” (17.46mm)

Recommended 
Hardware

5/8”-11 Thread Grade 8 Bolt, 2.5” Long | 5/8” SAE Zinc-Plated Washer | 5/8”-11 Thread, Grade 8 Hex Nut
(M16 x 2 Thread, 64mm Long, Class 10.9 Bolt | M16, Class 10.9 Washer | M16 x 2 Thread, Class 10.9 Nut)

Recommended Tools Tool Kit 1
Associated Products MT-MR-SL-06-12-03

For More Info www.ModTruss.com



U.S. Patent No. 8,418,425 & other patents pending

TM

Series | MR Motion & Rigging

 
37

5
14

.7
5 

 
12

19
48

.0
0

 

RE
M

O
V

E 
LA

RG
E 

PI
N

 T
O

 F
O

LD
 

LE
G

S 
D

O
W

N

 
14

41
56

.7
5

 

TU
RN

 T
HE

  L
EV

EL
IN

G
 A

RM
 C

LO
C

KW
IS

E 
TO

 L
EN

G
TH

EN
 A

RM
 A

N
D

 R
EL

A
C

E 
LA

RG
E 

PI
N

A
D

JU
ST

 L
EV

EL
IN

G
 A

RM
 L

EN
G

TH
 

UN
TIL

 L
EV

EL

D
ES

C
RI

PT
IO

N
:

RE
VI

SI
O

N
: N

R

PA
RT

 N
UM

BE
R: M
T-

A
S-

03
-0

3-
TW

-W
N

-5
60

0-
56

00
-0

36

3"
 M

in
i T

ow
er

 B
as

e

11
/8

/2
01

7

PR
EC

IS
IO

N
 L

EV
EL

 : 
M

ED
 - 

±.
03

  [
.8

0]
BR

A
C

KE
T 

[ ]
 D

IM
EN

SI
O

N
S 

A
RE

 IN
 M

M

Product Number | MT-MR-03-03-TW-WN-5600-5600-036

126



U.S. Patent No. 8,418,425 & other patents pending

TR

EX

PL

JH

PA

HG

MR

AC

HW

TK

MH

FH

GL

Internal Jack
Part Number | MT-MR-JA-8K-2400-0300-0250

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable

Standard Material A36 Low Carbon Steel
Standard Finish 81 - Spray Semi Gloss Black

Available Finish(es) 80-86
Size 2.88” x 22.38" x 2.88” (73.03mm x 568.33mm x 73.03mm)

Weight 23.35lbs (10.59kg) 
Hole Size 5/8”-11 Weld Nut

Recommended 
Hardware

5/8”-11 Thread Grade 8 Bolt, 2” Long | 5/8” SAE Zinc-Plated Washer | 5/8”-11 Thread, Grade 8 Hex Nut
(M16 x 2 Thread, 50mm Long, Class 10.9 Bolt | M16, Class 10.9 Washer | M16 x 2 Thread, Class 10.9 Nut)

Recommended Tools Tool Kit 1
For More Info www.ModTruss.com

Internal Jack Mounting Plate
Part Number | MT-MR-JA-PL-1150-0350-0425

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable

Standard Material A36 Low Carbon Steel
Standard Finish 10 - Zinc Clear

Available Finish(es) 10-12, 20-33
Size 3.5” x 4.25" x 11.41” (88.90mm x 107.95mm x 289.72mm)

Weight 4.95lbs (2.25kg) 
Hole Size 11/16” (17.46mm)

Recommended 
Hardware

5/8”-11 Thread Grade 8 Bolt, 2” Long | 5/8” SAE Zinc-Plated Washer | 5/8”-11 Thread, Grade 8 Hex Nut
(M16 x 2 Thread, 50mm Long, Class 10.9 Bolt | M16, Class 10.9 Washer | M16 x 2 Thread, Class 10.9 Nut)

Recommended Tools Tool Kit 1
For More Info www.ModTruss.com



U.S. Patent No. 8,418,425 & other patents pending

TM

Series | MR Motion & Rigging

 
4.

25
10

7.
95

 

 
.6

9
17

.4
6

 

 
1.

50
38

.1
0

 

 
3.

00
76

.2
0

 

 
11

.4
1

28
9.

72
 

 
10

.6
6

27
0.

67
 

 
3.

50
88

.9
0

 

 
3.

00
76

.2
0

 

 
.6

9
17

.4
6

 

 
3.

00
76

.2
0

  
19

.3
8

49
2.

13
 

 
2.

50
63

.5
0

 

5/
8"

-1
1 

W
EL

D
 N

UT

1.
50

[3
8.

10
]

TY
P

 
2.

19
55

.5
6

 
.6

3
15

.8
8

 
22

.3
8

56
8.

33
 

 
2.

88
73

.0
3

 
 

2.
88

73
.0

3
 

M
T-
M
R-
JA

-8
K-
24
00
-0
30
0-
02
50

M
T-
M
R-
JA

-P
L-
11
50
-0
35
0-
04
25

D
ES

C
RI

PT
IO

N
:

RE
VI

SI
O

N
: V

1

PA
RT

 N
UM

BE
R: M
T-

M
R-

JA
-X

X-
XX

XX
-X

XX
X-

XX
XX

JA
C

K 
A

N
D

 IN
TE

RN
A

L 
M

O
UN

TIN
G

 P
LA

TE

PR
EC

IS
IO

N
 L

EV
EL

 : 
M

ED
 - 

±.
06

  [
1.

59
]

BR
A

C
KE

T 
[ ]

 D
IM

EN
SI

O
N

S 
A

RE
 IN

 M
M

9/
11

/2
01

8

Product Number | MT-MR-JA-XX-XXXX-XXXX-XXXX

128



AC
TM

AC | ACCESS

ACCESS

129



AC

130



U.S. Patent No. 8,418,425 & other patents pending

TR

EX

PL

JH

PA

HG

MR

AC

HW

TK

MH

FH

GL

Stair Tread 48” Wide
Part Number | MT-AC-ST-TR-48-30

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable

Standard Material 5052-H32 Aluminum Diamond Plate
Standard Finish 02 - No Finish

Available Finish(es) N/A
Size 5.79” x 48" x 11.81” (146.95mm x 1219.20mm x 299.87mm)

Weight 20.35lbs (9.23kg)
Hole Size 11/16” (17.46mm)

Recommended 
Hardware

5/8”-11 Thread Grade 8 Bolt, 2” Long | 5/8” SAE Zinc-Plated Washer | 5/8”-11 Thread, Grade 8 Hex Nut
(M16 x 2 Thread, 50mm Long, Class 10.9 Bolt | M16, Class 10.9 Washer | M16 x 2 Thread, Class 10.9 Nut)

Recommended Tools Tool Kit 1
For More Info www.ModTruss.com

Note | 30° Fixed Stair Tread



U.S. Patent No. 8,418,425 & other patents pending

TM

Series | AC Access
Product Number | MT-AC-ST-TR-48-30

132



U.S. Patent No. 8,418,425 & other patents pending

TR

EX

PL

JH

PA

HG

MR

AC

HW

TK

MH

FH

GL

Stair Stringer 24” x 30º
Part Number | MT-AC-ST-ST-24-30

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable

Standard Material A36 Low Carbon Steel
Standard Finish 10 - Zinc Clear

Available Finish(es) 10-12, 20-33
Size 6” x 23.2" x 39.82” (152.40mm x 589.28mm x 1011.43mm)

Weight 32.05lbs (14.54kg)
Hole Size 11/16” (17.46mm)

Recommended 
Hardware

5/8”-11 Thread Grade 8 Bolt, 2” Long | 5/8” SAE Zinc-Plated Washer | 5/8”-11 Thread, Grade 8 Hex Nut
(M16 x 2 Thread, 50mm Long, Class 10.9 Bolt | M16, Class 10.9 Washer | M16 x 2 Thread, Class 10.9 Nut)

Recommended Tools Tool Kit 1
For More Info www.ModTruss.com



U.S. Patent No. 8,418,425 & other patents pending

TM

Series | AC Access

 3
0.

00
° 

 
45

.5
5

11
56

.9
1

 

 
23

.2
0

58
9.

20
 

D
ES

C
RI

PT
IO

N
:

RE
VI

SIO
N

: N
R

PA
RT

 N
UM

BE
R:

M
T-

A
C

-S
T-

ST
-2

4-
30

30
D

EG
 S

TA
IR

 S
TR

IN
G

ER

PR
EC

ISI
O

N
 L

EV
EL

 : 
M

ED
 - 

±.
06

  [
1.

59
]

BR
A

C
KE

T [
 ] 

D
IM

EN
SIO

N
S 

A
RE

 IN
 M

M

9/
19

/2
01

8

Product Number | MT-AC-ST-ST-24-30

134



U.S. Patent No. 8,418,425 & other patents pending

TR

EX

PL

JH

PA

HG

MR

AC

HW

TK

MH

FH

GL

36” Adjustable Stair Assembly
Part Number | MT-AC-SA-AJ-XXX-XXX

*Call for configuration assistance

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable

Standard Material N/A
Standard Finish N/A

Available Finish(es) N/A
Size 36” (914.40mm) Wide Stair Tread, Height and Length Per Order

Weight --
Hole Size 11/16” (17.46mm)

Recommended 
Hardware

5/8”-11 Thread Grade 8 Bolt, 2.5” Long | 5/8” SAE Zinc-Plated Washer | 5/8”-11 Thread, Grade 8 Hex Nut
(M16 x 2 Thread, 64mm Long, Class 10.9 Bolt | M16, Class 10.9 Washer | M16 x 2 Thread, Class 10.9 Nut)

Recommended Tools Tool Kit 1
For More Info www.ModTruss.com



U.S. Patent No. 8,418,425 & other patents pending

TM

Series | AC Access

 3
0.

00
° 

 
15

2.
4

6.
00

 

 
91

4.
4

36
.0

0
 

 
93

9.
8

37
.0

0
 

Sw
iv

el
 C

as
te

r
w

/ B
ra

ke
s t

o 
al

lo
w

fo
r e

as
y 

m
ov

em
en

t
w

/ p
la

tfo
rm

Ha
nd

ra
il a

ut
om

at
ic

al
ly

ad
ju

st
s w

ith
 th

e 
st

ai
r

se
t

 5
0.

00
° 

 
23

3.
49

9.
19

 

42
" H

an
dr

ai
l h

ei
gh

t i
s

ke
pt

 c
on

sis
ta

nt
 th

ro
ug

ho
ut

th
e 

ra
ng

e 
of

 m
ot

io
n

RI
SE

 A
T 5

0 
D

EG
RE

E 
IN

C
LIN

E

RI
SE

 A
T 3

0 
D

EG
RE

E 
IN

C
LIN

E
DE

SC
RI

PT
IO

N:

RE
VI

SIO
N:

 N
R

PA
RT

 N
UM

BE
R:

M
T-

A
C

-S
A

-A
J-

00
0-

00
0

36
" A

D
JU

ST
AB

LE
 S

TA
IR

 A
SS

EM
BL

Y

2/
6/

20
18

BR
AC

KE
T [

 ] 
D

IM
EN

SIO
NS

 A
RE

 IN
 M

M
PR

EC
ISI

O
N 

LE
VE

L :
 M

ED
 - 

±.
03

  [
.8

0]

Product Number | MT-AC-SA-AJ-XXX-XXX

136



U.S. Patent No. 8,418,425 & other patents pending

TR

EX

PL

JH

PA

HG

MR

AC

HW

TK

MH

FH

GL

Universal Ladder Rung
Part Number | MT-AC-LR-1800-0900-0450

Standard Material A36 Low Carbon Steel
Standard Finish 10 - Zinc Clear

Available Finish(es) 10-12. 20-33
Size 18” x 9” x 4.5” (457.20mm x 228.60mm x 114.30mm)

Weight 17.10lbs (273.60kg)
Hole Size 11/16” (17.46mm)

Recommended 
Hardware

5/8”-11 Thread Grade 8 Bolt, 2” Long | 5/8” SAE Zinc-Plated Washer | 5/8”-11 Thread, Grade 8 Hex Nut
(M16 x 2 Thread, 50mm Long, Class 10.9 Bolt | M16, Class 10.9 Washer | M16 x 2 Thread, Class 10.9 Nut)

Recommended Tools Tool Kit 1
For More Info www.ModTruss.com

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable



U.S. Patent No. 8,418,425 & other patents pending

TM

Series | AC Access

 
18

.0
0

45
7.

20
 

 
4.

50
11

4.
30

 

3.
00

76
.2

0
TY

P

 
3.

00
76

.2
0

 

.6
9

17
.4

6
TY

P 
9.

00
22

8.
60

 

1.
00

25
.4

0

 
.5

0
12

.7
0

 

 
7.

75
19

6.
85

 

DE
SC

RI
PT

IO
N:

RE
VI

SIO
N:

 V
1

PA
RT

 N
UM

BE
R:

M
T-A

C
-L

R-
18

00
-0

90
0-

04
50

UN
IV

ER
SA

L L
AD

DE
R 

RU
NG

PR
EC

ISI
O

N 
LE

VE
L :

 M
ED

 - 
±.

06
  [

1.
59

]
BR

AC
KE

T [
 ] 

DI
M

EN
SIO

NS
 A

RE
 IN

 M
M

9/
5/

20
18

Product Number | MT-AC-LR-1800-0900-0450

138



U.S. Patent No. 8,418,425 & other patents pending

TR

EX

PL

JH

PA

HG

MR

AC

HW

TK

MH

FH

GL

ModPanels with 1” Plywood (Heavy Duty)

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable

48” x 96” ModPanel Rated for 150 PSF

Part #
Description

Size Weight

MT-AC-MP-06-048-048 
48” x 48” ModPanel

48” x 48” x 6”
(1219.20mm x 1219.20mm x 152.40mm)

67.40lbs
(30.57kg)* Weight Variance of +/- 2.5lbs

MT-AC-MP-06-048-096 
48” x 96” ModPanel

48” x 96” x 6”
(1219.20mm x 2438.4mm x 152.40mm)

154.20lbs
(69.94kg)* Weight Variance of +/- 5lbs

Standard Material 5052-H32 Aluminum and 1” Plywood
Standard Finish 01 - Brush Finish and 95 - Enamel Satin Black

Available Finish(es) 5052-H32 Aluminum | 20-33
Hole Size 11/16” (17.46mm)

Recommended 
Hardware

 5/8”-11 Thread Grade 8 Bolt, 2” Long | 5/8” SAE Zinc-Plated Washer | 5/8”-11 Thread, Grade 8 Hex Nut
(M16 x 2 Thread, 50mm Long, Class 10.9 Bolt | M16, Class 10.9 Washer | M16 x 2 Thread, Class 10.9 Nut)

Recommended Tools Tool Kit 1
For More Info www.ModTruss.com

Available in 6” Increments
Available in 6” Increments



U.S. Patent No. 8,418,425 & other patents pending

TM

Series | AC Access

48
.0

0
12

19
.2

0

6.
00

15
2.

40 A
A

A

A

M
T-

FR
-A

-I-
06

5/
16

" S
A

E 
W

A
SH

ER

5/
16

"-1
8 

N
YL

O
N

 L
O

C
K-

N
UT

5/
16

"-1
8 

FL
A

T H
EA

D
 S

C
RE

W
1/

4"
 S

A
E 

W
A

SH
ER

1/
4"

-2
0 

N
YL

O
N

 L
O

C
K-

N
UT

1/
4"

-2
0 

N
YL

O
N

 L
O

C
K-

N
UT

1/
4"

 S
A

E 
W

A
SH

ER 1.
00

25
.4

0

5.
00

12
7.

00

6.
00

15
2.

40

1.
50

38
.1

0
3.

00
76

.2
0

0.
69

17
.4

6
 TY

P

IN
SID

E 
C

O
RN

ER
 D

ET
A

IL

TO
LE

RA
N

C
E 

FO
R 

O
VE

RA
LL

 L
EN

G
TH

 A
N

D
 W

ID
TH

 =
 +0

.0
0

-.1
88

M
O

D 
PA

NE
LS

M
T-

AC
-M

P-
06

-X
XX

-X
XX

DE
SC

RI
PT

IO
N:

PR
EC

ISI
O

N 
LE

VE
L :

 M
ED

 - 
±.

06
  [

1.
59

]
BR

AC
KE

T [
 ] 

DI
M

EN
SIO

NS
 A

RE
 IN

 M
M

7/
10

/2
01

8
RE

VI
SIO

N
: N

R

PA
RT

 N
UM

BE
R:

Product Number | MT-AC-MP-XX-XXX-XXX

140



U.S. Patent No. 8,418,425 & other patents pending

TR

EX

PL

JH

PA

HG

MR

AC

HW

TK

MH

FH

GL

Steel Plank 3” 
Part Number | MT-AC-MP-03-12-XXX

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable

Standard Material A36 Low Carbon Steel
Standard Finish 33 - Fine Texture Flat Gray

Available Finish(es) 20-33
Hole Size 11/16” (17.46mm), 1/4” (6.35mm)

Recommended 
Hardware

 5/8”-11 Thread Grade 8 Bolt, 2” Long | 5/8” SAE Zinc-Plated Washer | 5/8”-11 Thread, Grade 8 Hex Nut
(M16 x 2 Thread, 50mm Long, Class 10.9 Bolt | M16, Class 10.9 Washer | M16 x 2 Thread, Class 10.9 Nut)

Recommended Tools Tool Kit 1
For More Info www.ModTruss.com

Part # Size Weight* Non-certified

MT-AC-MP-03-12-012 3” x 12” x 12” (76.20mm x 76.20mm x 304.80mm) 8.65lbs (2.22kg)*

MT-AC-MP-03-12-024 3” x 12” x 24” (76.20mm x 76.20mm x 609.60mm) 17.31lbs (7.85kg)*

MT-AC-MP-03-12-036 3” x 12” x 36” (76.20mm x 76.20mm x 914.40mm) 25.96lbs (11.77kg)*

MT-AC-MP-03-12-048 3” x 12” x 48” (76.20mm x 76.20mm x 1219.2mm) 34.61lbs (15.70kg)*

MT-AC-MP-03-12-060 3” x 12” x 60” (76.20mm x 76.20mm x 1524.0mm) 43.27lbs (19.63kg)*

MT-AC-MP-03-12-072 3” x 12” x 72” (76.20mm x 76.20mm x 1828.8mm) 51.92lbs (23.55kg)*

MT-AC-MP-03-12-084 3” x 12” x 84” (76.20mm x 76.20mm x 2133.6mm) 60.57lbs (27.47kg)*

MT-AC-MP-03-12-096 3” x 12” x 96” (76.20mm x 76.20mm x 2438.4mm) 69.22lbs (31.40kg)*

MT-AC-MP-03-12-108 3” x 12” x 108” (76.20mm x 76.20mm x 2743.2mm) 77.88lbs (35.33kg)*

MT-AC-MP-03-12-120 3” x 12” x 120” (76.20mm x 76.20mm x 3048.0mm) 86.53lbs (39.25kg)*

Rated for 175 PSF (over 10’ span)



U.S. Patent No. 8,418,425 & other patents pending

TM

Series | AC Access

 
3.

00
76

.2
0

 
 

11
.9

4
30

3.
21

 

 
2.

75
69

.8
5

 
 

.1
3

3.
18

 
.4

0
10

.1
6

TY
P

 
1.

50
38

.1
0

 

 
.7

7
19

.4
5

 

.2
5

6.
35

 
.6

1
15

.4
8

 
 

12
.0

0
30

4.
80

 

3.
00

76
.2

0
TY

P

 
2.

97
75

.4
1

 

.2
5

6.
35

 
.6

1
15

.4
8

 

LE
N

G
TH

PA
RT

 N
UM

BE
R

12
"

M
T-

A
C

-M
P-

03
-1

2-
01

2
24

"
M

T-
A

C
-M

P-
03

-1
2-

02
4

36
"

M
T-

A
C

-M
P-

03
-1

2-
03

6
48

"
M

T-
A

C
-M

P-
03

-1
2-

04
8

60
"

M
T-

A
C

-M
P-

03
-1

2-
06

0
72

"
M

T-
A

C
-M

P-
03

-1
2-

07
2

84
"

M
T-

A
C

-M
P-

03
-1

2-
08

4
96

"
M

T-
A

C
-M

P-
03

-1
2-

09
6

10
8"

M
T-

A
C

-M
P-

03
-1

2-
10

8
12

0"
M

T-
A

C
-M

P-
03

-1
2-

12
0

DE
SC

RI
PT

IO
N:

RE
VI

SIO
N:

 V
1

PA
RT

 N
UM

BE
R:

M
T-

AC
-M

P-
03

-1
2-

XX
X

ST
EE

L P
LA

NKPR
EC

ISI
O

N 
LE

VE
L :

 M
ED

 - 
±.

06
  [

1.
59

]
BR

AC
KE

T [
 ] 

DI
M

EN
SIO

NS
 A

RE
 IN

 M
M

9/
5/

20
18

Product Number | MT-AC-MP-03-12-XXX

142



U.S. Patent No. 8,418,425 & other patents pending

TR

EX

PL

JH

PA

HG

MR

AC

HW

TK

MH

FH

GL

Decorative Handrail Complete Set
Part Number | MT-AC-HR-DP-41-48-AS

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable

Standard Material A36 Low Carbon Steel and Polycarbonate Insert
Standard Finish 01 - Brush Finish

Available Finish(es) 20-33
Size 41" x 47” x 0.31” (1041.4mm x 1193.8mm x 7.87mm)

Weight 55.85lbs (25.33kg)
Hole Size 1/2” (12.7mm)

Recommended 
Hardware

4x - 5/16”-18 Thread Bolt, 1” Long  |  8x - 5/16” Washer  | 4x - 5/16”-18 Nylock Nut

Recommended Tools Tool Kit 1
For More Info www.ModTruss.com



U.S. Patent No. 8,418,425 & other patents pending

TM

Series | AC Access

 
47

.0
0

11
93

.8
0

 

 
41

.0
0

10
41

.4
0

 

.3
9

9.
92 4X

 
38

.0
0

96
5.

20
 

 
21

.0
0

53
3.

40
  
2.

00
50

.8
0

 

 
21

.0
0

53
3.

40
 .6

9
17

.4
6

W
ID

TH
PA

RT
 N

UM
BE

R
36

"
M

T-
AC

-D
P-

41
-3

6-
AS

48
"

M
T-

AC
-D

P-
41

-4
8-

AS
60

"
M

T-
AC

-D
P-

41
-6

0-
AS

96
"

M
T-

AC
-D

P-
41

-9
6-

AS

DE
SC

RI
PT

IO
N:

RE
VI

SIO
N:

 V
1

PA
RT

 N
UM

BE
R:

M
T-

AC
-H

R-
DP

-4
1-

XX
-A

S

DE
C

O
RA

TIV
E 

HA
ND

RA
IL

PR
EC

ISI
O

N 
LE

VE
L :

 M
ED

 - 
±.

06
  [

1.
59

]
BR

AC
KE

T [
 ] 

DI
M

EN
SIO

NS
 A

RE
 IN

 M
M

9/
10

/2
01

8

Product Number | MT-AC-HR-DP-41-48-AS

144



U.S. Patent No. 8,418,425 & other patents pending

TR

EX

PL

JH

PA

HG

MR

AC

HW

TK

MH

FH

GL

Decorative Handrail Steel (No Insert)
Part Number | MT-AC-HR-DP-41-48

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable

Standard Material A36 Low Carbon Steel
Standard Finish 25 - Silver

Available Finish(es) 20-33
Size 41" x 47” x 0.31” (1041.4mm x 1193.8mm x 7.87mm)

Weight 41.35lbs (18.76kg)*    Not Certified
Hole Size 1/2” (12.7mm)

Recommended 
Hardware

N/A

Recommended Tools N/A
For More Info www.ModTruss.com



U.S. Patent No. 8,418,425 & other patents pending

TM

Series | AC Access

 
47

.0
0

11
93

.8
0

 

 
41

.0
0

10
41

.4
0

 

.3
9

9.
92 4X

 
38

.0
0

96
5.

20
 

 
21

.0
0

53
3.

40
  
2.

00
50

.8
0

 

 
21

.0
0

53
3.

40
 .6

9
17

.4
6

W
ID

TH
PA

RT
 N

UM
BE

R
36

"
M

T-
A

C
-D

P-
41

-3
6

48
"

M
T-

A
C

-D
P-

41
-4

8
60

"
M

T-
A

C
-D

P-
41

-6
0

96
"

M
T-

A
C

-D
P-

41
-9

6

DE
SC

RI
PT

IO
N:

RE
VI

SIO
N:

 V
1

PA
RT

 N
UM

BE
R:

M
T-

AC
-H

R-
D

P-
41

-X
X

D
EC

O
RA

TIV
E 

HA
ND

RA
IL 

W
ITH

O
UT

 P
O

LL
Y 

IN
SE

RT

PR
EC

ISI
O

N 
LE

VE
L :

 M
ED

 - 
±.

06
  [

1.
59

]
BR

AC
KE

T [
 ] 

D
IM

EN
SIO

NS
 A

RE
 IN

 M
M

9/
11

/2
01

8

Product Number | MT-AC-HR-DP-41-48

146



U.S. Patent No. 8,418,425 & other patents pending

TR

EX

PL

JH

PA

HG

MR

AC

HW

TK

MH

FH

GL

1/4” Thick Polycarbonate Clear Insert (No Graphics)
Part Number | MT-AC-HR-DP-POLY-41-48

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable

Standard Material Polycarbonate
Standard Finish 02 - No Finish

Available Finish(es) N/A
Size 35.50" x 41.50” x 0.25” (901.70mm x 1054.10mm x 6.35mm)

Weight 14.20lbs (6.44kg)
Hole Size 1/2” (12.7mm)

Recommended 
Hardware

N/A

Recommended Tools Tool Kit 1 | 9/16” Combination Wrench and Socket
For More Info www.ModTruss.com



U.S. Patent No. 8,418,425 & other patents pending

TM

Series | AC Access

.3
9

9.
92 4X

 
38

.0
0

96
5.

20
 

 
21

.0
0

53
3.

40
 

 
35

.5
0

90
1.

70
 

 
41

.5
0

10
54

.1
0

  
6.

50
16

5.
10

 X
 4

5.
0°

 
.2

5
6.

35
 

W
ID

TH
PA

RT
 N

UM
BE

R
36

"
M

T-
A

C
-D

P-
PO

LL
Y-

41
-3

6
48

"
M

T-
A

C
-D

P-
PO

LL
Y-

41
-4

8
60

"
M

T-
A

C
-D

P-
PO

LL
Y-

41
-6

0
96

"
M

T-
A

C
-D

P-
PO

LL
Y-

41
-9

6

DE
SC

RI
PT

IO
N:

RE
VI

SIO
N:

 V
1

PA
RT

 N
UM

BE
R: M

T-
AC

-H
R-

DP
-P

O
LL

Y-
41

-X
X

D
EC

O
RA

TIV
E 

HA
ND

RA
IL

PR
EC

ISI
O

N 
LE

VE
L :

 M
ED

 - 
±.

06
  [

1.
59

]
BR

AC
KE

T [
 ] 

DI
M

EN
SIO

NS
 A

RE
 IN

 M
M

9/
11

/2
01

8

Product Number | MT-AC-HR-DP-POLY-41-48

148



U.S. Patent No. 8,418,425 & other patents pending

TR

EX

PL

JH

PA

HG

MR

AC

HW

TK

MH

FH

GL

Handrail Side Mount Series

MT-AC-HR-SM-26

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable

MT-AC-HR-SM-12

Standard Material A36 Low Carbon Steel
Standard Finish 10 - Zinc Clear

Available Finish(es) 10-12, 20-33
Hole Size 11/16” (17.46mm), 1/2” (12.70mm)*                    *Only on MT-AC-HR-SM-26

Recommended 
Hardware

 5/8”-11 Thread Grade 8 Bolt, 2” Long | 5/8” SAE Zinc-Plated Washer | 5/8”-11 Thread, Grade 8 Hex Nut
(M16 x 2 Thread, 50mm Long, Class 10.9 Bolt | M16, Class 10.9 Washer | M16 x 2 Thread, Class 10.9 Nut)

Recommended Tools Tool Kit 1
For More Info www.ModTruss.com

Part # Size Weight
MT-AC-HR-SM-26 2.56” x 25.50” x 2.25” (65.02mm x 647.70mm x 57.15mm) 10.0lbs (4.54kg)

MT-AC-HR-SM-12 2.56” x 11.00” x 2.25” (65.02mm x 279.40mm x 57.15mm) 4.40lbs (1.99kg)



U.S. Patent No. 8,418,425 & other patents pending

TM

Series | AC Access

 
25

.5
0

64
7.

70
 

 
2.

25
57

.1
5

 

1.
50

38
.1

0
TY

P

1.
50

38
.1

0
TY

P

 
1.

00
25

.4
0

 
 

1.
25

31
.7

5
 

.5
0

12
.7

0
 

4.
00

10
1.

60
 

.6
9

17
.4

6
TY

P

 
11

.0
0

27
9.

40
 

 
2.

25
57

.1
5

 

3.
00

76
.2

0
TY

P

.6
9

17
.4

6
TY

P

 
1.

31
33

.3
4

 

 
.2

5
6.

35
 

 
2.

06
52

.3
9

 

 
2.

56
65

.0
9

 

 
.2

5
6.

35
 

 
2.

06
52

.3
9

 

 
2.

56
65

.0
9

 

M
T-
AC

-H
R-
SM

-2
6

M
T-
AC

-H
R-
SM

-1
2

DE
SC

RI
PT

IO
N:

RE
VI

SIO
N:

 V
1

PA
RT

 N
UM

BE
R:

M
T-

AC
-H

R-
SM

-X
X

DE
C

O
RA

TIV
E 

HA
ND

RI
AL

 S
ID

E 
M

O
UN

TPR
EC

ISI
O

N 
LE

VE
L :

 M
ED

 - 
±.

06
  [

1.
59

]
BR

AC
KE

T [
 ] 

DI
M

EN
SIO

NS
 A

RE
 IN

 M
M

9/
10

/2
01

8

Product Number | MT-AC-HR-SM-XX

150



U.S. Patent No. 8,418,425 & other patents pending

TR

EX

PL

JH

PA

HG

MR

AC

HW

TK

MH

FH

GL

Speed Rail Fitting 1.5”

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable

Part # Description Weight
MT-AC-HC-WYE-S-0150 1.5” 540 Adjustable WYE 0.85lbs (0.38kg)

MT-AC-HC-TES-F-0150 1.5” 540 Fixed Tee 0.60lbs (0.27kg)

MT-AC-HC-CNR-S-0150 1.5” 540 Adjustable 2-Socket Elbow 1.30lbs (0.58kg)

MT-AC-HC-INT-S-0150 1.5” 540 Adjustable 4-Way Angle Cross 1.50lbs (0.68kg)

MT-AC-HC-INT-F-0150 1.5” 540 4-Way Cross Tee 0.55lbs (0.29kg)

MT-AC-HC-INS-F-0150 1.5” 540 Straight Connect 0.55lbs (0.24kg)

MT-AC-HC-ELT-S-0150 1.5” 540 Adjustable Elbow w/ Thru Hole 1.25lbs (0.56kg)

MT-AC-HC-ELT-F-0150 1.5” 540 Elbow w/ Pass-thru 0.50lbs (0.22kg)

MT-AC-HC-ELB-F-0150 1.5” 540 Fixed Elbow 0.75lbs (0.34kg)

MT-AC-HC-TEE-F-0150 1.5” 540 Tee Thru Hole 0.50lbs (0.22kg)

MT-AC-HC-PNH-F-0150 1.5” 540 Panel Hanger 0.30lbs (0.14kg)

MT-AC-HC-CAP-F-0150 1.5” Schedule 40 End Cap 0.10lbs (0.04kg)

MT-AC-HC-WYE-S-0150 MT-AC-HC-TES-F-0150 MT-AC-HC-CNR-S-0150 MT-AC-HC-INT-S-0150

MT-AC-HC-INT-F-0150 MT-AC-HC-INS-F-0150 MT-AC-HC-ELT-S-0150

MT-AC-HC-ELB-F-0150 MT-AC-HC-TEE-F-0150 MT-AC-HC-CAP-F-0150

MT-AC-HC-ELT-F-0150

MT-AC-HC-PNH-F-0150



U.S. Patent No. 8,418,425 & other patents pending

TM

Series | AC Access

M
T-
AC

-H
C
-W

YE
-S
-0
15
0

M
T-
AC

-H
C
-IN

T-
S-
01
50

M
T-
AC

-H
C
-E
LT
-S
-0
15
0

M
T-
AC

-H
C
-E
LB
-F
-0
15
0

M
T-
AC

-H
C
-T
ES
-F
-0
15
0

M
T-
AC

-H
C
-T
EE
-F
-0
15
0

M
T-
AC

-H
C
-IN

T-
F-
01
50

M
T-
AC

-H
C
-E
LT
-F
-0
15
0

M
T-
AC

-H
C
-C
AP

-F
-0
15
0

M
T-
AC

-H
C
-C
NR

-S
-0
15
0

M
T-
AC

-H
C
-IN

S-
F-
01
50

M
T-
AC

-H
C
-P
NH

-F
-0
15
0

DE
SC

RI
PT

IO
N:

RE
VI

SIO
N:

 V
1

PA
RT

 N
UM

BE
R:

M
T-

AC
-H

C
-X

XX
-X

-0
15

0

1.
5"

 S
PE

ED
 R

AI
L F

ITT
IN

G
S

PR
EC

ISI
O

N 
LE

VE
L :

 M
ED

 - 
±.

06
  [

1.
59

]
BR

AC
KE

T [
 ] 

DI
M

EN
SIO

NS
 A

RE
 IN

 M
M

9/
19

/2
01

8

Product Number | MT-AC-HC-XXX-X-0150

152



U.S. Patent No. 8,418,425 & other patents pending

TR

EX

PL

JH

PA

HG

MR

AC

HW

TK

MH

FH

GL

Edge Protection Series
Material  |  Polyurethane Foam

For More Info  |  Contact ModTruss Inc. at info@ModTruss.com or Call (844) 663.8787

Straight Round Rail
Part Number | MT-AC-PD-6000-0300-0100-R
Outer Dimensions | 2.00” - 3.50”
Inner Dimensions | 1.00” - 2.50”
Length | 60”

Straight Square Rail
Part Number | MT-AC-PD-6000-0350-0200-SQ
Outer Dimensions | 3.00” - 3.50”
Inner Dimensions | 1.25” - 2.00”
Length | 60”

L Shaped Rail (w/ Wood Insert)
(Marine Grade Wood insert for easy installation)
Part Number | MT-AC-PD-6000-0600-0400-L

D Rail (w/ Metal Insert)
(Marine Grade Wood insert for easy installation)
Part Number | MT-AC-PD-4800-0750-0375
- Recessed Holes



AC

FRP (Fiberglass Reinforced Plastic) Decking

Material  |  Vinyl Ester Resin System

Benefits
-Load Capacity up to 200lbs PSF (variable on span)
- Slip Resistant
- Corrosion Resistant
- Fire Retardant
- Hight Strength to Weight Ratio

For More Info  |  Contact ModTruss Inc. at info@ModTruss.com or Call (844) 663.8787

154



HW
TM

HW | HARDWARE
155



U.S. Patent No. 8,418,425 & other patents pending

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable

Part # Description Weight
MT-HW-BS-0200-GR8-132 5/8-11 x 2" Hex Bolt Set 

(Bolt, Nut, 2x Washer)
0.35lbs (0.16kg)

MT-HW-BS-0250-GR8-132 5/8-11 x 2.5"  Hex Bolt Set 
(Bolt, Nut, 2x Washer) 

0.40lbs (0.18kg)

Grade 8 Hardware

MT-HW-BT-HEX-HEX-GR8-0100-132 5/8-11 Hex Bolt, 1" 2.35oz (0.066kg)

MT-HW-BT-HEX-HEX-GR8-0125-132 5/8-11 Hex Bolt, 1.25" 2.65oz (0.075kg)

MT-HW-BT-HEX-HEX-GR8-0150-132 5/8-11 Hex Bolt, 1.5" 2.95oz (0.083kg)

MT-HW-BT-HEX-HEX-GR8-0175-132 5/8-11 Hex Bolt, 1.75" 3.15oz (0.089kg)

MT-HW-BT-HEX-HEX-GR8-0200-132 5/8-11 Hex Bolt, 2" 3.50oz (0.099kg)

MT-HW-BT-HEX-HEX-GR8-0250-132 5/8-11 Hex Bolt, 2.5" 4.30oz (0.121kg)

MT-HW-BT-HEX-HEX-GR8-0300-132 5/8-11 Hex Bolt, 3" 4.85oz (0.137kg)

MT-HW-BT-HEX-HEX-GR8-0350-132 5/8-11 Hex Bolt, 3.5" 5.60oz (0.158kg)

MT-HW-BT-HEX-HEX-GR8-0400-132 5/8-11 Hex Bolt, 4" 6.30oz (0.178kg)

MT-HW-BT-HEX-HEX-GR8-0450-132 5/8-11 Hex Bolt, 4.5" 6.95oz (0.197kg)

MT-HW-BT-HEX-HEX-GR8-0500-132 5/8-11 Hex Bolt, 5" 7.60oz (0.215kg)

MT-HW-BT-HEX-HEX-GR8-0550-132 5/8-11 Hex Bolt, 5.5" 8.35oz (0.236kg)

MT-HW-BT-HEX-HEX-GR8-0600-132 5/8-11 Hex Bolt, 6" 9.05oz (0.256kg)

MT-HW-BT-HEX-HEX-GR8-0650-132 5/8-11 Hex Bolt, 6.5" 9.70oz (0.274kg)

MT-HW-BT-HEX-HEX-GR8-0700-132 5/8-11 Hex Bolt, 7" 10.25oz (0.290kg)

MT-HW-BT-HEX-HEX-GR8-0750-132 5/8-11 Hex Bolt, 7.5" 10.95oz (0.310kg)

MT-HW-BT-HEX-HEX-GR8-0800-132 5/8-11 Hex Bolt, 8" 11.70oz (0.331kg)

MT-HW-WA-G-0013-0050-1300-
GR8-SAE

5/8 SAE Washer 0.02lbs (0.009kg)

MT-HW-NT-HEX-HEX-GR8-132 5/8-11 Nut 0.07lbs (0.03kg)

156



U.S. Patent No. 8,418,425 & other patents pending

TR

EX

PL

JH

PA

HG

MR

AC

HW

TK

MH

FH

GL
Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable

Part # Description Weight
MT-HW-BT-HEX-HEX-GR8-0100-128 1/2-13 Hex Bolt, 1" 1.30oz (0.036kg)

MT-HW-BT-HEX-HEX-GR8-0125-128 1/2-13 Hex Bolt, 1.25" 1.50oz (0.042kg)

MT-HW-BT-HEX-HEX-GR8-0150-128 1/2-13 Hex Bolt, 1.5" 1.70oz (0.048kg)

MT-HW-BT-HEX-HEX-GR8-0175-128 1/2-13 Hex Bolt, 1.75" 1.85oz (0.052kg)

MT-HW-BT-HEX-HEX-GR8-0200-128 1/2-13 Hex Bolt, 2" 2.15oz (0.060kg)

MT-HW-BT-HEX-HEX-GR8-0250-128 1/2-13 Hex Bolt, 2.5" 2.60oz (0.073kg)

MT-HW-BT-HEX-HEX-GR8-0300-128 1/2-13 Hex Bolt, 3" 3.00oz (0.085kg)

MT-HW-BT-HEX-HEX-GR8-0350-128 1/2-13 Hex Bolt, 3.5" 3.45oz (0.097kg)

MT-HW-BT-HEX-HEX-GR8-0400-128 1/2-13 Hex Bolt, 4" 3.90oz (0.110kg)

MT-HW-BT-HEX-HEX-GR8-0450-128 1/2-13 Hex Bolt, 4.5" 4.35oz (0.123kg)

MT-HW-BT-HEX-HEX-GR8-0500-128 1/2-13 Hex Bolt, 5" 4.75oz (0.134kg)

MT-HW-BT-HEX-HEX-GR8-0550-128 1/2-13 Hex Bolt, 5.5" 5.15oz (0.146kg)

MT-HW-BT-HEX-HEX-GR8-0600-128 1/2-13 Hex Bolt, 6" 5.60oz (0.158kg)

MT-HW-BT-HEX-HEX-GR8-0650-128 1/2-13 Hex Bolt, 6.5" 6.00oz (0.170kg)

MT-HW-BT-HEX-HEX-GR8-0700-128 1/2-13 Hex Bolt, 7" 6.30oz (0.178kg)

MT-HW-BT-HEX-HEX-GR8-0750-128 1/2-13 Hex Bolt, 7.5" 6.85oz (0.194kg)

MT-HW-BT-HEX-HEX-GR8-0800-128 1/2-13 Hex Bolt, 8" 7.30oz (0.206kg)

MT-HW-WA-G-0013-0050-0106-GR8-SAE 1/2 SAE Washer 0.35oz (0.009kg)

MT-HW-NT-HEX-HEX-GR8-128 1/2-13 Nut 1.15oz (0.032kg)

Grade 8 Hardware



TM

U.S. Patent No. 8,418,425 & other patents pending

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable

Part # Description Weight

MT-HW-BT-TPD-ALN-BLO-0100-132 5/8-11 Tapered Head Socket Screw, 1" 1.53oz (0.043kg)

MT-HW-BT-TPD-ALN-BLO-0125-132 5/8-11 Tapered Head Socket Screw, 1.25" 1.80oz (0.051kg)

MT-HW-BT-TPD-ALN-BLO-0150-132 5/8-11 Tapered Head Socket Screw, 1.5" 2.10oz (0.059kg)

MT-HW-BT-TPD-ALN-BLO-0175-132 5/8-11 Tapered Head Socket Screw, 1.75" 2.35oz (0.066kg)

MT-HW-BT-TPD-ALN-BLO-0200-132 5/8-11 Tapered Head Socket Screw, 2" 2.65oz (0.075kg)

MT-HW-BT-TPD-ALN-BLO-0250-132 5/8-11 Tapered Head Socket Screw, 2.5" 3.25oz (0.092kg)

MT-HW-BT-TPD-ALN-BLO-0300-132 5/8-11 Tapered Head Socket Screw, 3" 3.805oz (0.107kg)

MT-HW-BT-TPD-ALN-BLO-0100-128 1/2-13 Tapered Head Socket Screw, 1" 0.90oz (0.025kg)

MT-HW-BT-TPD-ALN-BLO-0125-128 1/2-13 Tapered Head Socket Screw, 1.25" 1.05oz (0.029kg)

MT-HW-BT-TPD-ALN-BLO-0150-128 1/2-13 Tapered Head Socket Screw, 1.5" 1.25oz (0.035kg)

MT-HW-BT-TPD-ALN-BLO-0175-128 1/2-13 Tapered Head Socket Screw, 1.75" 1.45oz (0.041kg)

MT-HW-BT-TPD-ALN-BLO-0200-128 1/2-13 Tapered Head Socket Screw, 2" 1.60oz (0.045kg)

MT-HW-BT-TPD-ALN-BLO-0250-128 1/2-13 Tapered Head Socket Screw, 2.5" 2.05oz (0.058kg)

MT-HW-BT-TPD-ALN-BLO-0300-128 1/2-13 Tapered Head Socket Screw, 3" 2.35oz (0.066kg)

MT-HW-P-RP-0200-0016-0109 Roll Pin 3.0oz (0.085kg)

MT-HW-P-CP-0448-0012-0110 Cotter Pin 3.0oz (0.085kg)

MT-HW-P-AS-0300-0100-0106 1” Pin (Usable length:  1”) 0.75lbs (0.34kg)

MT-HW-AC-132-0200 5/8-11 Hex Bolt, 2” Ammo Can 4.90lbs (2.22kg)

MT-HW-AC-132-0250 5/8-11 Hex Bolt, 2.5” Ammo Can 5.3lbs (2.40kg)

Misc. Hardware

MT-HW-BT-SHC-CUP-BLO-075-132 5/8-11 Cup Point Set Screw, 0.75” 0.65oz (0.018kg)

MT-HW-BT-SHC-CUP-BLO-075-128 1/2-13 Cup Point Set Screw, 0.75” 0.35oz (0.009kg)

Custom branding available

158



U.S. Patent No. 8,418,425 & other patents pending

TR

EX

PL

JH

PA

HG

MR

AC

HW

TK

MH

FH

GL
Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable

Nut Bars

Standard Material A36 Low Carbon Steel
Standard Finish 10 - Zinc Clear

Available Finish(es) 10-12
Recommended Tools Tool Kit 1

3/4” Combination Wrench*
*Only For 1/2”-13 Nut Bars

For More Info www.ModTruss.com

Part #
Description

Size Weight Hole 
Size

Recommended
Hardware

MT-HW-NB-1050-0125-0050-000-132-04
4-Hole 5/8”-11 Nut Bar

1.25” x 10.5” x 0.5”
(31.75mm x 267.0mm x 12.70mm)

1.65lbs
(0.75kg)

5/8”-11
Threaded

5/8”-11 Thread Grade 8 Bolt,
1” Long
5/8” SAE Zinc-Plated Washer MT-HW-NB-0750-0125-0050-000-132-03

3-Hole 5/8”-11 Nut Bar
1.25” x 7.5” x 0.5”
(31.75mm x 190.50mm x 12.70mm)

1.20lbs
(0.54kg)

MT-HW-NB-0450-0125-0050-000-132-02
2-Hole 5/8”-11 Nut Bar

1.25” x 4.5” x 0.5”
(31.75mm x 114.30mm x 12.70mm)

0.70lbs
(0.32kg)

MT-HW-NB-0150-0125-0050-000-132-01
1-Hole 5/8”-11 Nut Bar

1.25” x 1.50” x 0.5”
(31.75mm x 38.10mm x 12.70mm)

0.20lbs
(0.09kg)

MT-HW-NB-1050-0125-0050-000-128-04
4-Hole 1/2”-13 Nut Bar

1.25” x 10.5” x 0.5”
(31.75mm x 267.0mm x 12.70mm)

1.75lbs
(0.79kg)

1/2”-13
Threaded

1/2”-13 Thread Grade 8 Bolt,
1” Long
1/2” SAE Zinc-Plated WasherMT-HW-NB-0750-0125-0050-000-128-03

3-Hole 1/2”-13 Nut Bar
1.25” x 7.5” x 0.5”
(31.75mm x 190.50mm x 12.70mm)

1.35lbs
(0.61kg)

MT-HW-NB-0450-0125-0050-000-128-02
2-Hole 1/2”-13 Nut Bar

1.25” x 4.5” x 0.5”
(31.75mm x 114.30mm x 12.70mm)

0.75lbs
(0.34kg)

MT-HW-NB-0150-0125-0050-000-128-01
1-Hole 1/2”-13 Nut Bar

1.25” x 1.50” x 0.5”
(31.75mm x 38.10mm x 12.70mm)

0.25lbs
(0.11kg)

MT-HW-NB-1050-0125-0050-000-XXX-04

MT-HW-NB-0750-0125-0050-000-XXX-03

MT-HW-NB-0450-0125-0050-000-XXX-02

MT-HW-NB-0150-0125-0050-000-XXX-01



U.S. Patent No. 8,418,425 & other patents pending

TM

Series | HW Hardware

 
1.

25
31

.7
5

 

 
3.

00
76

.2
0

 

 
10

.5
0

26
6.

70
 

 
.7

5
19

.0
5

 

 
1.

25
31

.7
5

 

 
4.

50
11

4.
30

 

 
3.

00
76

.2
0

 
 

.7
5

19
.0

5
 

4 
HO

LE

2 
HO

LE

 
.5

0
12

.7
0

 

 
1.

25
31

.7
5

 

 
1.

25
31

.7
5

 

 
.5

0
12

.7
0

 

 
7.

50
19

0.
50

 

 
1.

25
31

.7
5

 

 
.7

5
19

.0
5

 
 

3.
00

76
.2

0
 

 
.5

0
12

.7
0

 

 
1.

25
31

.7
5

 

3 
HO

LE

 
1.

50
38

.1
0

 

 
.7

5
19

.0
5

 
 

.5
0

12
.7

0
 

 
1.

25
31

.7
5

 

1 
HO

LE

1/
2-

13
 Ta

pp
ed

 H
ol

e

4 
HO

LE
 1

/2
"-1

3

TH
RE

A
D

 S
IZE

HO
LE

 C
O

UN
T

PA
RT

 N
UM

BE
R

5/
8"

-1
1

4
M

T-
HW

-N
B-

10
50

-0
12

5-
00

50
-0

00
-1

32
-0

4

5/
8"

-1
1

3
M

T-
HW

-N
B-

07
50

-0
12

5-
00

50
-0

00
-1

32
-0

3

5/
8"

-1
1

2
M

T-
HW

-N
B-

04
50

-0
12

5-
00

50
-0

00
-1

32
-0

2

5/
8"

-1
1

1
M

T-
HW

-N
B-

01
50

-0
12

5-
00

50
-0

00
-1

32
-0

1

1/
2"

-1
3

4
M

T-
HW

-N
B-

10
50

-0
12

5-
00

50
-0

00
-1

28
-0

4

1/
2"

-1
3

3
M

T-
HW

-N
B-

07
50

-0
12

5-
00

50
-0

00
-1

28
-0

3

1/
2"

-1
3

2
M

T-
HW

-N
B-

04
50

-0
12

5-
00

50
-0

00
-1

28
-0

2

1/
2"

-1
3

1
M

T-
HW

-N
B-

01
50

-0
12

5-
00

50
-0

00
-1

28
-0

1

DE
SC

RI
PT

IO
N:

RE
VI

SIO
N:

 V
1

PA
RT

 N
UM

BE
R:

M
T-

HW
-N

B-
XX

XX
-0

12
5-

00
50

-0
00

-X
XX

-X
X

NU
T B

AR
SPR

EC
ISI

O
N 

LE
VE

L :
 M

ED
 - 

±.
06

  [
1.

59
]

BR
AC

KE
T [

 ] 
D

IM
EN

SIO
NS

 A
RE

 IN
 M

M

9/
10

/2
01

8

Product Number | MT-HW-NB-XXXX-0125-0050-000-XXX-XX

160



U.S. Patent No. 8,418,425 & other patents pending

TR

EX

PL

JH

PA

HG

MR

AC

HW

TK

MH

FH

GL
Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable

Insert Nuts

Standard Material A36 Low Carbon Steel
Standard Finish 10 - Zinc Clear

Available Finish(es) 10-12
Size 1” x 1.5” x 0.5” (25.40mm x 38.10mm x 12.70mm)

Recommended Tools Tool Kit 1
3/4” Combination Wrench*
*Only For 1/2”-13 Insert Nut

For More Info www.ModTruss.com

Part #

Description

Weight Hole Size Recommended
Hardware

MT-HW-IN-0150-0100-0050-132-01
5/8”-11 Insert Nut

0.15lbs
(0.07kg)

5/8”-11
Threaded

5/8”-11 Thread Grade 8 Bolt, 1” Long   
5/8” SAE Zinc-Plated Washer 

MT-HW-IN-0150-0100-0050-128-01
1/2”-13 Insert Nut

0.15lbs
(0.07kg)

1/2”-13
Threaded

1/2”-13 Thread Grade 8 Bolt, 1” Long
1/2” SAE Zinc-Plated Washer

MT-HW-IN-0150-0100-0050-124-01
3/8”-16 Insert Nut

0.20lbs
(0.09kg)

3/8”-16
Threaded

3/8”-16 Thread Grade 8 Bolt, 1” Long   
3/8” SAE Zinc-Plated Washer

MT-HW-IN-0150-0100-0050-128-01 MT-HW-IN-0150-0100-0050-124-01

MT-HW-IN-0150-0100-0050-132-01



U.S. Patent No. 8,418,425 & other patents pending

TM

Series | HW Hardware

 
1.

50
38

.1
0

 

 
1.

00
25

.4
0

 

5/
8-

11
 Ta

pp
ed

 H
ol

e

 
1.

50
38

.1
0

 

 
1.

00
25

.4
0

 

3/
8-

16
 Ta

pp
ed

 H
ol

e

 
1.

50
38

.1
0

 

 
1.

00
25

.4
0

 

1/
2-

13
 Ta

pp
ed

 H
ol

e

 
.5

0
12

.7
0

 

 
.1

3
3.

18
 X

 4
5.

0°

 
.5

0
12

.7
0

 

 
.1

3
3.

18
 X

 4
5.

0°

 
.5

0
12

.7
0

 

 
.1

3
3.

18
 X

 4
5.

0°

M
T-

HW
-IN

-0
15

0-
01

00
-0

05
0-

13
2-

01

M
T-

HW
-IN

-0
15

0-
01

00
-0

05
0-

12
8-

01

M
T-

HW
-IN

-0
15

0-
01

00
-0

05
0-

12
4-

01

DE
SC

RI
PT

IO
N:

RE
VI

SIO
N:

 V
1

PA
RT

 N
UM

BE
R:

M
T-

HW
-IN

-0
15

0-
01

00
-0

05
0-

XX
X-

01

IN
SE

RT
 N

UT
S

PR
EC

ISI
O

N 
LE

VE
L :

 M
ED

 - 
±.

06
  [

1.
59

]
BR

AC
KE

T [
 ] 

DI
M

EN
SIO

NS
 A

RE
 IN

 M
M

9/
10

/2
01

8

Product Number | MT-HW-IN-0150-0100-0050-000-XXX-01

162



U.S. Patent No. 8,418,425 & other patents pending

TR

EX

PL

JH

PA

HG

MR

AC

HW

TK

MH

FH

GL
Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable

3” Extrusion Blind Connector Assembly
Part Number | MT-HW-BC-03-03-AS

Components Included
Qty. 2 - MT-HW-BC-B-0308-002-132
Qty. 1 - MT-HW-BC-F-0308-003-132
Qty. 5 - MT-HW-SC-SHS-ALN-20-00-0108-132-0032

Standard Material A36 Low Carbon Steel
Standard Finish 10 - Zinc Clear

Available Finish(es) 10-12
Size 3.37" x 3.13” x 0.5” (85.7mm x 79.4mm x 12.70mm)

Weight 1.30lbs (0.59kg)
Hole Size 5/8”-11 Threaded

Recommended 
Hardware

N/A

Recommended Tools 6 Hex Key Wrench Cluster - MT-TK-HX-00-0-SAE
For More Info www.ModTruss.com



U.S. Patent No. 8,418,425 & other patents pending

TM

Series | HW Hardware

2

1

3

 
3.

13
79

.4
 

 
3.

37
85

.7
 

 
.5

0
12

.7
 

 
.5

0
12

.7
 

 
1.

50
38

.1
 

 
2.

50
63

.5
 

 
3.

87
98

.4
 

 
1.

00
25

.4
 

ITE
M

 N
O

.
PA

RT
 N

UM
BE

R
D

ES
C

RI
PT

IO
N

Q
TY

.

1
M

T-
HW

-B
C

-B
-0

30
8-

00
2-

13
2

EX
TR

US
IO

N
 5

/8
-1

1 
TH

RE
A

D
 

BL
IN

D
 C

O
N

N
EC

TO
R 

(2
) 

FE
M

A
LE

 (1
) M

A
LE

2

2
M

T-
HW

-B
C

-F
-0

30
8-

00
3-

13
2

EX
TR

US
IO

N
 5

/8
-1

1 
TH

RE
A

D
 B

LIN
D

 
C

O
N

N
EC

TO
R 

(3
) F

EM
A

LE
1

3
M

T-
HW

-S
C

-S
HS

-A
LN

-2
0-

00
-0

10
8-

13
2-

00
32

SO
C

KE
T H

EA
D

 S
ET

 S
C

RE
W

 C
UP

 
PO

IN
T 5

/8
-1

1 
X 

1/
2 

LG
5

DE
SC

RI
PT

IO
N:

RE
VI

SIO
N:

 N
R

PA
RT

 N
UM

BE
R:

M
T-

HW
-B

C
-0

3-
03

-A
S

3I
N.

 E
XT

RU
SIO

N 
BL

IN
D 

C
O

NN
EC

TO
R 

AS
SE

M
BL

Y

PR
EC

ISI
O

N 
LE

VE
L :

 M
ED

 - 
±.

06
  [

1.
59

]
BR

AC
KE

T [
 ] 

DI
M

EN
SIO

NS
 A

RE
 IN

 M
M

3/
8/

20
18

Product Number | MT-HW-BC-03-03-AS

164



U.S. Patent No. 8,418,425 & other patents pending

TR

EX

PL

JH

PA

HG

MR

AC

HW

TK

MH

FH

GL
Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable

5/8”-11 Swivel Hoist Ring (Female)
Part Number | MT-HW-NT-09-0109-128-0000-0000

Standard Material Steel
Standard Finish N/A

Available Finish(es) N/A
Size 5.38" x 3.5” (135.53mm x 88.9mm)

Weight 1.80lbs (0.82kg)
Hole Size 5/8”-11 Threaded

Recommended 
Hardware

Tapper Head Socket Cap 5/8”-11 Grade 8 Bolt, 2” Long

Recommended Tools Tool Kit 1
For More Info www.ModTruss.com



U.S. Patent No. 8,418,425 & other patents pending

TM

Series | HW Hardware

 88
.9

3.
50

 

 50
.8

2.
00

 

 38
.1

1.
50

 

47
.6

3
1.

88

 13
6.

53
5.

38
 

TH
RE

A
D

ED
 5

/8
-1

1 DE
SC

RI
PT

IO
N:

RE
VI

SIO
N:

 N
R

PA
RT

 N
UM

BE
R: M

T-
HW

-N
T-

09
-0

10
9-

12
8-

00
00

-0
00

0

5/
8-

11
 S

W
IV

EL
 H

O
IST

 R
IN

G
, 

FE
M

AL
EPR

EC
ISI

O
N 

LE
VE

L :
 M

ED
 - 

±.
06

  [
1.

59
]

BR
AC

KE
T [

 ] 
DI

M
EN

SIO
NS

 A
RE

 IN
 M

M

2/
6/

20
18

Product Number | MT-HW-NT-09-0109-128-0000-0000

166



U.S. Patent No. 8,418,425 & other patents pending

TR

EX

PL

JH

PA

HG

MR

AC

HW

TK

MH

FH

GL

5/8”-11 Swivel Hoist Ring (Male)
Part Number | MT-HW-BT-LHS-ALN-04-00-0109-128-0100

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable

Standard Material Steel
Standard Finish N/A

Available Finish(es) N/A
Size 6.38" x 3.5” (161.93mm x 88.9mm)

Weight 2.40lbs (1.08kg)
Hole Size N/A

Recommended 
Hardware

5/8”-11 Grade 8 Nylon Nut

Recommended Tools Tool Kit 1
For More Info www.ModTruss.com



U.S. Patent No. 8,418,425 & other patents pending

TM

Series | HW Hardware

 88
.9

3.
50

 

 50
.8

2.
00

 

 55
.5

2.
19

 

47
.6

3
1.

88

 25
.4

1.
00

 

 16
1.

93
6.

38
 

5/
8-

11
 TH

RE
AD DE

SC
RI

PT
IO

N:

RE
VI

SIO
N:

 N
R

PA
RT

 N
UM

BE
R:

M
T-H

W
-B

T-L
HS

-A
LN

-0
4-

00
-0

10
9-

12
8-

01
00

5/
8-

11
 S

W
IV

EL
 H

O
IST

 R
IN

G
, M

AL
E

PR
EC

ISI
O

N 
LE

VE
L :

 M
ED

 - 
±.

06
  [

1.
59

]
BR

AC
KE

T [
 ] 

DI
M

EN
SIO

NS
 A

RE
 IN

 M
M

2/
6/

20
18

Product Number | MT-HW-BT-LHS-ALN-04-00-0109-128-0100

168



U.S. Patent No. 8,418,425 & other patents pending

TR

EX

PL

JH

PA

HG

MR

AC

HW

TK

MH

FH

GL

3/4”-10 Swivel Hoist Ring (Male)
Part Number | MT-HW-BT-LHS-ALN-06-00-0109-134-0100

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable

Standard Material Steel
Standard Finish N/A

Available Finish(es) N/A
Size 6.38" x 3.5” (161.93mm x 88.9mm)

Weight 2.50lbs (1.13kg)
Hole Size N/A

Recommended 
Hardware

3/4”-10 Grade 8 Nylon Nut

Recommended Tools Tool Kit 1
For More Info www.ModTruss.com



U.S. Patent No. 8,418,425 & other patents pending

TM

Series | HW Hardware

 
88

.9
3.

50
 

 
50

.8
2.

00
 

 
58

.8
2.

32
 

47
.6

3
1.

88

 
25

.4
1.

00
 

 
16

1.
93

6.
38

 

3/
4-

10
 TH

RE
A

D DE
SC

RI
PT

IO
N:

RE
VI

SIO
N:

 N
R

PA
RT

 N
UM

BE
R:

M
T-

HW
-B

T-
LH

S-
AL

N-
06

-0
0-

01
09

-1
34

-0
10

0

3/
4-

10
 S

W
IV

EL
 H

O
IST

 R
IN

G
, M

AL
E

PR
EC

ISI
O

N 
LE

VE
L :

 M
ED

 - 
±.

06
  [

1.
59

]
BR

AC
KE

T [
 ] 

DI
M

EN
SIO

NS
 A

RE
 IN

 M
M

2/
6/

20
18

Product Number | MT-HW-BT-LHS-ALN-06-00-0109-134-0100

170



U.S. Patent No. 8,418,425 & other patents pending

TR

EX

PL

JH

PA

HG

MR

AC

HW

TK

MH

FH

GL
Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable

Mag Mount 70
Part Number | MT-HW-MM-70 

Size | 94mm x 34mm x 17mm 

Standard Material Neodymium
Standard Finish N/A

Available Finish(es) N/A
Size N/A

Weight N/A
Hole Size M6-1 Thread

Recommended 
Hardware

N/A

Recommended Tools N/A
For More Info www.ModTruss.com

Cable Control Kit
Part Number | MT-HW-MM-070-0345-0121-0043



Mag Mount 1500
Part Number | MT-HW-MM-1500-N

Material  |  Neodynium Magnet and Steel

Benefits
-1,500lbs Pull Force
- Compatible with ModTruss Bolt Hole Pattern
- Semi Permanent

- Non-penetrating
- Non-destructive
- Fast and Efficient Without Having to Weld

For More Info  |  Contact ModTruss Inc. at info@ModTruss.com or Call (844) 663.8787

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable

U.S. Patent No. 8,418,425 & other patents pending

TM
172



U.S. Patent No. 8,418,425 & other patents pending

TR

EX

PL

JH

PA

HG

MR

AC

HW

TK

MH

FH

GL

Part Number | MT-HW-MM-1500-W

Mag Mount 1500W

Material  |  Neodynium Magnet and Steel

Benefits
-1,500lbs Pull Force
- Compatible with ModTruss Bolt Hole Pattern
- Semi Permanent

- Non-penetrating
- Non-destructive
- Fast and Efficient Without Having to Weld

For More Info  |  Contact ModTruss Inc. at info@ModTruss.com or Call (844) 663.8787

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable



Mag Mount 3000
Part Number | MT-HW-MM-3000-W

Material  |  Neodynium Magnet and Steel

Benefits
- 3,000lbs Pull Force
- Compatible with ModTruss Bolt Hole Pattern
- Semi Permanent

- Non-penetrating
- Non-destructive
- Fast and Efficient Without Having to Weld

For More Info  |  Contact ModTruss Inc. at info@ModTruss.com or Call (844) 663.8787

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable

U.S. Patent No. 8,418,425 & other patents pending

TM
174



TK
TM

TK | TOOLS

TOOLS

175



TK

176



U.S. Patent No. 8,418,425 & other patents pending

TR

EX

PL

JH

PA

HG

MR

AC

HW

TK

MH

FH

GL

ModTruss Tool Kit - 1 (SAE - Standard)
Part Number | MT-TK-01-SAE

Additional tools recommended per product

ModTruss Tool Kit-1 Includes:
1 - ModTruss 12” Work Bag                                             MT-TK-WB-12-07-08
1 - 15/16” Combination Wrench (Halved)                      MT-TK-CW-10-0-SAE
1 - 15/16” Spud Wrench                                                  MT-TK-SW-10-0-SAE

1 - 1-1/6” Broad-Head Bull Pin                                       MT-TK-BP-00-0-UNI
1 - 1/2” Drive Quick Release Oval Head Ratchet            MT-TK-RT-00-2-UNI
1 - 1/2” Drive Extension                                                   MT-TK-EX-00-2-UNI
1 - 15/16” Standard Socket, 12-Point (1/2” Drive)         MT-TK-SS-10-2-SAE 
1 - 15/16” Deep Socket, 12-Point (1/2” Drive)               MT-TK-DS-10-2-SAE
1 - 1/2” Drive Universal Joint                                           MT-TK-UJ-00-2-UNI

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable



U.S. Patent No. 8,418,425 & other patents pending

TM

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable

Series | TK Tools

15/16” Combination Wrench (Halved)
MT-TK-CW-10-0-SAE 

Material: Heat treated chrome vanadium steel
Finish: Chrome plated mirror polish
Size: 15/16” (2.5” x 15” x 1”) 

ModTruss 12” Work Bag
MT-TK-WB-12-07-08
Material: Durable fabric and heavy duty webbing 
handles with leather reinforcements
Color: Brown Duck
Size: 12” x 7” x 8” 

15/16” Spud Wrench
MT-TK-SW-10-0-SAE
Material: Heat treated steel
Finish: Black-Oxide
Size: Bolt Size: 5/8”
        Top Diameter: 2-1/4”

        Point Diameter: 7/8” to 3/16”
        Length: 14-3/4”

1-1/16” Broad-Head Bull Pin
MT-TK-BP-00-0-UNI
Material: Heat treated steel
Finish: Black-Oxide
Size: Top Diameter: 1-1/16”
        Point Diameter: 1/4”
        Length: 10”

178



U.S. Patent No. 8,418,425 & other patents pending

TR

EX

PL

JH

PA

HG

MR

AC

HW

TK

MH

FH

GL

15/16” Deep Socket, 12-Point (1/2” Drive)
MT-TK-DS-10-2-SAE
Material: Heat treated chrome vanadium steel
Finish: Chrome plated
Size: 15/16” (1.75” x 5.5” x 1.25”)

15/16” Standard Socket, 12-Point
(1/2” Drive)
MT-TK-SS-10-2-SAE
Material:  Heat treated chrome vanadium steel
Finish: Chrome plated
Size: 1/2” (1.75” x 1.5” x 1.25”)

1/2” Drive Extension
MT-TK-EX-00-2-UNI
Material: Heat treated chrome vanadium steel
Finish: Chrome plated
Size: 10” Long (1.75” x 12.25” x .75”)

1/2” Drive Quick Release Oval Head Ratchet
MT-TK-RT-00-2-UNI
Material: Heat treated chrome vanadium steel
Finish: Chrome plated mirror polish
Size: Handle 7.5” Long (2.3” x 11.5” x 1.5”)

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable



U.S. Patent No. 8,418,425 & other patents pending

TM

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable

Series | TK Tools

6 Hex Key Wrench Cluster
MT-TK-HX-00-0-SAE

Material: Alloy Steel and Plastic Handle
Hex Key Sizes Included: 
5/32” | 3/16” | 7/32” | 1/4” | 5/16” | 3/8”
Overall Size: 5.5” x 1.75” x 1.5”

3/4” Combination Wrench
MT-TK-CW-07-0-SAE

Material: Heat treated chrome vanadium steel
Finish: Chrome plated mirror polish
Size: 3/4” (9.5” x 1.5” x .5”) 

1/2” Drive Universal Joint
MT-TK-UJ-00-2-UNI
Material: Chrome vanadium alloy steel
Finish: Nickel-chrome plated
Size: 1/2” (5.25” x 1.75” x 1”)

180



MH
TM

MH | MATERIAL HANDLING
181



MATERIAL HANDLING

12” Stacker Block - Double
MT-MH-SB-12-D

12” Dolly with Stacker Blocks
MT-MH-TD-24-24

12” Stacker Block - Single
MT-MH-SB-12-S

MH

182



U.S. Patent No. 8,418,425 & other patents pending

TR

EX

PL

JH

PA

HG

MR

AC

HW

TK

MH

FH

GL

12” TR Stacker Block Series

MT-MH-SB-12-D

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable

MT-MH-SB-12-S

12” Single Stacker Block is for bottom stacking of ModTruss

Standard Material Wood
Standard Finish 02 - No Finish

Available Finish(es) 70-72, 80-86
Hole Size N/A

Recommended 
Hardware

N/A

Recommended Tools N/A
For More Info www.ModTruss.com

Part #
Description

Size Weight

MT-MH-SB-12-D
12” TR ModTruss Stacker Block - Double

23.75” x 3.5” x 4.5”
(603.25mm x 88.95mm x 114.3mm)

3.80lbs (1.72kg)

MT-MH-SB-12-S
12” TR ModTruss Stacker Block - Single

23.75” x 3.5” x 3”
(603.25mm x 88.95mm x 76.2mm)

2.9lbs (1.32kg)



U.S. Patent No. 8,418,425 & other patents pending

TM

Series | MH Material Handling

23
.7

5
60

3.
25

2.
88

73
.0

3
6.

25
15

8.
75

5.
50

13
9.

70

3.
00

76
.2

0

1.
50

38
.1

0

3.
50

88
.9

0

23
.7

5
60

3.
25

6.
25

15
8.

75
2.

88
73

.0
3

5.
50

13
9.

70

1.
50

38
.1

0

4.
50

11
4.

30

3.
50

88
.9

0

M
T-
M
H
-S
B-
12
-S

M
T-
M
H
-S
B-
12
-D

DE
SC

RI
PT

IO
N:

RE
VI

SIO
N:

 V
1

PA
RT

 N
UM

BE
R:

M
T-
M
H

-S
B-

12
-X

12
" T

RU
SS

 S
TA

C
KE

R 
BL

O
C

K

PR
EC

ISI
O

N 
LE

VE
L :

 M
ED

 - 
±.

06
  [

1.
59

]
BR

AC
KE

T [
 ] 

D
IM

EN
SIO

NS
 A

RE
 IN

 M
M

9/
5/

20
18

Product Number | MT-MH-SB-12-X

184



U.S. Patent No. 8,418,425 & other patents pending

TR

EX

PL

JH

PA

HG

MR

AC

HW

TK

MH

FH

GL

12” MT Series Dolly with Stacker Blocks
Part Number | MT-MH-TD-24-24

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable

Standard Material Wood and A36 Low Carbon Steel
Standard Finish Wood 02 - No Finish | A36 Low Carbon Steel 20 - Black

Available Finish(es) Steel | 20-33
Size 24” x 24” x 11.5” (254mm x 254mm x 292.1mm)

Weight N/A
Hole Size N/A

Recommended 
Hardware

N/A

Recommended Tools Tool Kit 1
For More Info www.ModTruss.com



U.S. Patent No. 8,418,425 & other patents pending

TM

Series | MH Material Handling

TH
E 

12
" T

RU
SS

 S
ER

IE
S 

C
LO

VE
RS

 W
ILL

 F
IT 

O
N

TH
E 

ST
A

C
KE

R 
BL

O
C

KS

 
60

9.
6

24
.0

0
 

 
60

9.
6

24
.0

0
 

12
7 5.
00

 
29

8.
45

11
.7

5
 

 
25

4
10

.0
0 

 
30

4.
8

12
.0

0
 

DE
SC

RI
PT

IO
N:

RE
VI

SIO
N:

 N
R

PA
RT

 N
UM

BE
R:

M
T-

M
H-

TD
-2

4-
24

12
" T

RU
SS

 S
ER

IE
S 

DO
LL

Y 
W

ITH
 

ST
AC

KE
R 

BL
O

C
KS

PR
EC

ISI
O

N 
LE

VE
L :

 M
ED

 - 
±.

06
  [

1.
59

]
BR

AC
KE

T [
 ] 

DI
M

EN
SIO

NS
 A

RE
 IN

 M
M

2/
6/

20
18

TM

Product Number | MT-MH-TD-24-24

186



U.S. Patent No. 8,418,425 & other patents pending

TR

EX

PL

JH

PA

HG

MR

AC

HW

TK

MH

FH

GL

Non-coated

Zinc

01 - Brush Finish
Outside Only.
Aluminum Products only

10 - Zinc Clear

02 - No Finish
Mill Scale. Bare Metal

11 - Zinc Gold/Yellow

03 - Tumbled 
& De-burred
Bare Material. No Protection

12 - Zinc Black

05 - Sand or Bead Blasted
Bare metal. No Protection

04 - Acid Washed
Dull Etched. No Protection

E-Coat

60 - E-Coat Black

AVAILABLE FINISHES

25 - Silver 26 - Gloss Red

31 - Gloss Blue 32 - Neon Green

20 - Black

27 - Gloss Orange

22 - Gloss Black21 - Flat Black

28 - Gloss Yellow

24 - Fine Texture Flat Black

33 - Fine Texture Flat Gray

29 - Gloss White

23 - High Gloss Black

30 - Gloss Green

Powder Coating

Anodized

50 - Anodized Clear 51 - Anodized Black



TM

U.S. Patent No. 8,418,425 & other patents pending

Primer

Paint - Wet Applied

70 - Primer Grey 71 - Primer Black 72 - Primer Red

85 - Spray Gloss Red 86 - Spray Gloss Blue

80 - Spray Flat Black

95 - Enamel Satin Black

82 - Spray Gloss Black81 - Spray Semi 
Gloss Black

96 - Enamel Gloss Yellow

84 - Spray Gloss Yellow83 - Spray Gloss Gray

AVAILABLE FINISHES

Standard Material | Unless otherwise specified, products will be made from the material listed.

Standard Finishes | Unless otherwise specified, products will be made from standard finish listed.                                 
The finish may or may not include a protective coating. 

Available Finishes | Alternate finishes or coatings that the product can be ordered in.

Size | Typically referring to the outer dimensions of a product. First listed in imperial inches and second (within 
parentheses) in metric millimeters. Commonly referenced in height, width and length order. 

Weight | The weight of actual product on a certified scale. Please allow fluctuation of +/- 5% weight.

Hole Size | Typical fastener hole size for clearance fit of 5/8” bolt or M16 bolt.  

Recommended Hardware | Hardware listed is used in common configurations and typical engineering requirements. 

Recommended Tools | Associated tools needed for ease of assembly with recommended hardware. 

Associated Products | Most common ModTruss products utilized with this component. 

GLOSSARY

188



U.S. Patent No. 8,418,425 & other patents pending

TR

EX

PL

JH

PA

HG

MR

AC

HW

TK

MH

FH

GL

Compatible | The presence of this icon indicates that the ModTruss product is compatible in 
one foot increments with 12” entertainment tubular truss. The ModTruss hole pattern aligns with 
Entertainment industry 12” plated tubular truss end plates that have a 6 3/4” square pattern for a 
5/8” bolt.                               

*ModTruss can only certify the load value of the ModTruss product line.

Customizable | The presence of this icon indicates that this product can be altered to customer 
specifications.

• Additional lead times may apply

• Existing and published engineering data may not apply 

• Engineering fees may be assessed

Electrical Hazard | The presence of this icon indicates that there are non-conductive barriers 
contained within the product that may void a proper grounding plan.

Flammability | The presence of this icon indicates that the product is combustible or loses 
structural properties in high heat conditions. (Examples: wood, plastics and UHMW)

In Stock | The presence of this icon indicates that this product is typically available and ready to 
ship or available via will call.

Made To Order | The presence of this icon indicates that this product is manufactured upon order. 

Please anticipate a longer lead time.

 

Reusable | The presence of this icon indicates when this product is utilized properly, has extreme 
longevity and reuse. Absence of this icon typically represents products that are either cut to length, 
welded or physically altered per use - these conditions prevent predictable wear and may effect 
capacity.

Serialized & Traceable | The presence of this icon indicates that ModTruss considers it a traceable 
item. This is to include documentation of manufacturing process, material traceability, coating 
process and unique serialization.*This report can be supplied at time of purchase for an additional 
fee.

GLOSSARY



U.S. Patent No. 8,418,425 & other patents pending

Product Guarantee
ModTruss Inc. guarantees its products will be free from workmanship defects at time of purchase. All products are welded by 
certified welders. Products should be inspected by customer upon receipt. Any defects should be immediately reported to ModTruss 
Inc. within 24 hour period and product should be removed from service. The product will be guaranteed for a period of one year 
from date of shipment, to perform according to the product’s published specifications providing the purchaser follows ModTruss 
guidelines for use. 

ModTruss Inc. is not responsible for:
•	 Damage to the product during transit
•	 Damage to the product where load parameters were exceeded
•	 Damage to the product where guidelines for use, handling, or storage were not followed
•	 Normal wear and tear of product
•	 Any expenses or liability that are a result of removing products from service

ModTruss Inc. can not be held responsible or liable for damage, loss, or delay in transit.

ModTruss products are NOT to be altered in any way.
This includes but is not limited to:
•	 Cutting 
•	 Drilling of additional holes
•	 Welding (of additional items to; or to self repair)
•	 Painting or other means of permanent coverings
All alterations immediately void any guarantee, engineering and warranty.

ModTruss Inc. | POLICIES

Item # Description Inspect For Remove From Service If

1 Welds • Cracked welds
• Missing welds
• Separated welds

• Any cracked weld
• Any separated weld
• Any missing welds

2 Holes/Clover • Enlarged holes
• Deformed holes
• Cracks around holes
• Cracks around clover 
   holes

• Bolt holes exceed 13/16” in DIA
• Cracks around holes exceed 1/8”
• Any viable crack between a bolt hole and clover or between two bolt holes
• Holes are deformed outward or inward 1/8” from side plate or end plate

3 ModTruss 

General
• Bowing
• Twisting
• Warping

• If deflection in truss while unloaded is ›1/8” in any axis
• If ModTruss is twisted ›5°
• If more than 1/16” difference between two diagonal measurements in a 10’ span

4 ModTruss 
Side & End Plates

• Gouges
• Deformation
• Damage

• Gouges greater than the 6” in length that are 1/4 of the material thickness deep
• Gouges of any length that are greater than 1/4 of the material thickness deep
• All punctures
• Bent, crushed, deformed End or Side Plates

All products should be inspected prior to each 
use. Structures should be inspected annually. 
Documentation specific to the serial number 
should be kept on file for the duration of the 

products lifespan.

Mark all products
“Removed from Service”

as such

INSPECTION INFORMATION
For your safety and the safety of others

190



U.S. Patent No. 8,418,425 & other patents pending

GENERAL USE
Handling & Storage

The entire ModTruss product line is designed for many years of dependable use if handled and stored properly and used 
within its load parameters. 

DO NOT:
• DROP truss as this can cause deformation of truss

• DRAG truss across one another as this will cause gouges, scratches, shave off aluminum/steel over time

• DRILL additional holes into truss or alter in any way

• OVERLOAD truss or accessories

When storing truss horizontally, it is advisable to stack truss with spacers between layers (see MT Material Handling).

Assembly of truss and accessories should be done by competent personnel who are familiar with the use and 
assembly of truss structures. 

Be sure to have enough labor/proper material handling equipment when loading and unloading truss and 
accessories to avoid injury.

Environmental Hazards

Additional engineering consideration for the following situations will need to be conducted on a case-by-case basis.

• Temperature ranges above 105 degrees Fahrenheit and below 32 degrees Fahrenheit

• High seismic zones

• Live load conditions

• Corrosive environments

• Proximal distance to RF emitter

• Moving or mobile structures

De-gloving

Holes and clovers may contain sharp edges. Extreme caution should be taken. Holes should be plugged or covered in any 
environment were the general public and especially children could be exposed to this risk. 

Specific engineering calculations need to be completed for each individual structure that the ModTruss line is part of to demonstrate load 
capacities are not being exceeded. 

Engineering drawings shall include loading conditions, dimensions, components, connections, fastener types and specifications, material 
types and sub-assemblies. 

The geographic location and local building codes may have additional criteria that may need to be considered and represented in 
engineering analysis and documentation. 

The following instructions are the guidelines for general connections to achieve the load ratings for both the 12” and 6” ModTruss series 
and the supporting ModTruss products.

LOAD TABLES ARE BASED ON END-TO-END, HORIZONTAL CONNECTIONS OF TRUSS ONLY

191



THANK YOU

ModTruss | Image Credits
We would like to sincerely thank all of the great ModTruss users that provide 
us with outstanding images of their projects.   
Absen LED
Ahern
Barron Event Planning
Black Dog Jibs
BNW Rigging
C&C Studio Services
CRS International
ENSA North America
Event Group Hawaii Inc

Filmwerks International
Grand Stage/Chicago Spotlight
Image Engineering 
Invent
John Murray Productions
Key Rigging 
KNE Staging
LEDgendary
Performance Rigging Solutions

Productions Unlimited
Showman Fabricators
Sosonic
Spartan Race
The Void
Triple E Ltd.
Westphal

ORDERING INFORMATION
To Order:
Call | (844) 663.8787
Email | orders@ModTruss.com 
Or Contact Your Local Authorized ModTruss Dealer

Questions, Concerns or More Informaion:
Call | (844) 663.8787
Email | info@ModTruss.com
Visit | www.ModTruss.com

192





33 Sheboygan St.    |    Fond du Lac, WI • 54935 • USA    |    844.663.8787   |   www.ModTruss.com

TECHNICAL CATALOG 
2023

CONTACT YOUR LOCAL DEALER
ModCon AB

www.mod-con.se
+46705209909




